
P
A

R
T

S
,

,M
A

N
U

A
L

F
O

R

H
A

G
lE

M
O

D
E

L
8200

D
E

T
;A

S
S

E
LE

R
S

H
A

G
lE

M
A

N
U

F
A

C
T

U
R

IN
G

.C
O

M
P

A
N

Y
.

(

B
O

X
273

C
LA

R
IO

N
,

IO
W

A
50525

C
O

V
E

R
S

M
A

C
H

IN
E

S
E

R
IA

L
N

U
M

B
E

R
S

:

I
.

A

~
,

7-89
493117

-
1

-

.(515)532-2861

068698001
T

H
R

U
068698100



I
II!.L

D
E
T
A
S
S
E
L
E
R

I
D
E
N
T
I
F
I
C
A
T
I
O
N

E
a
c
h

H
a
g
i
e

d
e
t
a
s
s
e
l
e
r

i
s

i
d
e
n
t
i
f
i
e
d

b
y

m
e
a
n
s

o
f

a
f
r
a
m
e

s
e
r
i
a
l

n
u
m
b
e
r
.

T
h
i
s

s
e
r
i
a
l

n
u
m
b
e
r

d
e
n
o
t
e
s

It
h
e

m
o
d
e
l
,

y
e
a
r

i
n

w
h
i
c
h

i
t

w
a
s

b
u
i
l
t
,

a
n
d

t
h
e

n
u
m
b
e
r

o
f

t
h
e
d
e
t
a
s
s
e
l
e
r
.

A
s

f
o
r

f
u
r
t
h
e
r

i
d
e
n
t
i
f
i
c
a
t
i
o
n
,

t
h
e

e
n
g
i
n
e

h
a
s

a

s
e
r
i
a
l

n
u
m
b
e
r
,

t
h
e

h
y
d
r
o
s
t
a
t
i
c

p
u
m
p

h
a
s

a
s
e
r
i
a
l

n
u
m
b
e
r
,

t
h
e

w
h
e
e
l

m
o
t
o
r
s

h
a
v
e

i
d
e
n
t
i
f
i
c
a
t
i
o
n

t
a
g
s
,

a
n
d

t
h
e

p
l
a
n
e
t
a
r
y

h
u
b
s

h
a
v
e

i
d
e
n
t
i
f
i
c
a
,
t
i
o
n

p
l
a
t
e
,
s
t
h
a
t

d
e
s
c
r
i
b
e

t
h
e

t
y
p
e

o
f

m
o
u
n
t

a
n
d

g
e
a
r

r
a
t
i
o
.

T
o

i
n
s
u
r
e

p
r
o
m
p
t
,

e
f
f
i
c
i
e
n
t

s
e
r
v
i
c
e

w
h
e
n

o
r
d
e
r
i
n
g

p
a
r
t
s

o
r

,
r
e
q
u
e
s
t
i
n
g
,
s
e
r
v
i
c
e

r
e
p
a
t
r
s

f
r
o
m

H
a
g
i
e

M
a
n
u
f
a
c
t
u
r
i
n
g

C
o
m
p
a
n
y
,

r
e
c
o
r
d

t
h
e

s
e
r
i
a
l

a
n
d

i
d
e
n
t
i
f
i
c
a
t
i
o
n

n
u
m
b
e
r
s

i
n

t
h
e

s
p
a
c
e

p
r
o
v
i
d
e
d

b
e
l
o
w
.

N
o
t
e
:

R
e
f
e
r
e
n
c
e

t
o

l
e
f
t

h
a
n
d

a
n
d

r
i
g
h
t

h
a
n
d
,
u
s
e
~

t
h
r
o
u
g
h
o
u
t

t
h
i
s

m
a
n
u
a
l

r
e
f
e
r
s

t
o

t
h
e
'
p
o
s
i
t
i
o
n

w
h
e
n

s
e
a
t
e
d

i
n

t
h
e

o
p
e
r
a
t
o
r
'
s

s
e
a
t

f
a
c
i
n
g

f
o
r
w
a
r
d
.

D
E
T
A
S
S
E
L
E
R

S
E
R
I
A
L

N
U
M
B
E
R

I

E
N
G
I
N
E

S
E
R
I
A
L

N
U
M
B
E
R

-
2
-

---
.



T
A
B
L
E

O
F

C
O
N
T
E
N
T
S

E
N
G
I
N
E
,
A
S
S
E
M
B
L
y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
-
7

R
A
D
I
A
T
O
R

'
A
N
D

O
I
L

C
O
O
L
E
R

A
S
S
E
M
B
L
Y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

8

E
X
H
A
U
S
T

P
I
P
E

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

9

F
L
O
W

D
I
V
I
D
E
R

A
N
D

S
O
L
E
N
O
I
D

V
A
L
V
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

I
0
-
l
l

L
E
G

A
S
S
E
M
B
L
Y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
~
1
5

T
I
R
E

A
S
S
E
M
B
L
Y

A
N
D

S
T
A
L
K

G
U
I
D
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

~
.
1
6
-
1
7

F
U
E
L

A
N
D

O
I
L

T
A
N
K
S
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
8
-
1
9

S
T
E
E
R
I
N
G

C
Y
L
I
N
D
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
0

T
I
E

R
O
D

A
S
S
E
M
B
L
Y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
1

O
P
E
R
A
T
O
R

S
T
A
T
I
O
N
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
2
-
2
6

B
A
T
T
E
R
y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
7

M
I
S
C
E
L
L
A
N
E
O
U
S

F
R
A
M
E

C
O
M
P
O
N
E
N
T
S

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
8

S
H
E
E
T

M
E
T
A
L

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
9

A
I
R

C
L
E
A
N
E
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
0

R
E
T
U
R
N

M
A
N
I
F
O
L
D

F
I
L
T
E
R

A
S
S
E
M
B
L
Y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
1

S
U
N
D
S
T
R
A
N
D

A
N
D

C
R
O
S
S
P
U
M
P

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
2

M
O
T
O
R

C
O
N
T
R
O
L

V
A
L
V
E

A
S
S
E
M
B
L
Y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
3

T
H
R
E
E
-
S
P
O
O
L

V
A
L
V
E

A
S
S
E
M
B
L
Y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
4

T
A
S
S
E
L
T
R
O
L

C
O
V
E
~

A
S
S
E
M
B
L
Y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
5

E
L
E
C
T
R
O
H
Y
D
R
A
U
L
I
C

V
A
L
V
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
6
~
3
7

O
U
T
R
I
G
G
E
R

A
N
D

L
I
F
T

A
S
S
E
M
B
L
Y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
8
~
4
1

R
O
L
L
E
R

A
N
D

T
I
R
E

P
U
L
L
E
R

A
S
S
E
M
B
L
Y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
2
-
4
3

C
U
T
T
E
R

A
N
D

M
A
L
E

C
O
R
N

A
S
S
E
M
B
L
Y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
4
-
4
5

P
E
R
S
O
N
N
E
L

C
A
R
R
I
E
R

A
S
S
E
M
B
L
Y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
6
-
4
7

T
A
S
S
E
L
T
R
O
L

C
O
M
P
O
N
E
N
T
S

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
8
-
4
9

P
L
A
N
E
T
A
R
Y

G
E
A
R

A
S
S
E
M
B
L
Y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

5
0
-
5
2

D
E
C
A
L

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

5
3
-
5
6

E
L
E
C
T
R
I
C
A
L

S
C
H
E
M
A
T
I
C

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

5
7
-
5
9

H
Y
D
R
A
U
L
I
C

S
C
H
E
M
A
T
I
C

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

6
0
-
9
5

A
B
B
R
E
V
I
A
T
I
O
N
S

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

9
6

f
N
D
E
X

•
•
•
•

~
•
•
•
•
•
•

~
•
•
~
•
•
•
•
•
•
•
•
•

~
•
•
:
•
•
•
•
•
•

~
•
•
•
•
•
•
•
•
•

\
•
•
•
•
9
7
-
1
0
d

3
-



CHRYSLER Ef,GINE ASSEMBLY

DEI.

OTY PART NO. DESCRIPTION

I

13 I 4728 CHRY 318 X-8 STUB ENGINE

2

1147000 BELT GATES 2490 TRUFLEX

3

1141022 SHEAVE ALT MOTOROLA

4

1147001 BELT GATES 2520 TRUFLEX

5

1311039 FAN SPACER

6

3200015 SPACER 3/4 00 X 11 GA X 3/8

7

1314303 EXHAUST MANIF HEAT SHIELD

8

1314309 ALT ADJ ARM

9

1314310 ALT MT

10

1314832 RADIATOR HOSE !. 75 X 19

!1

I314437 TEMP SENOR 2800 1/8NPT FOR GA

12

I291499 VQLTAGE REG FOR 72 AMP ALT
13

I314825 CARTER CARBURETOR

14

I319614 SHORT ADPTR FOR 19 IN FAN

15

1341348 LH FRT MTR MT WLD

16

1341351 RH FRT MTR MT WLD

I
172341353 REAR MTR MT WLD

18

1311038 SPACER. FAN SHEAVE

~
191900132 3/8 UNC X I 3/4 HEX BOLT

'20

2520067 HOSE CLAMP NO 28 PLATEDI 212520085 HOSE CLAMP NO 24 PLATED

22

I601151 HOSE. 5/8 X 12 HEATER

23

2900142 3/8 UNC X 5 HEX BOLT

24

4900198 7/16 UNC X 1 3/4 HEX BOLT

25

3900283 1/2 UNC X 2 1/4 HEX BOLT

26

4900265 1/2,UNC X I 1/2 HEX BOLT

27

7900064 5/16 UNC X 3/4 HEX BOLT

28

7914008 1/2 UNC STOVER NUT

29

1920001 5/16 FLAT WASHERSAE PLT

30

6920004 1/2 FLAT WASHER SAE

31

11920501LOCK WASH 5/16

32

1291487 72 AMP ALT WI REGULATOR

33

1314417 LWR RAD HOSE CHRY 318

34

6520120 HOSE CLAMP NO 4 MINIATURE PLT

35

2520070 HOSE CLAMP NO 8 PLATED

36

4900086 5/16 UNC X 2 1/4 HEX BOLT

37

1601263 FUEL LINE HOSE 144 IN

38

1314824 3GR CRANK PULLEY

39

1314388 FUEL. LINE WI FIL T CHRY 318

40

1314435 19 IN PLR FAN W/2.25 PITCH

41

1314428 CABLE HEAT SHLD WLD CHRY 318

42

4911f006 7/16 UNC STOVER NUT

43

1319260 PH8 FRAM FIL TOIL



U1

11

1

[~r

(\

12

I

DET.

1
2
3
II
5
6
7

8
9

10
11
12
13
111

15
16
17
18
19
20
21
22
23
211

25
26
27
28
29
30
31
32
33
311

35
36
37
38
39
110

II 1
112

113

1111

lIS

116

117

118

119

c.



HYDRAULIC MANIFOLD ASSEMBLY

DEL

OTY PART NO.DESCRIPTION

1

1606849 LARGE HYDRAULIC MANIFOLD MT

2

1618529 1 1I16MJ-45-1 1I16FJ SI.JIV LBO

3

1618313 1 1I16MJIC-45-1 1I16MOR LBO

4

1615612 8200 HYD MANIF BLOCK SUND

5

2920003 7116 FLATWASHER SAE

6

1615568 HYD TUBE SUND PUMP RH

7

1615569 HYD TUBE SUND PUMP LH

8

2618178 1 5116MJIC -90-1 5/16MOR LBO

9

1618248 1 1I16MJIC-90-1 1I16MOR LBO

10

2920501 LOCK WASH 5/16

11

2900065 5/16 UNC X 1 HEX BOLT

12

2900196 7/16 UNC X 1 1/4 HEX BOLT

13

1618576 1 5/16MJIC-90-1 1/16MOR LBO

14

1610186 1 1I16MOR PLUG.
15

2618309 7/8MJIC-l 1I16MOR ADPTR



(

SUNDSTRAND PUMP ASSEMBLY

DEL

CTY PART NO.DESCRIPTION

1

1606882 SUNDSTRAND 23 SERIES PUMP B-M
2

8472243 CAP SCREW 3/8 UNCXl 3/4 ALLEN

3

1606848 PUMP CONTROL LEVER EXT

4

2920510 NO. 10 LOCK WASHER

5

8618167 LOCK WASHER FOR 4-BOL T FLG

6

2618176 1 5/16FOR 4-BOL T FLANGE. LESS

7

2870219 BUNA ORING 1 5/16 X 1 9/16

8

1505200 BLK PIPE ST EL 90DEG INPT

9

1606888 CHG PUMP FOR 606882 B-MT 1.06

10

1618090 1 5/16MOR-IFNPT ADPTR
11

1618540 7/8MOR PLUG

12

2618178 1 5/16MJIC-90-1 5116MOR LBO

13

1611128 718MJIC-90-718MOR LBO
14

1903893 NO.I0-32 X I SLOTTED MACH SCR

IS

I914027 NO. 10-32 STOVER NUT

16

I714560 I HOSE BARB-IMNPT

17

2900003 114 UNC X 1 HEX BOLT

18

2914000 114 UNC STOVER NUT

19

2900266 112 UNC X I 3/4 "HEX BOLT

20

2900267 1/2 UNC X 2 HEX BOLT

21

2914008 112 UNC STOVER NUT

"22

4920004 1/2 FLAT WASHER SAE

23

I606889 ,GSKT 1.06 B-MT CHG TO MAIN

24

I473921 BALL JOINT NO 10-32 THD

25

2483041 112 REGULAR FLAT WASH PLT

26

I505110 BLK PIPE ST EL 45DEG INPT

27

2910027 NO.I0 UNF HEX NUT

28

I606870 O-RING FOR 606865 SUND B-MT

(



RADIATOR AND OIL COOLER ASSEMBLY

DEI.

aTY PART NO.DESCRIPTION

1

1314477 RAD-OIL COOLER MT WLD

2

1314440 RAD SCHROUDCHRY

3

1314791 RADIATOR LONG MFG

4

1319257 RAD CAP 7LB X 3/4FREE BRTH SM

5

1319559 RADIATOR DRAIN COCK

6

10470086NUTSERT. 1I4UNC .020- .100GR
7

1504702 CLOSE NIPPLE 3/4NPT

8

1504955 BLK PIPE TEE 3/4NPT

- 9

2505200 BLK PIPE ST EL 90DEG INPT

10

1505213 RED BUSH 1 TO 3/4 BLK MAL

CD

111610305 3/4MJIC-90-3/4MNPT LBO

12

1618059 718MJIC-3/4MNPT ADPTR

13

1618088 OIL COOLER BLISSFIELD

14

1716000 3/4 HOSE BARB-90-lMNPT

15

2659579 FOAM. 2IN WIDE X 40IN LONG
16

6900064 5/16 UNC X 3/4 HEX BOLT

17

109001283/8 UNC X 3/4 HEX BOLT

18

6914002 5/16 UNC STOVER NUT

19

129200015/16 FLAT WASHERSAE PLT

20

10920002WASHFLAT 3/8 SAE

21

2314490 SIDE SCRN WLD INTAKE

22

1314499 TOP SCRN WLD INTAKE

23

1520118 CUSHION HOSE CLAMP 1/2 IN

24

2470118 1/4 UNC X 3/4 FLANGED H BOLT

25

4900129 3/8 UNC X 1 HEX BOLT

26

4914004 3/8 UNC STOVER NUT

27

2914000 1/4 UNC STOVER NUT

28

1520087 HOSE CLAMP NO 20 PLATED

29

1314767 RAD RECOVERY TANK & MTG WLD

30

2900003 1/4 UNC X 1 HEX BOLT



c
u

EXHAUST PIPE ASSEMBLY

DEL OTY PART NO. DESCRIPTION

1

2

3

4

5

6
7

8
9

10

11

12

13

361189

361190

314735

314425

319287

314736

341359

900265

914008

900264

900170

914004

319327

MAINFRAME TIE PLATE

MAINFRAME REAR TIE - ANGLE

EXHAUST PIPE FLG

RH EXH PIPE 318 SHORT

MUFFLER CHRY

LH EXH PIPE 318 LONG

HEAT SHIELD MAINFRAME

1/2 UNC X 1 1/2 HEX BOLT

1/2 UNC STOVER NUT

1/2 UNC X 1 1/4 HEX BOLT

3/8 UNC X 2 1/4 HH BOLT

3/8 UNC STOVER NUT

MUFFLER CLAMP 2IN HVY DUTY



FLOW DI VI DER ASSEMBLY

-Note: Detai I 12 Is Used Wi th Options That Use Tassel trol.

I
I

eft15

Det. Qty.

1 1
2 2

3 1
4 1
5 1
6 2

7 2

8 4
9 1

10 2
11 1

-12 1

13 1

14 1

15 2
16 2

PIN

341591

500000

505213

606873

607504

607512

618072

618107

618279

618322

618579

·618310

900009

900003

914000

920000

Description

Flow Divider Mounting Bracket

1/2 NPT Hex Pipe Nipple

1 NPT x 3/4 NPT Reducer Bush I ng

BG46 Flow Divider

B50 Flow Divider

Rei ief Valve

718 MOR x 1/2 FNPT

9/16 MJIC x 90 x 1/2 NPT

1 1/16 MJIC x 90 x 7/8 MOR

1 5/16 MJIC x 1 NPT

1 1/16 FJIC Swivel x 3/4 NPT

9/16 MJIC x 7/8 MOR

1/4 UNC x 2 3/4 Hex Bol t

1/4 UNC x 1 Hex Bol t

1/4 UNC Stover Nut

1/4 SAE Flat Washer



J6
\I

6

(

POSITRACTION VALVE ASSEMBLY

DEL

aTY PART NO.DESCRIPTION

1

1610468 POSITRACTION VLV MOD CONT 20G

2

1618588 1 1/16FJIC SWIV-l 5/16MOR

3

1618589 718MJIC-90-1 5/16MOR LBO
4

1618312 1 5/16MOR-l 1/16FOR ADPTR
5

1618535 718MJIC-90-1 1I16MOR LBO
6

1341663 POSITRACTION VALVE MOUNT

7

2470118 1/4 UNC X 3/4 FLANGED H BOLT
8

2470121 1/4-20 FLANGED WHIZ NUT

9

1610513 PDSITRACTION VLV W/BY PASS

10

1614634 STEEL PIPE TEE WLD 8200
11

1618322 1 5/16HJIC-1MNPT ADPTR

12

2505213 RED BUSH 1 TO 3/4 BLK MAL
13

2610305 3/4MJIC-90-3/4HNPT LBO

14

1618186 1 5/16MJIC-l 5/16MOR
15

2618470 3/4HJIC-l 5/16HOR ADPTR

16

2900065 5/16 UNC X 1 HEX BOLT

17

2900075 5/16 UNC X 3 3/4 HEX BOLT
18

4914002 5/16 UNC STOVER NUT

c



DEL

1
2
3
IJ

5
6
7
8
9

10
11
12
13
IIJ
15
16
17
18
19
20
21
22
23
21J
25
26
27
28
29
30
31
32
33
31J
35
36
37
38
39
1J0
IJ 1
1J2
1J3
IJIJ

I-' IJ5

N ~~
1J8
1J9
50
51
52
53
51J
55
56
57
58

FRONT SLANTED LEG ASSEMBLY

OTY PART NO. DESCRIPTION

1 160732 WASH 2 1/16 X 2 5/8 X 11 GA
1 357685 RH FRT B-MT SLT LEG WLD 8200
1 357686 LH FRT B-MT SLT LEG WLD 8200
1 121015 THRUST BUSH INNER RING 2.25
1 35770lJ WHL MTR SHLD WLD FRT B-MT82oo
1 357706 RH FRT LEG OUTER TUBE WLD
1 357707 LH FRT LEG OUTER TUBE WLD
1 12101lJ THRUST BUSH OUTER RING 2.25
1 358271 FRT LEG WASH
1 358298 JOURNAL BRG-LINER TYPE
2 1J71005 I/IJ-28 X 1/2 GREASE ZERK
1 1J73937 ROLL PIN. 3/8DIA X 2 112
1 610030 SUND WHL MTR EXTEN SHAFT 18
1 610516 ToRO HUB 21J TO 1 B-MT WIBFN
1 611159 3/IJMoR PLUG
1 611J571J HYD TUBE ASSY LWR 8200 FRTLEG
1 611J575 UPPER HYD TUBEASSY 8200FRTLEG
1 6151J33 KEY .50 SO X 1.50 LONG
2 618302 1 1/16MJIC-90-1 5/16MoR LBO
1 6181J96 9/16MJIC-1J5-3/IJMoR LBO
2 618553 1 1/16MJIC-7I8MJIC REDU UNION
1 71J9190 RH STRG ARM WLD
1 71J9185 LH STRG ARM WLD
9 821J052 WHEEL STUD NUT 1/2-2oX6oDEG
1 826929 CLIP BRAKE RETAINER
1 82691J3 HUB. BRAKE MT
1 82691J1J HUB. TAPER LOCK

I g~~§~~ ~~~K~og~~C ~5~K~SSY
1 828079 BRAKE SENSOR MT WLD LH
1 828080 BRAKE SENSOR MT WLD RH
1 870155 BUNA DRING IJ X IJ 3/16
2 826918 PARK BRAKE PAD
8 9ooo61J 5/16 UNC X 3/1J HEX BOLT
2 900265 1/2 UNC X 1 1/2 HEX BOLT
2 900267 1/2 UNC X 2 HEX BOLT
6 900333 5/8 UNC X 1 112 HEX BOLT
1 9oo31J1J 5/8 UNC X 5 HEX BOLT
2 911J006 7116 UNC STOVER NUT
2 911J008 112 UNC STOVER NUT
7 911J01O 5/8 UNC STOVER NUT
6 920003 7116 FLATWASHER SAE
2 92000IJ 1/2 FLAT WASHER SAE
6 920505 LOCK WASHER5/8
1 358319 LH FT LEG KEEPER PLT WLD
1 358320 RH FRT LEG KEEPER PLT WLD
1- 358322 LWR KEEPER PLT. FRT LEG X-12
5 900827 5/8 UNC X 7 1/2 HEX BOLT
1 900828 5/8 UNC X 9 HEX BOLT
1 826926 190 IN BRAKE CABLE 1J70
2 900129 3/8 UNC X 1 IN HEX BOLT
2 91IJOoIJ 3/8 UNC STOVER NUT
2 920002 WASH FLAT 3/8 SAE
1 900002 I/IJ UNC X 3/1J HEX BOLT
1 911J000 I/IJ UNC STOVER NUT
1 826963 SENSOR DISC. BRAKE FORMED
1 291206 SENSOR SPEEDo TACH
2 1J73061 3/1J-16 TRUSEAL NUT

(



l
lI

REAR SLANTED LEG ASSEMBLY ---J
DEI.

OTY PART NO.DESCRIPTION

1

1357683 RH REAR A-MT SLT LEG WLD 8200

2

1357684 LH REAR A-MT SLT LEG WLO 8200

3

1437617 TORO HUB 18 TO 1 W STUDS

4

1610029 SUND WHL MTR 15 SERIES

5

2611125 3/4MJIC-3/4MOR ADPTR

6

1611159 3/4MOR PLUG

7

9824052 WHEEL STUD NUT 1/2-20X60DEG

8

1618496 9/16MJIC-45-3/4MOR LBO

9

1870151 BUNA ORING 3 X 3 3/16

10

290013U 3/8 UNC X 1 1/4 HEX BOLT

11

8900333 5/8 UNC X 1 1/2 HEX BOLT

12

2920502 LOCK WASH 3/8

13

8920505 LOCK WASHER5/8

J-I

141358315 REAR LEG TOP PLT & KEEPER PLT

tN

156900827 5/8 UNC X 7 1/2 HEX BOLT

16

6914010 5/8 UNC STOVER NUT

17

2920002 3/8 SAE FLATWASHER

(



DEI.

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59

FRONT STRAIGHT LEG ASSEHBL Y

aTY PART NO. DESCRIPTION

1 160732 WASH 2 1116 X 2 5/8 X 11 GA
1 357650 RH FRT OUTER STR LEG WLD 8200
1 357651 LH FRT OUTER STR LEG WLD 8200
1 357696 RH FRT B-HT STR LEG WLD 8200
1 357697 LH FRT B-HT STR LEG WLD 8200
1 121015 THRUST BUSH INNER RING 2.25
1 121014 THRUST BUSH OUTER RING 2.25
1 357704 WHL HTR SHLD WLD FRT B-HT8200
1 358271 FRT LEG WASH
1 358298 JOURNAL BRG-LINER TYPE
2 471005 1/4-28 X 1/2 GREASE ZERK
1 473937 ROLL PIN. 3/8 DIA X 2 1/2
1 610030 SUND WHL HTR EXTEN SHAFT 18
1 610516 TORa HUB 24 TO 1 B-MT W1BFN
1 611159 3/4HOR PLUG
1 614574 HYD TUBE ASSY LWR 8200 FRTLEG
1 614575 UPPER HYD TUBEASSY 8200FRTLEG
1 615433 KEY. 50 sa X 1. 50 LONG
2 618302 1 1/16HJIC-90-1 5/16HOR LBO
1 618496 9116MJIC-45-3/4HOR LBO
2 618553 1 1/16HJIC-7I8HJIC REDU UNION
1 749190 RH STRG ARH WLD
1 749185 LH STRG ARH WLD

9 824052 WHEEL STUD NUT 1/2-20X60DEG
1 826929 CLIP BRAKE RETAINER
1 826943 HUB. BRAKE HT
1 826944 HUB • TAPER LOCK
1 826945 HUB ~10UNT. BRAKE
1 826959 BRAKE DISC SUB ASSY
1 828080 BRAKE SENSOR HT WLD RH
1 828079 BRAKE SENSOR HT WLD LH
1 870155 BUNA ORING 4 X 4 3/16
8 900064 5/16 UNC X 3/4 HEX BOLT
1 826918 PARK BRAKE PAD
2 900265 1/2 UNC X 1 1/2 HEX BOLT
2 914008 1/2 UNC STOVER NUT
2 920004 1/2 FLAT WASHER SAE
2 900267 1/2 UNC X 2 HEX BOLT
6 900333 5/8 UNC X 1 1/2 HEX BOLT
6 920505 LOCK WASHER 5/8
1 900344 5/8 UNC X 5 HEX BOLT
2 473061 3/4-16 TRUSEAL NUT
2 914006 7/16 UNC STOVER NUT
6 920003 7116 FLATWASHER SAE
1 357664 RH FRT LEG KPR WLD STR LEG
1 357665 LH FRT LEG KPR WLD STR LEG
1 357708 STRG CYL ADPTR WLD STR LEG
2 900129 3/8 UNC X 1 HEX BOLT
2 914004 3/8 UNC STOVER NUT
2 900828 5/8 UNC X 9 HEX BOLT
4 900827 5/8 UNC X 7 1/2 HEX BOLT
7 914010 5/8 UNC STOVER NUT
1 358322 LWR KEEPER PL T. FRT LEG
2 920002 WASH FLAT 3/8 SAE
1 900002 114 UNC X 3/4 HEX BOLT
1 914000- 1/4 UNC STOVER NUT
1 826926 190 IN BRAKE CABLE
1 826963 SENSOR DISC. BRAKE FORMED
1 291206 SENSOR SPEEDO TACH

[2

r----- 41

I _

-l -
I

L



f

REAR STRAIGHT LEG ASSE/iBL Y
DET.

OTY PART NO. DESCRIPTION

J

J357691j
RH REAR A-MT STR LEG WLD 82002

J357695
LH REAR A-MT STR LEG WLD 82003

J1j376J 7
TORO HUB J8 TO J W STUDSIj

J610029
SUND WHL /iTR J5 SERIES5

26J83J5
3/1j/iJIC-I!5-3/1j/iOR LBO6

J6J J159 3/1j/iOR PLUG7
J6J81j96

91 J6MJIC-I!5-3/1j/iOR LBO8
9821j052

WHEEL STUD NUT J 12-20X60DEG9
J870J5J

BUNA ORING 3 X 3 31 J6JO
2900130

318 UNC X 1 JlIj HEX BOLT11
8900333

5/8 UNC X J J 12 HEX BOLTJ2
2920502 LOCK WASH 318,..." J38920505 LOCK WASHER5/801 JIjJ358315

REAR LEG TOP PLT & KEEPER PLTJ5
6900827

5/8 UNC X 7 J 12 HEX BOLTJ6
69JljOJO 5/8 UNC STOVER NUTJ7
2920002

318 SAE FLATWASHER

CO (
-l

16

15,

Ie

I
I

L_J

J DR(D

- ------
-------



TI RE AND WHEEL ASSE~1BL Y

('

Det. Qty, PIN
1 1 320201
2 1 320600

3 1 650935

<-

Description
11.2 x 24 Tractor Tire

Wheel lie ldment
Wheel Bol t Torque Decol

.-------------



5 OR CD

(

STALK GUIDE ASSEMBLY

(

Det. Qty.
1 1
2 1
3 4
4 4
5 1
6 1

PIN

662164

662208
900129
914004

662211
662212

Description

Left Stalk Guide Weldment

Right Stalk Guide WeIdment

3/8 UNC x 1 Hex Bol t

3/8 UNC Stover Nut

Right Front Leg Stalk Guide

Left Front Leg Stal k Guide



•.....
CD

(

FUEL TANK ASSEMBLY

DEL

OTY PART NO.DESCRIPTION

1

1291428 FUEL SENDER 19 IN

2

5473902 NO 8 X 1/2 PAN HD MET SC

3

2501102 1/4 PIPE PLUG

4

1501450 BLK PIPE ST EL 90DEG 1/4NPT
5

1760444 FUEL TANK WLD 8200

6

1761200 GAS CAP

7

1783303 5/16 HOSE BARB-1/4MNPT BRS

8

2760449 FUEL TANK BAND WELDMENT

9

1760451 FUEL TANK CRADLE WLD 8200

10

2914004 3/8 UNC STOVER NUT

11

4914008 1/2 UNC STOVER NUT

12

4900263 1/2 UNC X 1 HEX BOLT

13

2319612 GAS LINE FIL TNAPA3012&FRAM
14

9520120 HOSE CLAMP NO 4 MINIATURE PLT

15

2601138 HOSE. 5/16 X 3 FUEL LINE
16

1601257 HOSE. 5/16 X 120 IN FUEL LINE
17

1610411 FUEL SELECTOR VALVE AUX TANK
18

1601263 FUEL LINE HOSE 5/16 X 144 IN
19

2900002 1/4 UNC X 3/4 HEX BOLT
20

2914000 1/4 UNC STOVER NUT

NOTE:

1.ITEMS 13.14.15.16.17.19. AND 20 ARE

USED WITH AUXILIARY FUEL TANK•



28

DEL

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29

(



STEERING CYLINDER ASSEMBLY

DEL OTY PART NO. DESCRIPTION

I
2

3
IJ

5
6

7

8

9
10

II
12

13

IIJ

IS

16

611122

620089

62011J8

620109

620129

629028

629618

629616

870025

870210

870218

890210

890218

911J009

900337

911J01O

9116MJIC-90-IIIJMNPT LBO

STRG CYL TUBE WLD 1.5 X 6

STRG CYL SHAFT WLD

GLAND HYD CYL 1. 5 X .75

PISTON HYD CYL 1.5 X .5

WIPER, 100 X 3/IJID X 118

WEAR RING HYD CYL

SEAL .1701J-21J HT20550R POL YHON

BUNA ORING I 3/16 X I 5/16

BUNA ORING 3/1J X I

BUNA ORING I IIIJ X I 112

BACKUP WASH 3/1J XI HT2022

BACKUP WASH I I/IJX I 1/2 HT2022

1/2 UNF STOVER NUT

5/8 UNC X 2 3/1J HEX BOLT

5/8 UNC STOVER NUT

(

NOTE: 620080 - CYLINDER ASSEMBLY

620998 - SEAL KIT

'- '-



3 OR @

De!.

1
2

3
4

5

6

7

8
9

10
11
12

13

Qty,

2

1
1
1
4

2

2

3
5

2

1
2

1

PIN

749156

749203
749206

749207
749208

471021
470032
900135
914004
822040

749214
900134

740442

TIE ROD ASSEMBLY

F DescriptionerooIe So k

TI c et Assemb Ie Rod Outer y

Tie Rod Inner ~ube Weldment

Tie Rod Inner s~be - Slant Leg

Tie Rod Clamp aft

Grease Zerk

1/8 x 1 II
3/8 UNC 2 Cotter Pinx 2 3/4

3/8 UNC L Hex Bol t

5/8 ock NutUNF Slott d

TI e Rod Stl f/ Hex Nut

3/8 UNC x 2 ener Angle1/2 H
Inner Tie R ex Bol tod Tube - Straight Leg

(



OPERATOR STATION ASSEMBLY

DEL

OTY PART NO.DESCRIPTION

1

1330002 SEAT

2

1341336 SEAT MT WLD

3

1341652 OP STN WLD

4

1341639 FRT OP STN COVER

5

1914000 1/4 UNC STOVER NUT

6

1900002 1/4 UNC X 3/4 HEX BOLT

7

4483037 FLAT WASH 5/8 REGULAR

8

8914004 3/8 UNC STOVER NUT

9

319200001/4 FLAT WASH SAE

10

4920004 1/2 FLAT WASHER SAE

11

8900128 3/8 UNC X 3/4 HEX BOLT

12

1659572 RH OUTSIDE STN PANEL

I"\)

131290107 8 IN GROUND STEP

I"\)

144311032 ENGINE ISOLA TOR

15

1826108 BRAKE LEVER ASSY

16

4900269 1/2 UNC X 3/4 HEX BOLT

17

4914008 1/2 UNC STOVER NUT

18

2472349 1/4 X 3/4 20THD-IN TEK TYPE

19

404701181/4 UNC X 3/4 FLANGED H BOLT

20

30470086NUTSERT. 1/4UNC .020-.100GR

21

2826926 190 IN BRAKE CABLE

22

1659564 LH LWR CANOPY DEFLECTOR SHLD

23

1341616 LH CATWALK WLD

24

1341624 FRT MTG STRIP CATWALK

25

1341625 REAR MTG STRIP CATWALK

26

4900064 5/16 UNC X 3/4 HEX BOLT
27

1900067 5/16 UNC X 1 1/2 HEX BOLT

28

9914002 5/16 UNC STOVER NUT

29

1659600 LH OUTSIDE STN PANEL

30

1520121 CUSHION HOSE CLAMP 1 IN DIA

31

2659579 FOAM. 2IN WIDE X 40IN LONG
32

104701211/4-20 FLANGED WHIZ NUT

33

4901064 5/16 UNC X 3/4 CARR BOLT

34

4900129 3/8 UNC X 1 HEX BOLT

35

2291089 ADJUSTABLE LIGHT WI GUARD

•



0' ,,,"? /



HYDROSTATIC LEVER ASSEMBLY

DET. QTY PART NO. DESCRIPTION

1 1 341501

2 1 341188

3 2 900000

4 5 914000

5 4 470122

6 1 473921

7 1 606864

8 1 785053

9 1 903893

10 2 910027

11 1 914027

12 2 900003

13 2 910022

14 2 473993

15 1 293006

16 8 920000

17 1 920011

18 2 920510

19 1 900005

HYDST CONT LEVER MT IJLD

CONSOLE THROT CABLE MT ANGLE

1/4 UNC X 112 HEX SOLT

1/4 UNC STOVER NUT

1/4 - 20 X 112 FLANGED H SOLT

BALL JOINT NO 10-32 THD

HYDST CONTROL LEVER MODIFIED

THROT CABLE 95 IN

10-32 X 1 SLT RD HD MACH SCR

HEX NUT NO 10 UNF

NO 10-32 STOVER NUT

114 UNC X 1 HEX BOLT

6-32 HEX NUT PLATED

SCREIJ HH MACH. 6-32 X 1 1/8

MICRO SIJITCH flBZ -2RL25551-A2

114 FLAT IJASH SAE

IJASHER. fl6 SAE FLAT PLATED

LOCK IJASH NO 10

114 UNC X 1 1/2 HEX BOLT

(



( (

THROTTLE LEVER ASSEMBLY

DEL

OTY PART NO.DESCRIPTION

1

1341188 CONSOLE THROT CABLE MT ANGLE
2

1473921 BALL JOINT NO 10-32 THO
3

1499001 SPRING HYDRO CONTROL

4

1659292 1 7/8DIA BALL KNOB 3/8-16
5

1785003 THROT CABLE 112 IN
6

1785040 THROT LEVER WLD CONSOLE
7

1785046 FRICTION DISC 3-333 X .38

8
2900000 1/4 UNC X 1/2 HEX BOLTN 9
1900170 3/8 UNC X 2 1/1! HH BOLT

U1 10
1903893 10-32 X 1 SLT RD HD MACH SCR

11

2910027 HEX NUT NO 10 UNF

12

2914000 1/4 UNC STOVER NUT
13

2920510 LOCK WASH NO 10
II!

1914004 3/8 UNC STOVER NUT
15

1914027 NO 10-32 STOVER NUT

16

1920002 WASH FLAT 3/8 SAE



STEERING WHEEL ASSEMBLY

oET.

OTY PART NO.DESCRIPTION

I

22001J61J PARK BRAKE SPACER

2

I31J1661 STRG COLUMN COVER WLo

3

I001266 TIE CLAMP TUBE OUTRIGGER

IJ

I1J70157 NUT 13/16-20 UNEF FOR 71J921J5

S

21J70123 1/2 EXTERN TOOTH LOCK WASH

6

I71J91S0 STRG MTR NON-LOAD REACT1008

7

4618109 9116MJIC-3/4MOR AoPTR

8

I742502 STRG AoJ KNOB

9

I749178 STRG COLUMN 2. SIN LONG

10

I71J921J5 STRG WHL IIJ. 0 oIA W/CAP

II

I71J921J1JSTRG WHL CAP FOR 71J921J5

12

I900277 1/2 UNC X 5 1/2 HEX BOLT

13

I901276 1/2 UNC X S CARR HEAD BOLT

14

1911J008 1/2 UNC STOVER NUT

15

2900128 3/8 UNC X 3/1J HEX BOLT

16

2900130 3/8 UNC X I I/IJ HEX BOLT

17

2920002 WASH FLAT 3/8 SAE

(



( (
- "

(

BA TTERY BOX ASSEMBLY

DEI.

OTY PART NO.DESCRIPTION

V
11290013 BATT 12V 90AH L T WARRANTY

2

1290111 GROUND STRAP

~
31290212 HOLD DOWN BATT W/CLAMPS

--.]
41291128 BATTERY CABLE48 IN

5

1361149 BATTERY BOX

6

1361192 BATTERY BOX SUPPORT

7

2900129 3/8 UNC X 1 HEX BOLT

8

2901149 3/8 UNC X 8 112 CARR BOLT, 96914004 318 UNC STOVER NUT

10

2900128 318 UNC X 3/4 HEX BOLT



;1~

HISCELLANEOUS FRAHE COHPONENTS

DET. QTY PART NO.

DESCRIPTION

1

131f1660 LEFT LOWER SIDERAIL WELDHENT

2

131f16lfl UPPER SIDERAIL CHAN WLD

3

1360305 DEKALB 2 STEP LADDER WLD . r
If

13601flfl I-STEP LADDER WLD DETAS
11

5

131f1657 LEFT UPPER SIDERAIL CHAN WLD

6

1361162 CARRIAGE PIVOT PIN WLD

7

11f73937 ROLL PIN. 3/8 DIA X 2 1/2

8

8900129 3/8 UNC X 1 HEX BOLT

9

8911f001f 3/8 UNC STOVER NUT

10

8900S31f 1 UNC X 3 HEX BOLT

11

8911f016 1 IN STOVER NUT

12

131f1659 RH LOWER SIDERAIL WLD

(
'-

(



(
SHEET METAL ASSEMBLY

DEI. OTY PART NO. DESCRIPTION

1 2 341356 ENGINE HOOD PROP WLD
2 1 341362 LH SIDE PLT EXTEN
3 1 341363 RH SIDE PLT EXTEN
4 2 341395 SCREEN SLIDE WLD
5 4 470086 NUTSERT. 1/4UNC .020-.100GR
6 2 470151 UPPER REAR PANEL SCREEN CLIP
7 1 472251 MTG SOCKET
8 6 472352 #10-24THD IN X 9/16 TEK TYP 3
9 8 485053 POP RIVET 3/16 X 3/8

10 1 472249 SLOW MOVING VEHICLE SIGN
11 1 472250 SPADE MTG BRKT
12 4 656997 RUBBER HOOK BRKT
13 4 656998 RUBBER HOOK
14 4 656999 RUBBER HOOK ANCHOR BRKT
15 1 659575 UPPER REAR PANEL WLD
16 1 659578 UPPER REAR PANEL SCREEN
17 1 659589 LWR SCREEN WLD
18 1 659728 MULLION WLD CHRY 318
19 1 659734 RH ENG HOOD WLD
20 1 659735 LH ENG HOOD WLD
21 1 659743 LWR BACK PNL WLD CHRY
22 1 659847 LWR REAR SCRN EXT WLD 8200 89
23 1 659765 LWR FRT HOSE COVER SCRN WLD
24 1 659771 LWR FRT SHLD
25 1 659772 RH LWR FRT SHLD MT
26 1 659773 LH LWR FRT SHLD MT
27 1 659774 RH SIDE SCRN
28 1 659775 LH SIDE SCRN
29 2 659778 SIDE SCRN KPR
30 12 900000 1/4 UNC X 1/2 HEX BOLT
31 4 900002 1/4 UNC X 3/4 HEX BOLT
32 14 900005 1/4 UNC X 1 1/2 HEX BOLT
33 24 914000 1/4 UNC STOVER NUT
34 2 291036 BRAKE & TAIL TRAILER
35 2 291114 FLASHER & SIDE MARKER LIGHT
36 53 470118 1/4 UNC X 3/4 FLANGED H BOLT
37 55 470121 1/4-20 FLANGED WHIZ NUT
38 14 193016 FLEX BLK SEALED LIP TRIM
39 6 900006 1/4 UNC X 1 3/4 HH BOLT
40 2 900132 3/8 UNC X 1 3/4 HEX BOLT
41 2 291186 AMBER LENS FOR FLASHER 291114
42 6 201305 BRAKE BAND SPACER
43 1 341588 LH HYD TUBE MTG BRKT 8200 86
44 1 341587 RH HYD TUBE MTG BRKT 8200 86
45 3 341589 HYD TUBE MT KPR 8200 86
46 -1 659852 SMV SIGN MTG BRKT 8200 89
47 2 914004 3/8 UNC STOVER NUT

c



AIR CLEANER ASSEMBLY

DEI. OTY PART NO. DESCRIPTION

(

1 1 314528

2 1 314529

3 2 314536

4 1 314731

5 2 520052

6 1 314543

7 4 470118

8 4, 470121

AIR CLEANER

AIR STACK CAP 3 IN

AIR CLEANER BAND 8IN DONALDSO

AIR CLEANER HOSE

HOSE CLAMP NO 52 PLATED

AIR CLEANER ELEMENT

1/4 UNC X 3/4 FLANGED H BOLT

1/4-20 FLANGED WHIZ NUT

(.



( c (

RETURN MANI FOLD FI LTER ASSEMBLYDet.

Qty.PIN DescrIptIon
1

25037001/2 NPT PIpe Plug
2

15051101 NPT x 45 Street Elbow
3

15064101 1/4 NPT x 90 Street Elbow
4

1605601Gresen FIl ter
5

16111247/8 MJI C x 90 x 1/2 NPT
6

1614633HydraulIc ManIfold
7

1614637HYdraull cOIl FII ter Mount Ing Bracket
8

16181441 1/4 To 1 NPT Hex PIpe NIpPle
9

16183221 5/16 MJIC x 1 NPT
10

26183237/8 MJIC x 45 x 1/2 NPTtN
11

17156601 1/4 NPT x 1 1/4 Hose Barb
t-'

12

29000645/16 UNC x 3/4 Hex Bol t
13

29205015/16 Lock Washer
14

1520085No. 24 Hose Cl CJI¥)
15

29002631/2 UNC x 1 Hex Bol t
16

29140081/2 UNC Stover Nut
17

2605602FIlter Element



tN
N f·

SUNDSTRAND 4.37 CU. IN. PUMP ASSEMBLY

PUMP ASSEMBLIES

DET. aTY PART NO. DESCRIPTION CROSS 2.74 CU. IN. PUMP ASSEMBLY

I
2

3

4

5

6

7

8

9

10

II
12

!3
14

15
16

17

18

2 505200

I 506005

I 506200

I 506409

I 506701

I 714561

I 610524

I 618596

2 618178

I 618090

2 714331

I 715660

4 920002

4 900130

I 505098

I 5051 to

I 50520 I

I 610444

(

BLK PIPE ST EL 90DEG INPT

RED BUSH I 1/4 TO I BLK HAL

CLOSE NIPPLE I 1/4NPT

BLK PIPE ST EL 45DEG I 1/4NPT

SIDE OUTLET EL 90DEG I 1/4NPT

!.00NPT-!.25 HOSE BARB

SUND GEAR PMP 4.37 CI SPLINED

I 5/8MOR-I 1/4FNPT ADPTR

I 51!6MJIC-90-1 5/16MOR LBO

I 5/16MOR-IFNPT ADPTR

3/4 HOSE BARB-IMNPT

I II 4 HOSE BARB- I II 4MNPT

IJASH FLAT 3/8 SAE

3/8 UNC X I 114 HEX BOLT

SIDE OUTLET EL 90DEG I NPT

BLK PIPE ST EL 45DEG INPT

CLOSE NIPPLE INPT

CROSS PMP 2.74CI B-MT SPLINED



( (

'60, MOTORCONTROLVALVEASSEMBLY

!Jet.

Qty.PIN Description
1

16101861 1/16 MORPlug
2

1610467Electrl c Motor Control Vol ve
3

1610477Plug 10 Series 2-Way

UJ

4
4610479,287 Disk Orifice'

UJ

5
16181781 5/16 MJIC x 90 x 1 5/16 MOR

~~'

616181861 5/16 MJIC x 1 5/16 MOR
7

36183097/8 MJI C x 1 1/16 MOR
8

4610478,182 Disk Orl flee
9

1341589Hydraulic Tube Mount Keeper
10

1341590Motor Control Valve Mounting Brocket

11

29000071/4 UNCx 2 Hex Bol t
12

29001293/8 UNCx 1 Hex Bol t
13

29140001/4 UNCStover Nut
14

19140043/8 UNCStover Nut
15

29200023/8 SAE Flat Washer
16

19205023/8 Lock Washer
17

1614632HYdraulic Tube Assembly Return Manl fold
18

3610481Solenoid Vol ve
19

3610480Solenoid Call



r
I

~

THREE SPOOL VALVE ASSEMBLY

DEL QTY PART NO. DESCRIPTION

1

2

3
4

5
6

7

8

9

10

11

12

13
14

15

16
17

18

3 221001

1 293031

6 470087

1 606585

3 615336

3 615337

2 618119

2 618126

3 618425

1 618440

3 659291

2 900007

1 900144

2 914000

1 914004

1 293033

2 610185

6 470118

CONN LINK CLIP TYPE RC50

VLV/ S\.JITCH PLT \.JLD 8200

NUT. 3/8UNC \.JHIZ LOC

CESSNA 3SPL VALVE \.J/O RELIEF

LINK. VALVE HANDLE. 2.35PL

HANDLE. 2-3SPL VALVE

9/16MJIC-90-9116MOR LBO

9/16MJIC-9/16MOR ADPTR

9/16MJIC-45-9116MOR LBO

9/16MJIC-90-9/16MOR EX LG LBO

.1 DIA BALL KNOB 3/8-16INSERT
114 UNC X 2 HEX BOLT GR5 PLT

3/8 UNC X 6 1/2 HEX BOLT

1/4 UNC STOVER NUT

3/8 UNC STOVER NUT

VLV/S\.JITCH PLT COVER 8200

9/16MOR PLUG

1/4 UNC X 3/4 FLANGED H BOLT

(' (
'-

NOTE: ITEM 17 IS USED \.JITH THE FOUR-RO\.J

OPTIONS.



(
TASSELTROLCOVERASSErIBLY

c

tN
c.n

Det. Qty. PIN
1 2 291602
2 1 293005
3 1 293007
4 1 293011
5 2 293012
6 2 293019
7 3 293025
8 1 293026
9 1 293031

10 1 293034
11 2 298011
12 8 390318
13 8 903804
14 8 903812
15 8 910022

Descrl pt Ion
10 Amp Fuse
Diode Circuit Boord
Control Box Wire Harness
r1anual Swl tch Harness
~I\ re, Fuse to S\'11tch
Wire, Fuse to LIght
r1anuaI SwItch
Auto and r1anual Swltch
Swltch Plate Weldment
Circuit Board r10unt
Fuse Holder
Indicator L1qht
6-32 x 1/4 Slotted Round Head Screw
6-32 x 1/2 Slotted Round Head Screw
6- 32 \lex Uut

J
000

J

o

o

NOTE: The diagram to the left shows how the components
are connected to each other throuqh connector "A" \'11res.

~~~\gg~~:ct c I rcul t board "B" to connector "fI" are



r

ELECTROHYDRAULIC VALVE ASSEMBLY

DEI.

OTY PART NO. DESCRIPTION

1

71J73821WASHER. INT TOOTH 1#10

~

21610532 ELECT HYD STACK VLV W/ADJ89

3

1611J636 ELECT T- TROL VLV MT BRKT

IJ

16101J1J7HYD FILTER. INLINE 1/IJFNPT 90M

5

1611122 9/16MJIC-90-1/IJMNPT LBO
I

61618600 9/16MJIC-90-718MOR LBO

-~

7
3618119 9/16MJIC-90-9116MOR LBO

8

1618170 3/IJMOR-9/16FOR ADPTR

9

1618562 9116MOR-90-1IIJMNPT LBO

tN

10
21J70121 1/1J-20 FLANGED WHIZ NUT

0"\

11
2911J008 1/2 UNC STOVER NUT

12

11J910027HEX NUT NO 10 UNF

13

16101J62 GASKET FOR 6101J1J7ARROWFIL T

11J

2920000 1/1J FLAT WASH SAE

15

2900263 1/2 UNC X 1 HEX BOLT

16

1610%9 FIL TER ELEMENT FOR 6101J1J7 90H

,,
(

..

(



( c c

ELECTROHYDRAULIC VALVE

DEL OTY PART NO. DESCRIPTION

eo(;)'--""~ -.
-----

-------

1

2

3

4

5

6

7

8

9
10

11

12

13

14

15

16

17

18

19
20

21

22

23

24

25

26

27

28

29

30

31"

32

33
34

35
36

37

38

39

3 610533

1 610543

6 610267

7 871019

6 610126

3 610491

7 610084

6 910000

3 610488

10 871010

3 610129

6 870013

3 871904

6 871906

3 610130

3 610489

6 610490

6 610133

7 610108

6 871008

1 610492

6 610453

6 610127

6 610493

7 610113

7 610294

7 610114

1 610109

6 610534

1 610110

1 610111

1 610112

14 910027

6 610452

6 900003

.3 610494
3' 871056

3 610495

1 610076

UNBALANCED LOAD VALVE 89

R. V. CARTRIDGE

SEAL PLUG ASSY FOR 610257

ORING. 13/16 X 15/16 NEO POD

ARMATURE. ELECT VALVE. UNBAL

SPRING AM-501-3-035 FOR610485

\.lASHER. ELECT-HYD VALVE

1/4 UNC HEX HEAD NUT GR 5

ORIFICE PRESSED IN BLACK

ORING. 1/4 X 3/8 NEO 900

POPPET. ELECT VALVLUNBAL LOAD

ORING. 7/16 X 9/16 NEO 700

ORING•• 351 X.072CS NEO POD

ORING•• 468ID X .078CS NEO POD

PLUG. SAE4.ELECT VALVE.UNBAL

CHECK VLV POPPET

POPPET FOR 610485AM-501-3-033

POLE PIECE. ELECT VALVE. UNBAL

ORIFICE 040. ELECT VALVE

O-RING 3/16 X 5/16 900

SPRING AM-570-3-126 FOR610485

VLV CAP AM-322-3-3

SPRING.ELECT VALVLUNBAL LOAD

COIL FOR 610485

COVER. ELECT VALVE. NON ADJ
STACK NON ADJ BASE BLOCK

PAL NUT. ELECT VALVE

POLE PIECE. ELECT VALVE

THRU TUBE ASSY ELEC VLV 89

SPRING. ELECT VALVE. NON ADJ

POPPET. ELECT VALVE. NON ADJ

ARMATURE. ELECT VALVE

HEX NUT NO 10 UNF

ADJ VLV STOP AH-502-3-011

1/4 UNC X 1 HEX BOLT

ORIFICE FOR 610485

O-RING 900

POPPET FOR 610485AM-S70-3-654

COIL. ELECT STACK VALVE

,', ..-



F

OUTRIGGER ASSEMBLY

DET.

OTY PART NO.DESCRIPTION

1

1438271 TOOL BAR IJLD
2

1438307 RH 75IN OUTRGR IJLD

3

1438309 LH 75IN OUTRGR IJLD

4

1438310 RH 75IN OUTRGR SUPP POST IJLD
5

1438314 LH 75IN OiJTRGR SUPP POST IJLD

6

1438316 CTR TIE BAR 75IN OUTRGR
7

1438317 75IN OUTRGR SUPP ROD IJLD

8

1438320 BUSH 1. 00 00 X .531ID X. 28LG

9

1438321 RH 75IN OUTRGR SUPP POSTBRACE

10

1438322 LH 75IN OUTRGR SUPP POSTBRACE
II

1438323 RH 75IN OUTRGR BRACE CLAMPWLD
12

1438324 75IN OUTRGRBRACE CLAMP
13

1438326 LH 75IN OUTRGR BRACE CLAMPWLD

OR CD

14
1438283 OUTRGR PIVOT PIN IJLD

2 15
1470117 COTTER PIN 3/16 X 1 3/4

16

2483041 1/2 REGULAR FLAT IJASH PLT
17

6900265 1/2 UNC XII /2 HEX BOLT

tN
182900270 1/2 UNC X 3.00 HEX BOLT

Q)
192900333 5/8 UNC XII /2 HEX BOLT

20

3900334 5/8 UNC X 1 3/4 HEX BOLT

21

1900335 5/8 UNC X 2 HEX BOLT
22

4910008 1/2 UNC HEX NUT

23

8914008 1/2 UNC STOVER NUT
24

6914010 5/8 UNC STOVER NUT
25

1438277 RH 32IN OUTRGR IJLD

26

1438282 LH 32IN OUTRGR IJLD

()
'.•..



( c c

.~

~

DETASSLER LIFT ASSEMBLY
DET.

CTY PART NO. DESCRIPTION

~

1
8121025 JOURNAL BRG FOR UN SHFT1.5LG

2

2200004 CARRIAGE PIVOT PIN WASHER
3

4438300 LIFT ARM PIVOT PIN WLD
4

1438177 TOOL BAR MT WLD DETAS
5

1438184 HOIST COL WLD DETAS LIFT
6

1438294 UPPER LIFT ARM WLD

7

1438297 LWR LIFT ARM WLD

8

4470162 COTTER PIN 3/16 X 1 1/2

9 -

5900538 1/2 UNC X 3 1/2 FULL THD BOLT

10

5910008 1/2 UNC HEX NUT

11

1410048 CENTER DEFLECTOR WLD

12

2438302 HOSE KPR RING WLD W/WASHER

13

1410052 U-BOLT CLAMP ROLLER CENTER

14

1410051 U BOLT CLAMP CENTER DEFLECTOR

15

1472012 PICKER PIN 1 X 3 1/4

16

1472206 PICKER PIN1 DIA X 2 1/4

...•..•.

172611016 HAIR PIN~\ 184900275 1/2 UNC X 4 1/2 HEX BOLT

19

1438286 HOIST COL MTG BRKT WLD 8200

tN

20
2914002 5/16 UNC STOVER NUT

21

109140081/2 UNC STOVER NUT
~ 22

6914010 5/8 UNC STOVER NUT

11

231438292 TOOL BAR V-PLATE WLD 8200

24

1438194 TOOL BAR WLD DETAS 4-6R

25

2438293 U-BOLT 5/8 UNC TRIBEND X 6.25

26

1620900 CYL ASSY CC2016 DOO SRG 180

27

4900265 1/2 UNC X 1 1/2 HEX BOLT

28

1438199 T- TROL MT WLD 8R DETAS

29

1410016 RLR HANGER V

30

2900343 5/8 UNC X 4 112 HEX BOLT

31

2920005 5/8 FLAT WASH SAE

32

1438209 8R PLR OUTER MT ARM WLD 8200

33

1438214 8R PLR INNER MT ARM WLD 8200

34

1438216 8R PLR MT WLD 8200

35

2900268 112 UNC X 2 1/2 HEX BOLT

36

3900263 1/2 UNC X 1 HEX BOLT

37

1920504 LOCK WASH 1/2

38

1438220 8R TIRE PLR TOOL BAR WLD

39,_

1438201 TOOL BAR WLD 8R DETAS



¥
I

~
I

LIFT CYLINDER ASSEMBLY

Det.

Qt WITH T- TROL

1

y. PIN

11

2

1 472297
3/4 UN/escrlPtlon

3

1 620081 Stover Th

2 870326

PI stan in Hex Nut

4

3 890326
1 5/8 x 2 O-RI

5

1 620082
Bock-U ng

6

1 629003
Gland p Washer 1 5/8 x 2

7

1 629505
1 x 1 1/4 x

8

2" S 1/8 Wiper

9

1 870214 nap RI ng

1 890214

1 x 1 1/

10

4 O-Ring

1 620901

1 x 1 1/4 B

11

1 620905
Tube Weldme~~k-UP Washer

12

13

1 870113Shaf t WeI dmen t

1 611122

9/16 x 3/4 0

(

14

1 500005
9/16 MJIC -Ring

15

1 737810
11/16 FPS ~ 90 x 1/4 NPT

16

1 738859
1/4 NPT P Nut

Nylon No50 Mesh St zzle Body

I,

Note:

rainer·

620900

(
I,

620 -. LI ft Cyllnd

083 _ Seal KI er Includes Ite

!

t ms 1-12.

,

<,

( f

, "



( ( c

LIFT CYLINDERASSEMBLYWITHOUTT-TROL

Det. Qty.
1 1
2 1

3 1
4 2
5 3
6 1
7 1
8 1
9 1

10 1
11 1
12 1
13 1
14 1
15 1
16 1
17 1

PIN

620901
620905

620081
870326

890326
870113

472297
620082
890214

870214
629505

629003
503000
610449
618018
618571
611122

Description
Tube Weldment

Shaft Weldment
PI stan

1 5/8 x 2 O-Ring
1 5/8 x 2 Back-Up Washer

9/16 x 3/4 O-RIng
3/4 UNF Lock Nut
Gland

1 x 1 1/4 Back-Up Washer
1 x 1 1/4 O-Ring
Snap RIng
Wiper
1/2 NPT To 1/4 NPT Reducer Bushing
.062 I-Way Restrlctor 1/2 NPT
9/16 MJIC x 1/2 NPT
1/4 NPT x 90 x 1/4 NPT

1/4 NPT x 90 x 9/16 MJIC

. \

Note: 620900 - LIft Cylinder Includes Items 1-12.

620083 - Seal KIt

614649 - I-Way Restrlctor AssemblY Includes Items 13-16 .



ROLLER PULLER HEAD ASSEMBLY

DET. OTY PART NO. DESCRIPTION

1
2
3
Ij
5
6
7

8
9

10
11
12
13
llj
15
16
17
18
19
20
21
22
23
21j
25
26
27
28
29

1 Ijl0153
I Ijl0155
2 120913
Ij 123021j
Ij 123035
Ij 123D26
1 Ijl0019
I Ijl0028
2 Ijl0029
2 Ijl0032
2 Ijl0060
1 Ijl0063
1 Ijl0065
1 Ijl0l%
1 Ij 10066
2 Ijl0067
1 Ijl0069
1 Ijl0078
1 Ijl0079
I Ijl0120
1 Ijl0081j
1 Ij 10090
1 1j38303
1 1j92080
1 1j92082
Ij 123021
Ij 1j70156
Ij 1j70051j
1 1j70085

RH STALK GUIDE WLD 8200 RLR
LF STALK GUIDE WLD 8200 RLR
BUSH HALF 1.8750D X lLG
BGR 1 l/lj BORE SPHERICL RELUB
FLANGETT 1 l/lj 180 DEG ZERK
FLANGETT 1 1/1j RELUBE
WHL MTR TUBE WLD RLR
RLR TASSLE DEFLECTOR
U-BOL T CLAMP
SPRING HOOK BOLT WLD
RUBBER ROLLER. GROOVED
TRASH FINGER WLD
GEAR PLASTIC RLR
RLR SPRKT SHLD WLD
GEAR. ALUM RLR
HUB. RLR GEAR
WASHER. PLASTIC GEAR. ROLLER
STOP RLR REAR
SPRKT WLD RLR DRIVE
RLR PLR TUBE WLD
BRG MT WLD. RLR
BRG MT WLD FT
HOSE KPR RING WLD WITAB
CHAIN COUPLNG HALF FBlj012 3/1j
CHAIN FOR 1j92081POl 1j012
LOCK COLLAR 1 I/Ij DIA
I/Ij-20 X 3/1j SOHD SET SCR CUP
SET SCREW 5/16X l/lj AL HD CUP
COTTER PIN. 3/61j X 1/2 SO CUT

30 3 1j72000
31 1 1j72003
32 2 1j72261j
33 2 1j739%
31j 2 1j82006
35 2 1j83008
36 2 1j83009
37 1 610051
38 1 611128
39 1 618119
1j0 2 920002
Ij 1 8 900006
1j2 8 920500
1j3 1 Ijl0016
Ijlj Ij 911j008
1j5 Ij 911j002
1j6 Ij 910008
1j7 . Ij 900265
1j8 9 901129
1j9 3 900129
50 8 900130
51 2 900131
52 2 900131j
53 10 911j001j
51j 13 910001j
55 1 618279
56 1 618578
57 1 610501j
58 1 618309

(

,,~ n • •

~o/J~.;
I

(
, >

31

51

53

40

91 WOODRUFFKEY
WOODRUFFKEY NO 9 3/1j X 3/16
5/16 DIA SO U BOLT 1j73

~~~~N~I~6R 1~~~t~R \~N 1[~N~ONG
MACH WASH 1 13/16ID 2 3/80D
MACH WASH 1 13/16ID X 2 3/80D

~~~H~~l~~6-~~~~5~ 116001j7
9/16HJIC-90-9/16MOR LBO
WASH FLAT 3/8 SAE
I/Ij UNC X 1 3/1j HEX BOLT
LOCK WASH 1/1j
RLR HANGER V
1/2 UNC STOVER NUT
5/16 UNC STOVER NUT
1/2 UNC HEX NUT
1/2 UNC X 1 1/2 HEX BOLT
3/8 UNC X 1 CARR BOLT
3/8 UNC X 1 HEX BOLT
3/8 UNC X 1 1/1j HEX BOLT
3/8 UNC XI 1/2 HEX BOLT.
3/8 UNC X 2 1/2 HEX BOLT
3/8 UNC STDVER NUT·
NUT.HEX. 3/8UNC GRS PLT
1 1/16 MJIC-90-718HOR LBO
1 1/16 FJIC SWIV-l 1/16HOR
PRESS COHP FIXED FLO REG H/C
7/8HJIC-l 1/16HOR ADPTR

NOTE: FOR RH HEAD ASSEHBLY REPLACE ITEHS 55.
56.57.& 58 WITH 611128 - 7/8 MJIC-90­
7/8HDR.

(
'.'



(

&;' <ffiJ

tp ;0 OR®ilr; I
~ f

'()

~ CfV
I. - /

,~I/~: ..@ m '
, '

/ /

@®

Det .
1
2

3
4

5
6
7

8
9

10
11
12
13
14
15
16

17
18
19
20

21
22

23

24

25

26

27

28

29

30

31
32

33
34

c

LEFT ANDRIGHT

Qty PULLERHEADASSEMBLY. PIN
1 438000 11 Description
2 _ 824503 Whre Puller Weldment
1 438048 0 eeI WIRIb 11re
1 438050 I utslde Stalk Guide

~ 900064 5~~~d~N~talk Guide
1 473060 1"-14 X 3/4 Hex Bol t438009 SAE Hex Nut
1 824501 ~~Iler Spindle
1 438015 H Taper Hub Group
1 438010 /draullc Hub Weld
1 438014 ight Hydraul i ment
4 900130 Left HYdrauli/MMotor Housing
6 914004 3/8 UNCX 1 1/4 otor Housing
1 604005 3/8 UNCLock NU/ex Bolt

~ 900128 ~~~r~~1ic Motor W/Key
1 920502 3/8 L C X 3/4 Hex Bol t900263 1/2 ock Washer
1 650820 UNCX 1 Hex Bol
1 611124 Decal Caution t
1 611147 1/2 NPT X 90 X 7/8
2 470053 ~~~ NPT X 3/4 MJI C MJI C
1 472008 51 -20 X 1/4 Allen H
1 900006 1/~2 X 1 Cotter Pin ead Set Screw
1 920500 UNCX 1 3/4 H
1 438173 1/4 Lock Washer ex Bol t

~ ~~~~~~ ~~~eu~~I~e~ ~:~e~d Weldment
2 824504 Dust Cap 01t
2 824506 Bearing Cone
1 824505 Beari ng Cup
5 824052 SeaI
1 129003 1/2-20 X 60 WheeI
1 920006 ~~4 UNFSpi ndle Nu~tud Nut
1 472022 N ~ SAE Flat Washero. 15 Woodruff Key



(

I

~
I

(
'.

CUTTERHEADASSEMBLY

Det. Qty, PIN Description
1 1 002103 18" Cutter Blade
2 1 002104 Clutch Body Blade
3 1 002105 Stee I Lock Washer
4 1 002106 Key
5 1 002107 3/8 UNFx 1 1/2 Hex BoIt
6 1 002108 Stee I Washer
7 1 002210 Cutter Top Weldment
8 1 410016 Hanger V
9 8 470118 1/4 UNCx 3/4 Flanged Hex Bol t

10 8 470121 1/4 UNCFlanged Nut
11 1 611125 3/4 MORx 3/4 MJIC
12 1 618203 Barnes HYdraulic Motor
13 1 618530 1/8 NPT x 9/16 MJ[C
14 1 618546 1/8 NPT Run Tee x 9/16 MJI C
15 2 900130 3/8 UNCx 1 1/4 Hex Bol t
16 4 900265 1/2 UNCx 1 1/2 Hex BoIt
17 2 914004 3/8 UNCStover Nut
18 4 914008 112 UNCStover Nut
19 2 920002 3/8 SAE Flat Washer
20 2 002215 Cutter Stalk Guide Weldment
21 1 618574 7/8 MJIC x 3/4 MOR
22 1 438303 Hose Keeper RIng

(
., ,



c (

Det.

1
2

3

4

5

6

7

8
9

10
11
12
13
14
15

16
17
18
19
20

21

Qty,

1
1
2

2

2

4

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

~1ALE CORN CUTTER ASSEMBLY

PIN

270800 M Description

270805 D~~~ ~o~n Cutter Weldment

618241 3/4 u e WeIdment

900129 3/8 ~~~ x 900x 3/4 MJIC

900132 3/8 UNC x 1 Hex Bol t

914004 3/8 UNC x 1 3/4 Hex Bol t

618203 Lock Nut

002106 HYdrau II c Motor

650819 5/32 x 5/8 KeyCutting BI

092103 odes Decal

002104 Cutter Blade

002105 Clutch Adopter

002108 Lock Washer

002107 Flat Washer

618530 Cutte r Blade Bo I t
500900 ~~~ ~:~ x 9/~6 MJIC
270809 Male C x 90 Street Elbow

200015 AdJ orn Cutter Bracket

900273 1/2 u~~nt Tube Spacer

914008 1/2 UNC x 3 3/4 Hex Bol t

472349 Lock Nut1/4 x 3/4 Tek Screw

(



PERSSONEL CARRIER ASSEMBLY

DET. QTY PART NO. DESCRIPTION
-;

11001195 OUTRGR MT WLD

2

10012211 FRAME WLD RH OUTRGR PIC

3

1001225 FRAME WLD LH OUTRGR PIC

II
10012115 BRACE CLAMP WLD FOLD OUTRGR

5

20012116BRACE CLAMP PLT FOLD OUTRGR

6

1001358 TIE CLAHP WLD FOR .75 ROO
7

1001251 ARH BRACE WLO PIC FOLD OUTRGR
8

1001276 EXTEN ARH WLD PIC FOLD riUTRGR

9

1001255 CENTER TIE BAR WLD PIC

10

1001257 CYL PIN CLAHP WLD FOLD OUTRGR
11

2001259 STATION CLAHP WLD FOLD OUTRGR
12

1001287 BACK PLT PIC HINGE GUARD

13

1001283 HINGE GUARD WLD PIC

111

1656961 FOLD CYL GUARD WLDPER CARRIER

15

II0011101ENCLOSED 2-HAN STATION
16

II200015 ADJ TUBE SPACER3/110DXI1GAX3/8
17

11170002COTTER PIN 5/32 X 3 1/2

18

11170032 1/8 X 1 1/2 COTTER PIN

19

11170038COTTER PIN 1/8 X 1 3/11 LG

20

1920008 1 FLATWASHER SAE

21

1611016 HAIR PIN

22

11172206 PICKER PIN1 DIA X 2 1/11

23

II900333 5/8 UNC X 1 1/2 HEX BOLT

211

991110105/8 UNC STOVER NUT

~

251119002661/2 UNC X 1 3/11 HEX BOLT

rn
261620372 CUTR LIFT cn2 IN

27

2900000 1/11 UNC X 1/2 HEX BOLT

28

2900002 1/11 UNC X 3/11 HEX BOLT

29

1920000 1/11 FLAT WASH SAE

30

69111000 1/11 UNC STOVER NUT

31

2900276 1/2 UNC X 5 HEX BOLT

32

191110123/11 UNC STOVER NUT

33

6900263 1/2 UNC X 1 HEX BOLT

311

21191110081/2 UNC STOVER NUT

35

II900271 1/2 UNC X 3 1/11 HEX BOLT GR5

36

1001359 PIC WORK STN SHLD WLD

37

2900006 1/11 UNC X 1 3/11 HEX BOLT

38

II900279 1/2 UNC X 6 1/2 HEX BOLT
39

II90031155/8 UNC X 5 1/2 HEX BOLT

110

1001391 OUTER STN HT WLD 8200 LEG

111

1001393 OUTER STN LEG BRKT WLD 8200

112

11138165OUTRGR HOIST HINGE KEEPER

113

1001397 OUTER STN LEG BRKT UPPER KPR

1111

1001399 OUTER STN LEG BRKT LWR KPR

(J
.,

(
>.• ..'

()



( .I.)

.//

c.

FOLDCYLINDERPERSONNELCARRIER

Det.

Qty,PIN Description
1

1620371Tube Weldment
2

1620078Shaft Weldment
3

1620081Pi ston
4

28703261 5/8 x 2 O-Ring
12 5

38903261 5/8 x 2 Back-Up Washer
6

18701139/16 x 3/4 0- Ring
7

147229?3/4 UNF Lock Nut
8

1620082Gland
9

18902141 x 1 1/4 Back-Up Washer
10

18702141 x 1 1/4 O-Ring
11

16295052" Snap Ring
12

16290031 x 1 1/4 x 1/8 Wiper
13

16111229/16 MJIC x 90 x 1/4 NPT
14

14403389/16 MJI C x 90 x 1/4 NPT Tapped
15

1614366.042 Restrictor Elbow

NOte:

620372 - Cyl inder Assembly
620083 - Seal Kit



)7

15

~
CD

TASSELTROL SENSOR ASSEMBLY

Det.

Qty.PIN DescriPtion

)

12002515Sensor Flag Weldment

~\
21002630T- Trol Sensor Arm Weldment

3

4002663Sensor Clamp

4

2002587Hex Bearing Hanger
5

2002588Hanger Bearing
6

1002628Sensor Cross Tube

r

7
1002579PI vat Bracket

8

34739431 1/2 SQ. Plug
9

64739495/16 UNC x 1 9/16 U-Bol t

I

104629525Retainer Ring

11

149140025/16 UNC Lock Nut

12

2121011Shaft Bearing

I

13
1658174Rubber Plug

1,
1444701221/4-20 x 1/2 Flanged Hex Bol t

15

19002751/2 UNC x 4 1/2 Hex Bol t

16

44701211/4-20 Flanged Whiz Nut

17

29140081/2 UNC Lock Nut

18

1002595Smdll Pivot Bracket

19

29000655/16 UNC x 1 Hex Bol t

( (
\ .. ... ,

(,



(
- -·1 (

TASSELTROL CONTROL' BOX ASSEMBLY

Det. QtV.

1 2
2 2

3 1
4 8
5 4

6 8
7 12
8 2

9 4
10 2
11 2 .
12 2

13 2
14 2
15 2
16 2
17 2
18 4
19 4
20 2

PIN

002503

002505

470070

473994

293006

473993

910022

002536

473992

002500

002507

473933

002627

121011

629525

002509

473940

914000

900008

002589

Descrldtl'on

Swl tch Box Hal f

Swl tch Box End

Rubber Grornnet

#6-32 x 3/8 Hex Head Screw

Micro Switch

#6-32 x 1 1/8 Hex Head Screw

#6- 32 Hex Nut

AI r Pot Bracket

1/6-32 x 3/8 Hex Head Screw

AI r Pot

Stand Off

Push On Fastener

T- Trol Sensor Flag Shaft

Shaft Bearing

Retainer Ring

Can

Fastener Ring

1/4 UNC Lock Nut

1/4 UNC x 2 1/2 Hex Bol t

SPacer

-------- -------- ------- -- - - ---

Note: Each Swl tch Box Hal f Is Assent>led

Synmetrlcallv ()Pposl te.



-~

W
H
E
E
L

D
R
I
V
E

A
S
S
E
M
B
L
Y

-
4
3
7
6
1
7

~

W
I
A
4
4
0
1
1
8

I
T
E
M

P
A
R
T

N
O
.

Q
T
Y
.

D
E
S
C
R
I
P
T
I
O
N

1

6
1
0
1
5
6

1
H
u
b
-
S
p
i
n
d
l
e

S
u
b
-
A
s
s
e
m
b
l
y

.
l
A

6
1
0
0
5
21

.S
p
i
n
d
l
e

~,r

I
E

6
1
0
9
0
41

S
e
a
l

,V
l
C

6
1
0
9
0
51

B
e
a
r
i
n
g

C
u
p

I
D

6
1
0
9
0
6 1

B
e
a
r
i
n
g

C
o
n
e

I
E

6
1
0
9
0
7 1

B
e
a
r
i
n
g

C
u
p

I
F

6
1
0
9
0
8 1

B
e
a
r
i
n
g

C
o
n
e

I
G

6
1
0
0
4
7 1

H
u
b

I
E

t6
1
0
9
0
9

1
S
p
a
c
e
r

I
I
I

6
1
0
9
1
01

R
e
t
a
i
n
i
n
g

R
i
n
g

I
J

6
1
0
1
4
7 2

P
i
p
e

P
l
u
g

I
N

6
1
0
9
1
19

S
t
u
d

2
6
1
0
1
4
8

1
I
n
t
e
r
n
a
l

G
e
a
r

3
6
1
0
9
1
2

1
C
a
r
r
i
e
r

A
s
s
(
~
m
b
1y

4
6
1
0
9
2
9

1
R
i
n
g

G
e
a
]

5
6
1
0
9
0
3

2
0-

R
i
n
g

6
6
1
0
1
5
5

1
C
o
v
e
r

A
s
s
e
m
b
l
y

6
A

6
1
0
1
4
91

C
o
v
e
r

6
B

6
1
0
9
1
4 1

C
o
v
e
r

C
a
p

~
.-

6
C

6
1
0
1
5
0 4

B
o
l
t

I
./--

6
D

6
1
0
9
0
1 1

D
i
s
c
o
n
n
e
c
t

C
a
p

'-..I-J
6
E

6
1
0
9
1
5
·

1
D
i
s
c
o
n
n
e
c
t

R
o
d

6
F

6
1
0
9
1
6 1

O
-
R
i
n
g

6
G

6
1
0
9
1
7 1

.0-
R
i
n
g

6
H

6
1
0
1
5
1 1

P
i
p
e

P
l
u
g

6
J

6
1
0
1
5
2 1

I
D

P
l
a
t
e

7
(
)
1
0
1
5
8

1
I
n
p
u
t

S
h
a
f
t

A
s
s
e
m
b
l
y

7
A

6
1
0
1
5
9 1

I
n
p
u
t

S
h
a
f
t

7
B

6
1
0
9
3
6 2

R
e
t
a
i
n
i
n
g

R
i
n
g

7
C

6
1
0
1
4
51

S
p
r
i
n
g

7
0

6
1
0
1
5
32

S
p
a
c
e
r

8
6
1
0
9
1
9

1
I
n
p
u
t

G
e
a
r

9
6
1
0
9
2
0

1
T
h
r
u
s
t

S
p
a
c
e
r

1
0

6
1
0
9
2
1

1
T
h
r
u
s
t

S
p
a
c
e
r

1
1

6
1
0
9
2
2

2
T
h
r
u
s
t

W
a
s
h
e
r

1
2

6
1
0
9
3
0

1
2

B
o
l
t

1
3

6
1
0
9
2
3

4
S
h
o
u
l
d
e
r

B
o
l
t

1
4

6
1
0
9
3
1

1
C
o
:
u
p
l
i
n
g

1
6

6
1
0
0
4
9

1
6

F
l
a
t

W
a
s
h
e
r

~
.

1
7

6
1
0
1
6
0

1
R
e
t
a
i
n
i
n
g

R
i
n
g

-.,~
•.....

;<
-

,.,..
.~

-
50

-

~----""----



•

c c

ifj7Ca-@;-@
~}\~~

78

WIA INPUT SHAFT SUBASSEMBLY

-l" \}.\}.~\}. ~:\'r:;~
WIB INPUT SHAFT

COMPLETE ASSEMBLY

L
-- ~O~~ PUNCH MARKS

CARRIE R SUBASSEMBl.Y

30e35t6B TO I

REDUC T IONS

COVER SUBASSEMBLY

. THIS a_AWING "'''10 0&., ••••••1& '"I'•• &.~"C"&.."T" 0" /ANO ••••..•.•
P.o~.,c.'T .•.•y tr •• H.,... A.a. Rc. ••.• "c.a ,..1 ,"A'''''''C,-D ••••..•. c.o., 'file.
"' •• Co 1lC.~'~'C.N'T AG..ILLS NeT "'10Ol.c. •..e ••. "'10 ••••••• PL •• CM O.
Oa"'ANIZA'T,e •••••••• ..,h •••C•••••••T'O •• Ir •. Q •••• DI •••• .,.•••11.0&'151"" O.
MAH"'~"'C."T\I.& or "THe. A • ..,.'c •..&. wrc.P.e.&C.""TC.D H •.••. 10••• O. va •.
••••••••. , •• AN" WIO." O • ..,.C.RM •.••• .,. •••.. ,10 , ••••. , ••••• &•••.• .,. 0 ••
P •••.\.~\&\..O Ml"ca. CO" INC.

HUB- SPINDLE :>UB"SS.f.MBlY

ViEw OF SHOULDER SOL T

O •••"TE
10-8-73

FAIRFIIU_C MFCi. CO., 'NC.

LAFAVE.T"'TE., I "D. "'7~OS

TITLE'
SE RV IC ELITE R,i\T URE

aCI..CAUD W IA q, WI B



W
H
E
E
L

D
R
I
V
E

A
S
S
E
M
B
L
Y

-
6
1
0
5
1
6

W
I
B
F
N
0
3
2
4

I
T
E
M
S

D
E
S
C
R
I
P
T
I
O
N

'
P
A
R
T

N
O
.

Q
T
Y
.

1

H
u
b
-
S
p
i
n
d
l
e

S
u
b
-
A
s
s
e
n
b
l
y

------
l
A

S
p
i
n
d
l
e

6
1
0
1
5
8

l.
I
B

S
e
a
l

6
1
0
5
1
9

1

l
C

B
e
a
r
i
n
g

C
u
p

6
1
0
5
2
0

1

1
0

B
e
a
r
i
n
g

C
o
n
e

6
1
0
5
2
1

1
I
E

B
e
a
r
i
n
g

C
u
p

6
1
0
9
0
7

1
I
F

B
e
a
r
i
n
g

C
o
n
e

6
1
0
9
0
8

1

I
G

H
u
b

6
1
0
5
2
2

1
I
H

S
p
a
c
e
r

6
1
0
9
0
9

1
I
I

R
e
t
a
i
n
e
r

R
i
n
g
6
1
0
9
1
0

1
I
J

P
i
p
e

P
l
u
g

6
1
0
1
4
7

2
I
N

S
t
u
d

6
1
0
5
2
3

9
2

I
n
t
e
r
n
a
1

G
e
a
r

6
1
0
1
4
8

1

3
C
a
r
r
i
e
r

A
s
s
e
m
b
l
y

6
1
0
9
3
3

1
4

R
i
n
g

G
e
a
r

6
1
0
9
3
7

1
5

O
-
R
i
n
g

6
1
0
9
0
3

2

6
C
o
v
e
r

A
s
s
e
m
b
l
y

6
1
0
1
5
5

1
6
A

C
o
v
e
r

6
1
0
1
4
9

1
6
B

C
o
v
e
r

C
a
p

6
1
0
9
1
4

1 /-
6
C

B
o
l
t

6
1
0
1
5
0

4
"-.-J

6
0

D
i
s
c
o
n
n
e
c
t

C
a
p 6
1
0
9
0
1

1

6
E

D
i
s
c
o
n
n
e
c
t

R
o
d6
1
0
9
1
5

1

6
F

O
-
R
i
n
g

6
1
0
9
1
6

1

6
G

O
-
R
i
n
g

6
1
0
9
1
7

1

6
H

P
i
p
e

N
i
p
p
l
e

6
1
0
1
5
1

1

6
1

1
0

P
l
a
t
e

6
1
0
1
5
2

1

7
I
n
p
u
t

S
h
a
f
t

A
s
s
e
m
b
l
y

6
1
0
0
4
8

1

7
A

I
n
p
u
t

S
h
a
f
t

6
1
0
0
4
6

1

7
B

R
e
t
a
i
n
i
n
g

R
i
n
g 6
1
0
9
3
6

1

7
C

S
p
r
i
n
g

6
1
0
1
4
5

1

7
0

S
p
a
c
e
r

6
1
0
1
5
3

2
8

'
I
n
p
u
t

6
1
0
9
1
9

1

9
T
h
r
u
s
t

S
p
a
c
e
r

6
1
0
9
2
0

1
1
0

T
h
r
u
s
t

S
p
a
c
e
r

6
1
0
9
2
1

1
1
1

T
h
r
u
s
t

W
a
s
h
e
r

6
1
0
9
2
2

2
1
2

B
o
l
t

6
1
0
9
3
0

1
2

1
3

S
h
o
u
l
d
e
r

B
o
l
t

6
1
0
9
2
3

4
1
4

C
o
u
p
1
i
n
g

6
1
0
0
3
7

1
1
6

F
l
a
t

W
a
s
h
e
r

6
1
0
0
4
9

1
6

-
5
2
-



IJ

N
O

T
IC

E

T
he

follow
ing

four
pages

contain
decals

fQ
rthe

1989
8200

..
,'

•
~

j

T
hese

decals
can

be
obtained

from
H

agie
M

fg.
C

o.and
should

be
used

w
henever

your
m

achine
is

repainted
or

w
hen

the.decals
becom

e
w

orn,
w

eathered
or

faded.

S
pecial

attention
should

be
paid

to
decals

in-
[.

volving
personal

safety.
T

hey
have'

been
attached

for
your

protection.

K
E

E
P

T
H

E
M

IN
P

LA
C

E
:

C
ontact:

H
agieM

anufacturing
C

o.
B

ox
273,C

larion,
Iow

a
50525

-
5
3

-



A CAUTION
CUTTING BLADES MUST OPERATE

IN CORRECT DIRECTION

650867 - 8200 Decal

"\
BLADE ROT A TlON
LEFT OF OPERA TOR

FRONTi
BLADE ROT A TION
RIGHT OF OPERA TOR 650821 - Fol dIng Outrl gger Decal

(

650303 - Cutter Blade RotatIon Decal

A CAUTION

650982 - Electrl cal System Decal

A WARNING

650847 - No Passenger Decal

A CAUTION

650848 - SliD Or Fall Decal

650858 - Ether Decal

( }

650849 - EngIne Fuel Decal

650852 - Read Manual Decal

(



c ( c

I
KEEP AWAY­

CUTTING
BLADES

650819 - Cutting Blade Decal

A CAUTION

650820 - Moving Ports Decal

650819P01

SHIELDS ARE FOR
YOUR PROTECTION.
KEEP THEM IN
PLACE.

CAUTION
BEFORE ENGAGING HYDRAULIC MOTORS

1. Reduce Engine Speed To An Idle
2. Clear Area Of Unauthorized

Personnel

650955 - S low Engine To Idle Decal

A CAUTION

m

DIESEL

GASOLINE
650953 - Gasoline Decal

650954 - Diesel Decal

t'0RWARU

V

ARISTA
_N_Y S

~

E
VERSE

M.P.H.

OFF

R.P.M.

t'AST

11'

650967 - Throttle Decal

650931 - 1 3/4 x 4 Hogle Decal

650981 - Cooling Ststem Decal

LEFT
FOLD

IN OUT

RIGHT "\
FOLD

650939 -Speedometer & Tach Decal

650891 -' Outrigger Fold Decal

RIGHT I

ITRAC ¥LV I

650814 - Park Broke Decal

7

, I 8
I I 9/

,,-
......10

650957 - 011 Decal

PARKING

BRAKE

650851 - Shields Decal

CENTER

6
5 \ \

4 ",
3~ •

2- HAGlE-11

1 ......

-12

,,-

..••..

0"-

'13

MPH

650871 - Left, Center. And Right Decal

IFLASHER'

I LEFT

650977 - Flasher Decal 650872 - Traction Valve Decal

650958 - Generator Decal

UP

DOWN

!

IAUTO MANUAL I

650870 - Auto/Manual Decal

RIGHI ••, I

CHOKEo
650881 - Choke Decal

Keep wheel bolts tight.
See owner's manual for

torque specifications.

650307 - Left/RI ght Decal

I LEFT

U1
U1

650879 - UP And Down Decal

650985 - Wheel Bol t Torque Decal
650935 - Speedometer Decal 650968 - Hydrostatic Decal



8
2
0
0

D
e
c
a
l
s

P
a
r
t

N
o
.

Q
t
y
.

6
5
0
8
1
4

1

6
5
0
8
4
7

2

6
5
0
8
4
8

1

6
5
0
8
4
9

1

6
5
0
8
5
2

1

6
5
0
8
6
5

2

6
5
0
8
6
7

2

6
5
0
8
8
.
1

l

6
5
0
9
5
3

.
1

6
5
0
8
7
2

.
1

6
5
0
9
5
7

1

6
5
0
9
5
8

1

6
5
0
9
6
7

1

6
5
0
9
6
8

1

6
5
0
9
7
7

l

6
5
0
~
8
l

1

6
5
0
9
8
2

l

6
5
0
9
8
5
,

4

6
5
0
8
7
0

l

6
5
0
8
7
1

1

6
5
0
8
9
1

1

6
5
0
8
7
9

1

6
5
0
3
0
8

1

6
5
0
8
2
0

6

6
5
0
8
2
l

.
1

6
5
0
9
3
1

6

6
5
0
8
1
9

8

6
5
0
8
5
1

8

6
5
0
3
0
7

l

6
5
0
3
0
3

6

6
5
0
9
3
9

.
1

6
5
0
9
5
5

.
1

6
5
0
8
5
8

.
1

6
5
0
9
5
4

l

D
e
s
c
r
i
p
t
i
o
n

P
a
r
k

B
r
a
k
e

D
e
c
a
l

N
o

P
a
s
s
e
n
g
e
r

D
e
c
a
l

S
l
i
p

O
r

F
a
l
l

D
e
c
a
l

E
n
g
i
n
e

F
u
e
l

D
e
c
a
l

R
e
a
d

M
a
n
u
a
l

D
e
c
a
l

H
a
g
i
e

D
e
c
a
l

8
2
0
0

D
e
c
a
l

C
h
o
k
e

D
e
c
a
l

G
a
s
o
l
i
n
e

D
e
c
a
l

T
r
a
c
t
i
o
n

V
a
l
v
e

D
e
c
a
l

O
i
l

D
e
c
a
l

G
e
n
e
r
a
t
o
r

D
e
c
a
l

T
h
r
o
t
t
l
e

D
e
c
a
l

H
y
d
r
o
s
t
a
t
i
c

D
e
c
a
l

F
l
a
s
h
e
r

D
e
c
a
l

C
o
o
l
i
n
g

S
y
s
t
e
m

D
e
c
a
l

E
l
e
c
t
r
i
c
a
l

S
y
s
t
e
m

D
e
c
a
l

W
h
e
e
l

B
o
l
t

T
o
r
q
u
e

D
e
c
a
l

A
u
t
o
/
M
a
n
u
a
l

D
e
c
a
l

L
H
,

C
T
R
,

A
n
d

R
H

D
e
c
a
l

F
o
l
d
-
D
e
c
a
l

U
p
'
A
n
d

D
o
w
n

D
e
c
a
l

L
e
f
t
,

L
C
T
R
,

R
C
T
R
,

R
i
g
h
t

C
a
u
t
i
o
n

-
M
o
v
i
n
g

P
a
r
t
s

W
a
r
n
i
n
g

O
u
t
r
i
g
g
e
r

D
e
c
a
l

H
a
g
i
e

D
e
c
a
l

1
3
/
4

x
4

D
a
n
g
e
r

-
C
u
t
t
i
n
g

B
l
a
d
e
s

S
h
i
e
l
d

D
e
c
a
l

L
e
f
t
-
R
i
g
h
t

D
e
c
a
l

C
u
t
t
e
r

B
l
a
d
e

R
o
t
a
t
i
o
n

S
p
e
e
d

&
T
a
c
h

D
e
c
a
l

S
l
o
w

E
n
g
i
n
e

T
o

I
d
l
e

D
o

N
o
t

U
s
e

E
i
t
h
e
r

D
i
e
s
e
l

D
e
c
a
l

L
o
c
a
t
i
o
n

'
N
e
a
r

P
a
r
k
i
n
g

B
r
a
k
e

L
e
v
e
r

'
(1
)

-
L
e
f
t

R
e
a
r

L
e
g

(
1
)

-
L
e
f
t

O
f

O
p
e
r
a
t
o
r

S
t
a
t
i
o
n

O
n

U
p
p
e
r

L
e
f
t

S
i
d
e

R
a
i
l

N
e
a
r

F
u
e
l

T
a
n
k

N
e
c
k

T
o
p

O
f

O
p
e
r
a
t
o
r

S
t
a
t
i
d
~

~

O
n

S
i
d
e

O
f

T
o
p

E
n
g
i
n
e

C
o
v
e
r

O
n

S
i
d
e

O
f

T
o
p

E
n
g
n
i
e

C
o
v
e
r

O
n

C
o
n
s
o
l
e

S
h
e
e
t

M
e
t
a
l

N
e
a
r

F
u
e
l

F
i
l
l
e
r

N
e
c
k

O
n

C
o
n
s
o
l
e

S
h
e
e
t

M
e
t
a
l

O
n

C
o
n
s
o
l
e

S
h
e
e
t

M
e
t
a
l

O
n

C
o
n
s
o
l
e

S
h
e
e
t

M
e
t
a
l

O
n

C
o
n
s
o
l
e

S
h
e
e
t

M
e
t
a
l

O
n

C
o
n
s
o
l
e

S
h
e
e
t

M
e
t
a
l

O
n

C
o
n
s
o
l
e

S
h
e
e
t

M
e
t
a
l

N
e
a
r

R
a
d
i
a
t
o
r

C
a
p

L
e
f
t

H
a
n
d

S
i
d
e

O
f

O
i
l

T
a
n
k

O
n
e

E
a
c
h

W
h
e
e
l

R
i
m

O
n

C
o
n
s
o
l
e

S
h
e
e
t

M
e
t
a
l

O
n

C
o
n
s
o
l
e

S
h
e
e
t

M
e
t
a
l

O
n

C
o
n
s
o
l
e

S
h
e
e
t

M
e
t
a
l

O
n

C
o
n
s
o
l
e

S
h
e
e
t

M
e
t
a
l

O
n

C
o
n
s
o
l
e

S
h
e
e
t

M
e
t
a
l

P
u
l
l
e
r

H
e
a
d

M
o
u
n
t
i
n
g

B
a
r

O
n

F
r
o
n
t

O
f

O
p
e
r
a
t
o
r

S
t
a
t
i
o
n

F
r
o
n
t

S
h
i
e
l
d

O
f

R
o
l
l
e
r

A
s
s
e
m
b
l
y

R
H

A
n
d

L
H

S
i
d
e

O
f

C
u
t
t
e
r

S
h
i
e
l
d
s

(
2
)

-
O
n

S
i
d
e

O
f

T
o
p

E
n
g
i
n
e

C
o
v
e
r

(
6
)

-
O
n

R
o
l
l
e
r

S
h
i
e
l
d
s

O
~

C
o
n
s
o
l
e

S
h
e
e
t

M
e
t
a
l

O
n

C
e
n
t
e
r

O
f

C
u
t
t
e
r

H
e
a
d
s

O
n

C
o
n
s
o
l
e

S
h
e
e
t

M
e
t
a
l

T
o
p

F
r
o
n
t

O
f

O
p
e
r
a
t
o
r

S
t
a
t
i
o
n

,
T
O
p
F
r
o
n
t

O
f

O
p
e
r
a
t
o
r

S
t
a
t
i
o
n

N
e
a
r

F
u
e
l

F
i
l
l
e
r

N
e
c
k

-
5
6
-



-rr-~-----'-,--------~--------rr:-----~----~(-r--
LT. WORKLIGHT

NOT USED
6RAY

291149-
OPERATOR STATION
WIRE HARNESS

11C WORKLI6HT

NOTE: ITEMS SHOWN AS DASHED

LINES ARE USED WITH

RIGHT HAND FUEL TANK
OPTION.

ORANGE STRIPE

32

POSITRACT ION VALVE

MOTOR CONTROL
VALVE

LT. FUEL SENDER

BROWN

LT. REAR TAIL LIGHT

BROWN

OIL SENDER
21

AL TERNATOR

TACHOMETER
SENDER

BLACK SP~r::~TER

WHITE

RH. FUEL SENDER,...•I '-I \, '"

RH. REAR TAIL LIGHT

33 I 29142216 GA. RED x 12

321

291468TRAcr VLIl 6R D.WIRE ASSY.
31 I

291467TRACT. VLII. WIRE AS5¥

IX I

29113S14 GA. WHITE.S"
1251

29111316 GA.RED.24 '

121: I

291/7S14GA RED.""

21 I
29127716 GA. BWE-I4"

~I

291460166A BLUE-I!i9

~I
29/~ 146A BI:IJCK-S"

2tl1

29/41616 GA REO -/4"

:J3 I
29113916 54 WHI TE -/6"

221

29114016 GA WHITE - 5"
21 I

291421155A GREEN-6"

2C4
29148414GA RED-3-

19 2
29143S15GARED-6"

18 I

2911S1HEADLIGHT WIRE ASSY.
11 I

29114714 6A. YELLOW -8-
15 I

290 II IGROUND STRAP

15 I
29112848" BATTERY CABLE

14 I

29145310 GA. BWE'53"

13 I

29146114 GA. REO If Ie-
12 I

291278iO GA. REO ,12"

II I

29/216 10 GA. BWE-14-

10 I

29145414 GA. WHITE 11 17M

9 I

29113714 GA. BLUE - 5"
8

I291148 16 GA. RED" 8"

7
I 291176 14 GA RED-4"

6
2 291037 16 GA BWE.9-

5
I 291135 14 GA. BWE'IIIZ-

4

I 291442 15 GA REO 11 9-

3 2
29144 I14 GA GREEN - 9"

2 I

29144016 GA. REO. 6"

I 2

291443 14 6A. REO -10"

WIRING D/AGRAM-8200-86CHRYSLER
x... !l-/!r&S"

1I<i"'5,...., [)Ant" ~ 4'162.22.



R
O

W
U

N
IT

C
O

N
T

R
O

L
B
O
X

R
O

W
U

N
IT

C
O

N
T

R
O

L
B
O
X

"
.

I
~

F
LA

6
S

W
IT

C
H

B
O

X
H

A
R

N
E

S
S

P
IN

293010

T
O

C
O

N
S

O
LE

C
O

N
T

R
O

L
B

O
X

W
IR

E
H

A
R

N
E

S
S

P
IN

293001

R
O

W
U

N
IT

C
O

N
T

R
O

L
B
O
X

V
IE

W
A

-A

W
IR

E
C

O
D

E
1-

W
H

IT
E

2
-

B
LA

C
K

3
-

6R
E

E
N

JU
M

P
E

R
W

IR
E

P
IN

293016

T
O

A
lX

'.
T

E
R

M
IN

A
L

16N
IT

IO
N

S
W

I
T

C
H

6N
D

E
LE

C
T

R
O

H
Y

D
R

A
Lt..IC

S
T

A
C

K
V

A
LV

E-
58

-

T
A

S
S

E
LT

R
O

L
M

A
IN

H
A

R
N

E
S

S
P

IN
293009

R
E

D

B
LA

C
K

B
R

O
W

N

"'-
V

A
LV

E
H

A
R

N
E

S
S

P
IN

293008



•

1

I:~
~~r

)I}I~

~
Il

J <
)

"
5
,

~

I
.

~
III]

I

59
-

-
1

-I

\



32
20

19

60

18

•
P
i
N

6
1
8
3
1
5

U
S
E
D

O
~
l
Y

W
IT

H
S

T
R

A
IG

H
T

LE
G

O
P

T
IO

N
.



8
2
0
0

B
A
S
I
C

M
A
C
H
I
N
E

H
Y
D
.

S
C
H
E
M
A
T
I
C

1
9
8
8

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
2
7
3

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
0
6
8
8
2
S
U
N
D

2
3

S
E
R

P
U
M
P

B
-
M
T

4
8

1
5
0
5
2
0
3
B
L
K

P
I
P
E

N
I
P
P
L
E

1
N
P
T
-
4

I
N

2

R
E
F
E
R

T
O

O
P
T
I
O
N

H
Y
D

S
C
H
E
M
A
T
I
C

4
9

1
5
0
6
6
0
2
P
I
P
E

N
I
P
P
L
E

1
1
/
4
N
P
T
-
2

1
/
2

3

2
6
1
0
0
3
0
S
U
N
D

W
H
L

M
T
R

E
X
T
E
N

S
H
A
F
T

1
8

5
0

1
5
0
6
3
0
3
B
L
K

P
I
P
E

E
L

9
0
D
E
G

1
1
/
4
N
P
T

4

2
6
1
0
0
2
9
S
U
N
D

W
H
L

M
T
R

1
5

S
E
R
I
E
S

5
1

1
5
0
6
4
1
0

B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

5

1
7
4
9
1
5
0
S
T
R
G

M
T
R

N
O
N
-
L
O
A
D

R
E
A
C
T

1
0
0
8

5
2

1
7
1
5
6
6
4
1

H
O
S
E

B
A
R
B
-
1

1
/
4
M
N
P
T

6

1
6
1
5
6
1
2
L
A
R
G
E

H
Y
D
R
A
U
L
I
C

M
A
N
I
F
O
L
D

5
3

1
6
1
8
3
1
2
1

5
/
1
6
M
O
R
-
1

1
/
1
6
F
O
R

A
D
P
T
R

7

1
6
1
8
0
8
8
O
I
L

C
O
O
L
E
R

B
L
I
S
S
F
I
E
L
D

5
4

2
7
1
4
3
3
1
3
/
4

H
O
S
E
·
B
A
R
B
-
1
M
N
P
T

8

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

5
5

1
6
1
8
5
8
8
1

5
/
1
6
M
O
R
-
1

5
/
1
6
F
J
I
C

S
W
I
V

9

1
7
6
0
0
9
7
O
I
L

T
A
N
K

W
L
D

8
2
4
0

1
9
8
2

5
6

4
5
0
5
2
1
3
R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L

1
0

2
6
2
0
0
8
0
S
T
R
G

C
Y
L

A
S
S
Y

1
.
5
0

X
6
.
0

1
9
8
5

5
7

1
6
1
8
3
1
3
1

1
/
1
6
M
J
I
C
-
4
5
-
1

1
/
1
6
M
O
R

L
B
O

1
1

1
6
0
5
6
0
0
M
I
C
H
I
G
A
N

R
E
S
E
R
V
O
I
R

F
I
L
T
E
R5
8

1
5
0
5
2
0
1
C
L
O
S
E

N
I
P
P
L
E

1
N
P
T

1
2

2
6
0
5
6
0
3
L
I
N
E

S
U
M
P

D
I
F
F
U
S
E
R

5
9

1
5
0
5
1
0
1
B
L
K

P
I
P
E

T
E
E

1
N
P
T

1
3

1
6
1
1
0
5
1
P
R
E
S
S
U
R
E

C
A
P

3
/
4
N
P
T

5
L
B

6
0

1
5
0
5
0
0
6
R
E
D

B
U
S
H

1
M
N
P
T

T
O

1
/
4

F
N
P
T

1
4

1
6
1
4
4
5
3
D
I
P
S
T
I
C
K
,

B
I
N

6
1

1
6
1
8
5
2
0
1
/
4
M
N
P
T

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

1
5

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C

X
1

5
/
1
6
M
O
R

6
2

4
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
N
P
T

1
6

1
6
1
0
5
1
3
P
O
S
I
T
R
A
C
T
I
O
N

V
L
V

W
/
B
Y

P
A
S
S 63

1
6
1
0
3
0
0
3
/
4
M
J
I
C
-
3
/
4
M
N
P
T

A
D
P
T
R

1
7

1
6
1
0
4
6
8
P
O
S
I
T
R
A
C
T
I
O
N

V
L
V

M
O
D

C
O
N
T

2
0
G

6
4

1
7
1
4
5
6
0
1

H
O
S
E

B
A
R
B
-
1
M
N
P
T

1
8

1
6
1
4
5
7
1
0
6
R
L
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
2
6
H
/
A

6
5

1
6
1
8
0
9
0

1
5
/
1
6
M
O
R
-
1
F
N
P
T

A
D
P
T
R

1
9

1
6
1
4
5
7
2
0
6
R
L
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
4
0
H
/
A

6
6

4
6
1
8
3
0
2
1

1
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

2
0

8
6
1
4
5
7
3
0
8
C
2
A
T
-
0
8
F
J
X
-
1
0
F
J
X
-
1
1
4

H
/
A

6
7

4
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

2
1

2
6
1
6
0
5
6
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
3
2H
/
A

6
8

1
6
1
8
5
4
0
7
/
8
M
O
R

P
L
U
G

2
2

1
6
1
4
6
2
3
1
0
C
1
T
-
1
0
F
J
X
-
1
0
F
J
X
-
8
0H/
A

6
9

1
5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
.
0
0
N
P
T

2
3

1
6
1
1
1
2
8
7
/
8
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

7
0

1
6
1
8
2
4
8

1
1
/
1
6
M
J
I
C
-
9
0
-
1

1
/
1
6
M
O
R

L
B
O

2
4

2
6
1
6
0
2
6
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
3
7H
/
A

7
1

2
6
1
8
3
0
9
7
/
8
M
J
I
C
-
1

1
/
1
6
M
O
R

A
D
P
T
R

2
5

2
6
1
5
4
4
2
0
4
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
5
5H
/
A

7
2

1
6
1
0
1
8
6
1

1
/
1
6
M
O
R

P
L
U
G

2
6

2
6
1
4
5
7
0
0
6
R
L
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
1
2

H
/
A

7
3

4
6
1
8
5
5
3
1

1
/
1
6
M
J
I
C
-
7
/
8
M
J
I
C

R
E
D
U

U
N
I
O
N

'-J
.
2
7

1
6
1
5
4
7
3
0
6
C
1
T
-
0
6
F
J
X
-
0
8
F
J
X
-
1
8H
/
A

7
4

1
7
1
6
0
0
0
3
/
4

H
O
S
E

B
A
R
B
-
9
0
-
1
M
N
P
T

2
8

1
6
1
1
2
6
0
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
4
4H
/
A

7
5

1
5
0
4
7
0
2
C
L
O
S
E

N
I
P
P
L
E

3
/
4
N
P
T

2
9

1
6
1
6
0
3
2
0
8
C
1
A
-
0
8
F
J
X
-
0
8
F
J
X
-
6
6H
/
A

7
6

1
5
0
4
9
5
5
B
L
K

P
I
P
E

T
E
E

3
/
4
N
P
T

3
0

1
6
1
6
0
4
0
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
6
7H
/
A

7
7

2
6
1
8
5
7
7
1

~
/
1
6
M
J
I
C

U
N
I
O
N

3
1

2
6
1
4
2
8
9
1
2
C
1
2
-
1
2
F
J
X
-
1
2
F
J
X
-
1
9H
/
A

7
8

2
6
1
8
3
1
1
3
/
4
M
J
I
C

U
N
I
O
N

T
E
E

3
2

1
6
1
4
4
2
5
0
8
C
1
T
-
0
8
F
J
X
-
0
8
F
J
X
-
1
3
2
H
/
A

7
9

3
6
1
8
4
8
2
3
/
4
F
J
I
C
-
9
/
1
6
M
J
I
C

A
D
P
T
R

3
3

1
6
0
1
1
1
7
H
O
S
E
,

1
.
0
0

2
B
R

R
E
D

X
3
7

L
G
8
0

4
6
1
8
1
0
9
9
/
1
6
M
J
I
C
-
3
/
4
M
O
R

A
D
P
T
R

3
4

1
6
0
1
1
9
8
H
O
S
E
,

3
/
4

2
B
R

R
E
D

X
1
1
0

8
1

3
6
1
0
1
9
3
9
/
1
6
M
J
I
C

B
L
K
H
D

B
R
A
N
C
H

T
E
E

3
5

1
6
1
8
5
8
9
7
/
8
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O
8
2

4
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O

3
6

1
6
0
1
2
7
6
H
O
S
E
,

.
7
5

2
B
R

R
E
D

X
3
2

8
3

4
6
1
8
3
1
5
3
/
4
M
J
I
C
-
4
5
-
3
/
4
M
O
R

L
B
O

3
7

2
6
1
4
5
7
4
H
Y
D

T
U
B
E

A
S
S
Y

L
W
R

8
2
0
0

F
R
T
L
E
G

8
4

1
6
1
8
0
5
9
7
/
8
M
J
I
C
-
3
/
4
M
N
P
T

A
D
P
T
R

3
8

2
6
1
4
5
7
5
U
P
P
E
R

H
Y
D

T
U
B
E
A
S
S
Y

8
2
0
0
F
R
T
L
E
G

8
5

1
6
1
8
5
2
9
1

1
/
1
6
M
J
-
4
5
-
1

1
/
1
6
F
J

S
W
I
V

L
B
O

3
9

1
6
1
5
5
6
8
H
Y
D

T
U
B
E

S
U
N
D

P
U
M
P

8
2
4
0

R
H
8
6

1
6
1
8
4
5
1
3
/
4
F
J
I
C

S
W

R
U
N

T
E
E
-
3
/
4
M
J
I
C

4
0

1
6
1
5
5
6
9
H
Y
D

T
U
B
E

S
U
N
D

P
U
M
P

8
2
4
0

L
H
8
7

1
6
1
4
6
3
4
S
T
E
E
L

P
I
P
E

T
E
E

W
L
D

8
2
0
0

4
1

1
6
1
4
6
2
8
R
H

H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

M
A
I
N

D
R

8
8

3
/

6
1
0
3
0
5

3
/
4
M
J
I
C
-
9
0
-
3
/
4
M
N
P
T

L
B
O

4
2

1
6
1
4
6
2
9
L
H

H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

M
A
I
N

D
R

8
9

1
6
1
8
3
2
2
1

5
/
1
6
M
J
I
C
-
1
M
N
P
T

A
D
P
T
R

4
3

4
6
1
1
1
5
9
3
/
4
M
O
R

P
L
U
G

9
0

2
6
1
8
4
7
0
3
/
4
M
J
I
C
-
1

5
/
1
6
M
O
R

A
D
P
T
R

4
4

4
6
1
1
1
2
5
3
/
4
M
J
I
C
-
3
/
4
M
O
R

A
D
P
T
R

9
1

2
6
1
8
5
4
1
1

5
/
1
6
F
J
I
C
-
1

1
/
1
6
M
J
I
C

A
D
P
T
R

4
5

4
6
1
8
4
9
6
9
/
1
6
M
J
I
C
-
4
5
-
3
/
4
M
O
R

L
B
O

9
2

1
6
1
8
5
3
5
7
/
8
M
J
I
C
-
9
0
-
1

1
/
1
6
M
O
R

L
B
O

4
6

1
5
0
1
1
0
2
1
/
4

P
I
P
E

P
L
U
G

9
3

1
6
1
8
5
7
6
1

5
/
1
6
M
J
I
C
-
9
0
-
1

1
/
1
6
M
O
R

L
B
O

4
7

4
5
0
5
3
0
0
B
L
K

P
I
P
E

E
L

9
0
D
E
G

1
N
P
T

-
6
1
-



·:-••1.•••:.'••
if,'

.

j.

24

60

60

a:::

:Ie

(!)
Z

Z

0
~

ffi
(!)

b

z

::::1:

..J

~
a:

..J

6

w

w

w

g
g

~

W

J::;:

::::1:

0

:::!:

a:::

0

lL
..

a:::

lL
..

:Ie
Z~..J

I
6

'j.

:::!:

0 a::: lL..
I

~
..;.

~
\

62

a:::

~
N

O
T

E
:

••
R

E
LIE

F
P

R
E

S
S

U
R

E
S

H
O

U
LD

g
B

E
'

S
E

T
A

T
1800

P
S

I.
o..J6oI-



-
63

-



a::
:I<

:
C

>
0

Z
z

b
~

a=
~

...J
W

W
...J

0
In

w
w

0
0

:I:
I-

=
=

I-
~

0IE
I

I

~
~

~
~

~
:I<

:
0

Z
II

28
a::

~
--

-
u...

...J
o·~ 0 a:: u...1

~

64
-

61

ffi
N

O
T

E
:

**
R

E
LIE

F
P

R
E

S
S

U
R

E
S

H
O

U
LD

c5
B

E
S

E
T

A
T

1800
P

S
I.

ou...J

ooI-

---.



8
2
0
0

4
R

R
O
L
L
E
R

W
/
T
-
T
R
O
L

H
Y
D

S
C
H
E
M

8
9

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
2
9
0

'-.J
D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
1
0
5
3
2
E
L
E
C
T

H
Y
D

S
T
A
C
K

V
L
V

W
/
A
D
J

8
9

3
4
1

5
0
0
0
0
0

1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

2

1
6
1
0
5
2
4
S
U
N
D

G
E
A
R

P
M
P

4
.
3
7

C
I

S
P
L
I
N
E
D

3
5

2
5
0
0
0
0
5
C
A
P

N
U
T

.
6
8
8
F
P
S

N
Y
L
O
N

3

1
6
0
6
8
7
3
F
L
O

D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T

3
6

1
5
0
5
2
1
3
R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L

4

1
6
0
7
5
0
4
F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7
/
8

F
O
R

3
7

1
6
1
8
5
7
9

1
1
/
1
6
F
J
I
C

S
W
I
V
-
3
/
4
M
N
P
T

5

1
6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

3
8

1
6
1
8
3
1
0
9
/
1
6
M
J
I
C
-
7
/
8
M
O
R

A
D
P
T
R

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

3
9

3
6
1
8
2
7
9
1

1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

*
7

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

4
0

2
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

8

1
6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

4
1

1
6
1
8
0
7
2
7
/
8
M
O
R
-
1
/
2
F
N
P
T

A
D
P
T
R

9

1
6
1
0
4
4
7
H
Y
D

F
I
L
T
E
R
,
I
N
L
I
N
E

1
/
4
F
N
P
T

9
0
M

4
2

1
6
1
8
6
0
0
9
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

1
0

2
6
2
0
9
0
0
C
Y
L

A
S
S
Y

C
C
2
0
1
6

0
0
0

S
R
G

1
8
0

4
3

6
6
1
8
1
1
9
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

L
B
O

1
1

4
6
1
0
0
5
1
H
Y
D

M
O
T
O
R
,

B
A
R
N
E
S

1
1
6
0
0
4
7 4
4

1
6
1
8
1
7
0
3
/
4
M
O
R
-
9
/
1
6
F
O
R

A
D
P
T
R

*
1
2

1
6
1
4
3
4
8
1
6
C
1
T
~
1
6
F
J
X
-
1
6
F
J
X
-
2
5H/
A

4
5

1
6
1
8
5
6
2
9
/
1
6
M
O
R
-
9
0
-
1
/
4
M
N
P
T

L
B
O

1
3

2
6
1
8
5
7
8
1

1
/
1
6
F
J
I
C

S
W
I
V
-
1

1
/
1
6
M
O
R

I
4
6

1
6
1
0
1
8
5

9
/
1
6
M
O
R

P
L
U
G

1
4

2
6
1
0
5
0
4
P
R
E
S
S

C
O
M
P

F
I
X
E
D

F
L
O

R
E
G

M
/
C

4
7

3
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O

1
5

1
5
0
6
2
0
0
C
L
O
S
E

N
I
P
P
L
E

1
1
/
4
N
P
T

*
4
8

1
6
0
1
2
8
9
H
O
S
E
,

1
1
/
4

X
1
4
4

2
B
R

R
E
D

1
6

1
5
0
6
7
0
1
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

4
9

6
6
1
1
1
2
8
7
/
8
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

1
7

1
5
0
6
4
0
9
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
1
/
4
N
P
T

5
0

2
7
3
7
8
1
0
N
O
Z
L

B
O
D
Y

.
2
5
N
P
T

N
Y
L
O
N

*
1
8

2
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
1

1
/
4
M
N
P
T 5
1

2
6
1
8
0
1
9
9
/
1
6
M
J
I
C

U
N
I
O
N

T
E
E

1
9

1
5
,
0
6
0
0
5
R
E
D

B
U
S
H

1
1
/
4

T
O

1
B
L
K

M
A
L

5
2

1
6
1
0
1
9
3

9
/
1
6
M
J
I
C

B
L
K
H
D

B
R
A
N
C
H

T
E
E

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
N
P
T5
3

1
6
1
5
4
7
3
0
6
C
1
T
-
0
6
F
J
X
-
0
8
F
J
X
-
1
8H
/
A

2
1

1
7
1
4
3
3
1
3
/
4

H
O
S
E

B
A
R
B
-
1
M
N
P
T

*
5
4

1
6
1
8
5
7
7
1

5
/
1
6
M
J
I
C

U
N
I
O
N

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

*
5
5

1
6
1
4
6
3
0
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

*
2
3

1
6
1
8
1
4
4
1

1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
5
6

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

2
4

1
6
1
8
5
9
6
1

5
/
8
M
O
R
-
1

1
/
4
F
N
P
T

A
D
P
T
R *
5
7

1
6
1
4
6
3
2
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

*
2
5

2
6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

5
8

2
6
1
4
6
3
9
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
2
6

H
/
A

*
2
6

3
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

5
9

4
6
1
6
0
2
7
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
3
9H
/
A

\J
*
2
71

5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
N
P
T6
0

2
6
1
4
6
2
3
1
0
C
1
T
-
1
0
F
J
X
-
1
0
F
J
X
-
8
0H/
A

*
2
8

3
6
1
8
3
2
2
1

5
/
1
6
M
J
I
C
-
1
M
N
P
T

,
A
D
P
T
R

6
1

4
6
1
4
5
0
7
1
0
C
1
A
-
1
0
F
J
X
-
1
0
F
J
X
-
1
6
8

H
/
A

2
9

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C
-
1

5
/
1
6
M
O
R

A
D
P
T
R 62
'

2
6
1
4
1
0
1
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
3
3

H
/
A

3
0

4
6
1
8
3
0
9
7
/
8
M
J
I
C
-
1

1
/
1
6
M
O
R

A
D
P
T
R
*
6
3

1
6
1
4
6
2
7
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5H
/
A

3
1

2
6
1
0
1
8
6
1

1
/
1
6
M
O
R

P
L
U
G

*
6
4

1
6
1
4
6
2
6
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8H
/
A

3
2

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

*
6
5

1
6
1
4
6
2
5
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
0

.
H
/
A

3
3

2
7
3
8
8
5
9
S
T
R
A
I
N
E
R

5
0

M
E
S
H

N
Y
L
O
N

'JJ'

-
6
5
-



Q
:

~
(;I

~
z

~
z

0
a::

(;I

~

...J
W

~
Z

...J

0
a::

w

w

w

~
~

~

I

;:
(/)

~

~

0

0

Q
:

Q
:

u..

~
u..

z
~...J

O
·

~ 0 Q
:

u..

b
6

Q
:

~8
N

O
T

E
:

"'.R
E

LIE
F

P
R

E
S

S
U

R
E

S
H

O
U

LD
u

B
E

S
E

T
A

T
1800

P
S

I.

v



8
2
0
0

6
R

R
O
L
L
E
R

W
/
O

T
-
T
R
O
L

H
Y
D

S
C
H
E
M

8
9

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
2
9
1

\V
D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
0
6
5
8
5
C
E
S
S
N
A

3
S
P
L

V
A
L
V
E

W
/
O

R
E
L
I
E
F

3
3

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

2

1
6
1
0
5
2
4
S
U
N
D

G
E
A
R

P
M
P

4
.
3
7

C
I

S
P
L
I
N
E
D

3
4

2
5
0
0
0
0
0
1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

3

1
6
0
6
8
7
3
F
L
O

D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T

3
5

1
6
1
8
4
4
0
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

E
X

L
G

L
B
O

4

1
6
0
7
5
0
4
F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7
/
8

F
O
R
3
6

1
5
0
5
2
1
3
R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L

5

1
6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

3
7

1
6
1
8
5
7
9
1

1
/
1
6
F
J
I
C

S
W
I
V
-
3
/
4
M
N
P
T

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

3
8

2
6
1
8
1
2
6
9
/
1
6
M
J
I
C
-
9
/
1
6
M
O
R

A
D
P
T
R

*
7

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

3
9

4
6
1
8
2
7
9
1

1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

8

2
6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

4
0

4
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

9

3
6
1
8
4
2
5
9
/
1
6
M
J
I
C
-
4
5
-
9
/
1
6
M
O
R

L
B
O

4
1

2
6
1
8
0
7
2
7
/
8
M
O
R
-
1
/
2
F
N
P
T

A
D
P
T
R

1
0

3
6
2
9
0
0
0
W
I
P
E
R

1
1
/
8

X
1

3
/
8

X
1
/
8
*
4
2

1
6
1
8
5
7
7
1

5
/
1
6
M
J
I
C

U
N
I
O
N

1
1

6
6
1
0
0
5
1
H
Y
D

M
O
T
O
R
,

B
A
R
N
E
S

1
1
6
0
0
4
7 4
3

8
6
1
8
1
1
9
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

L
B
O

1
2

4
6
1
4
6
2
4
1
0
C
1
T
-
1
0
F
J
X
-
1
0
F
J
X
-
1
9
2

H
/
A

4
4

2
6
1
8
4
8
6
9
/
1
6
F
J
I
C

S
W

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

1
3

3
6
1
8
5
7
8
1

1
/
1
6
F
J
I
C

S
W
I
V
-
1

1
/
1
6
M
O
R 4
5

1
6
1
0
1
9
3
9
/
1
6
M
J
I
C

B
L
K
H
D

B
R
A
N
C
H

T
E
E

1
4

3
6
1
0
5
0
4
P
R
E
S
S

C
O
M
P

F
I
X
E
D

F
L
O

R
E
G

M
/
C

4
6

3
6
1
8
0
1
9
9
/
1
6
M
J
I
C

U
N
I
O
N

T
E
E

1
5

1
5
0
6
2
0
0
C
L
O
S
E

N
I
P
P
L
E

1
1
/
4
N
P
T

4
7

3
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O

1
6

1
5
0
6
7
0
1
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

*
4
8

1
6
1
4
6
2
6
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8H
/
A

1
7

1
5
0
6
4
0
9
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
1
/
4
N
P
T

4
9

9
6
1
1
1
2
8
7
/
8
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

*
1
8

2
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
1

1
/
4
M
N
P
T *5
0

1
6
0
1
2
8
9
H
O
S
E
,

1
1
/
4

X
1
4
4

2
B
R

R
E
D

1
9

1
5
0
6
0
0
5
R
E
D

B
U
S
H

1
1
/
4

T
O

1
B
L
K

M
A
L

5
1

3
6
1
4
6
4
9
R
E
S
T
R
I
C
T
O
R

A
S
S
Y

I
-
W
A
Y

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
N
P
T
*
5
2

1
6
1
4
6
3
0
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

2
1

1
7
1
4
3
3
1
3
/
4

H
O
S
E

B
A
R
B
-
1
M
N
P
T

*
5
3

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

*
5
4

1
6
1
4
6
3
2
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

*
2
3

1
6
1
8
1
4
4
1

1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

5
5

1
6
1
5
4
7
3
0
6
C
1
T
-
0
6
F
J
X
-
0
8
F
J
X
-
1
8H
/
A

*
2
4

1
6
1
1
1
2
4
7
/
8
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

*
5
6

1
6
1
4
3
4
8

1
6
C
1
T
-
1
6
F
J
X
-
1
6
F
J
X
-
2
5H/
A

*
2
5

2
6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

*
5
7

1
6
1
4
6
2
7
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5H
/
A

*
2
6

2
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

5
8

6
6
1
6
0
2
7
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
3
9H
/
A

,
*
2
7
'

1
5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
N
P
T5
9

2
6
1
4
5
0
1
1
0
C
1
T
-
1
0
F
J
X
-
1
0
F
J
X
-
1
3
9

H
/
A

~
*
2
8

3
6
1
8
3
2
2
1

5
/
1
6
M
J
I
C
-
1
M
N
P
T

A
D
P
T
R

6
0

4
6
1
1
2
1
2
0
4
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
1
6
4

H
/
A

2
9

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C
-
1

5
/
1
6
M
O
R

A
D
P
T
R 61

3
6
1
4
0
7
7
0
4
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
8
8H/
A

3
0

6
6
1
8
3
0
9
7
/
8
M
J
I
C
-
1

1
/
1
6
M
O
R

A
D
P
T
R

6
2

2
6
1
1
2
1
0
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
5
6

H
/
A

"I

3
1

1
6
1
0
1
8
6
1

1
/
1
6
M
O
R

P
L
U
G

*
6
3

2
6
1
4
6
2
5
0
6
C
1
T
~
0
6
F
J
X
-
0
6
F
J
X
-
3
0H/
A

3
2

1
6
1
8
5
9
6
1

5
/
8
M
O
R
-
1

1
/
4
F
N
P
T

A
D
P
T
R
6
4

3
6
1
4
6
2
3
1
0
C
1
T
-
1
0
F
J
X
-
1
0
F
J
X
-
8
0H/
A

-
67

-

---"



a:::
~

"
0

z
Z

I-
~

a:;
0

W

::!:
-.J

~
...J

(5
W

W
0

~
:r:

I-
3:

::!:
0 a::: 1L.

~
Z~-.J
(5::!:
0 a::: 1L.1

48

68

::!:
oa:::

L
a:::
w-.J
oo

N
O

T
E

:
••

R
E

LIE
F

P
R

E
S

S
U

R
E

S
H

O
U

LD
U

B
E

S
E

T
A

T
1800

P
S

I.
-.J

(5~



8
2
0
0

6
R

R
O
L
L
E
R

W
/
T
-
T
R
O
L

H
Y
D

S
C
H
E
M

8
9

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
2
9
2

\
.
.
.
)
D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
1
0
5
3
2
E
L
E
C
T

H
Y
D

S
T
A
C
K

V
L
V

W
/
A
D
J

8
9

3
5
3

5
0
0
0
0
5
C
A
P

N
U
T

.
6
8
8
F
P
S

N
Y
L
O
N

2

1
6
1
0
5
2
4
S
U
N
D

G
E
A
R

P
M
P

4
.
3
7

C
I

S
P
L
I
N
E
D

3
6

1
5
0
5
2
1
3
R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L

3

1
6
0
6
8
7
3
F
L
O

D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T

3
7

1
6
1
8
5
7
9

1
1
/
1
6
F
J
I
C

S
W
I
V
-
3
/
4
M
N
P
T

4

1
6
0
7
5
0
4
F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7
/
8

F
O
R

3
8

1
6
1
8
3
1
0
9
/
1
6
M
J
I
C
-
7
/
8
M
O
R

A
D
P
T
R

5

1
6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

3
9

4
6
1
8
2
7
9
1

1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

4
0

2
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

*
7

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

4
1

1
6
1
8
0
7
2
7
/
8
M
O
R
-
1
/
2
F
N
P
T

A
D
P
T
R

8

1
6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

4
2

1
6
1
8
6
0
0
9
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

9

3
7
3
7
8
1
0
N
O
Z
L

B
O
D
Y

.
2
5
N
P
T

N
Y
L
O
N

4
3

9
6
1
8
1
1
9
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

L
B
O

1
0

3
6
2
0
9
0
0
C
Y
L

A
S
S
Y

C
C
2
0
1
6

0
0
0

S
R
G

1
8
0

4
4

1
6
1
8
1
7
0
3
/
4
M
O
R
-
9
/
1
6
F
O
R

A
D
P
T
R

11
6

6
1
0
0
5
1
H
Y
D

M
O
T
O
R
,

B
A
R
N
E
S

1
1
6
0
0
4
7 4
5

1
6
1
8
5
6
2
9
/
1
6
M
O
R
-
9
0
-
1
/
4
M
N
P
T

L
B
O

*
1
2

1
6
1
4
3
4
8
1
6
C
1
T
-
1
6
F
J
X
-
1
6
F
J
X
-
2
5H
/
A

4
6

1
6
1
0
4
4
7
H
Y
D

F
I
L
T
E
R
,
I
N
L
I
N
E

1
/
4
F
N
P
T

9
0
M

1
3

3
6
1
8
5
7
8
1

1
/
1
6
F
J
I
C

S
W
I
V
-
1

1
/
1
6
M
O
R 4
7

4
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O

1
4

3
6
1
0
5
0
4
P
R
E
S
S

C
O
M
P

F
I
X
E
D

F
L
O

R
E
G

M
/
C

*
4
8

1
6
0
1
2
8
9
H
O
S
E
,

1
1
/
4

X
1
4
4

2
B
R

R
E
D

1
5

1
5
0
6
2
0
0
C
L
O
S
E

N
I
P
P
L
E

1
1
/
4
N
P
T

4
9

9
6
1
1
1
2
8
7
/
8
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

1
6

1
5
0
6
7
0
1
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

5
0

1
6
1
5
4
7
3
0
6
C
1
T
-
0
6
F
J
X
-
0
8
F
J
X
-
1
8H
/
A

1
7

1
5
0
6
4
0
9
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
1
/
4
N
P
T

5
1

3
6
1
8
0
1
9
9
/
1
6
M
J
I
C

U
N
I
O
N

T
E
E

*
1
8

2
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
1

1
/
4
M
N
P
T 5
2

1
6
1
0
1
9
3
9
/
1
6
M
J
I
C

B
L
K
H
D

B
R
A
N
C
H

T
E
E

1
9

1
5
0
6
0
0
5
R
E
D

B
U
S
H

1
1
/
4

T
O

1
B
L
K

M
A
L

5
3

1
6
1
8
4
8
6
9
/
1
6
F
J
I
C

S
W

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

I
N
P
T*5
4

1
6
1
8
5
7
7
1

5
/
1
6
M
J
I
C

U
N
I
O
N

2
1

1
7
1
4
3
3
1
3
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
5
5

1
6
1
4
6
3
0
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

*
5
6

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

*
2
3

1
6
1
8
1
4
4
1

1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
5
7

1
6
1
4
6
3
2
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

*
2
4

1
6
1
1
1
2
4
7
/
8
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

5
8

6
6
1
6
0
2
7
0
4
C
I
A
-
0
6
F
J
X
-
0
6
F
J
X
-
3
9H
/
A

*
2
5

2
6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

5
9

2
6
1
4
5
0
1
1
0
C
I
T
-
1
0
F
J
X
-
I
0
F
J
X
-
1
3
9

H
/
A

*
2
6

2
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

6
0

2
6
1
4
1
0
1
0
4
C
I
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
3
3

H
/
A

*
2
7

1
5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

I
N
P
T6
1

2
6
1
4
0
7
7
0
4
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
8
8H/
A

\.Jt
*28

3
6
1
8
3
2
2
1

5
/
1
6
M
J
I
C
-
1
M
N
P
T

A
D
P
T
R

6
2

2
6
1
1
2
1
0
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
5
6

H
/
A

2
9

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C
-
1

5
/
1
6
M
O
R

A
D
P
T
R 63

1
6
1
8
5
9
6
1

5
/
8
M
O
R
-
1

1
/
4
F
N
P
T

A
D
P
T
R

3
0

6
6
1
8
3
0
9
7
/
8
M
J
I
C
-
1

1
/
1
6
M
O
R

A
D
P
T
R

6
4

3
6
1
4
6
2
3
1
0
C
1
T
-
1
0
F
J
X
-
1
0
F
J
X
-
8
0H/
A

3
1

1
6
1
0
1
8
6
1

1
/
1
6
M
O
R

P
L
U
G

6
5

4
6
1
4
6
2
4
1
0
C
1
T
-
1
0
F
J
X
-
1
0
F
J
X
-
1
9
2

H
/
A

3
2

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

*
6
6

1
6
1
4
6
2
5
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
0H
/
A

3
3

3
7
3
8
8
5
9
S
T
R
A
I
N
E
R

5
0

M
E
S
H

N
Y
L
O
N

*
6
7

1
6
1
4
6
2
6
0
6
c
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8H
/
A

3
4

1
5
0
0
0
0
0
1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
6
8

1
6
1
4
6
2
7
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5HI
A

-
6
9

-



rt
~

0
~

Z
~

Z
0

0::
:::i;'

..J
W

0
W

..J
I-

W
V

J
W

0
I

I-
~

=
=

:::i;'

0
::::E

a::

I
-1~~~

u..
~

0
z

a::
~

~
..J

'0
::::;;

0 a:: u..1
48

70

a::
w..Jo8

N
O

T
E

:
**

R
E

LIE
F

P
R

E
S

S
U

R
E

S
H

O
U

LD
..J

B
E

S
E

T
A

T
1800

P
S

I.
o



8
2
0
0

8
R

R
O
L
L
E
R

W
/
T
-
T
R
O
L

H
Y
D

S
C
H
E
M

8
9

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
2
9
7

V
D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
1
0
5
3
2
E
L
E
C
T

H
Y
D

S
T
A
C
K

V
L
V

W
/
A
D
J

8
9

3
6
1

5
0
5
2
1
3
R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L

2

1
6
1
0
5
2
4
S
U
N
D

G
E
A
R

P
M
P

4
.
3
7

C
I

S
P
L
I
N
E
D

3
7

1
6
1
8
5
7
9
1

1
/
1
6
F
J
I
C

S
W
I
V
-
3
/
4
M
N
P
T

3
1

6
0
6
8
7
3
F
L
O

D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T

3
8

1
6
1
8
3
1
0
9
/
1
6
M
J
I
C
-
7
/
8
M
O
R

A
D
P
T
R

4

1
6
0
7
5
0
4
F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7
/
8

F
O
R

3
9

1
6
1
8
2
7
9

1
1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

5
1

6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

4
0

2
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

4
1

1
6
1
8
0
7
2
7
/
8
M
O
R
-
l
/
2
F
N
P
T

A
D
P
T
R

*
7

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

4
2

1
6
1
8
6
0
0
9
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

8

1
6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

4
3

4
6
1
8
1
1
9
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

L
B
O

9

4
7
3
7
8
1
0
N
O
Z
L

B
O
D
Y

.
2
5
N
P
T

N
Y
L
O
N

4
4

1
6
1
8
1
7
0

3
/
4
M
O
R
-
9
/
1
6
F
O
R

A
D
P
T
R

1
0

4
·

6
2
0
9
0
0

C
Y
L

A
S
S
Y

C
C
2
0
1
6

0
0
0

S
R
G

1
8
0

4
5

1
6
1
8
5
6
2
9
/
1
6
M
O
R
-
9
0
-
1
/
4
M
N
P
T

L
B
O

1
1

8
6
1
0
5
1
0
C
E
S
S
N
A

G
E
A
R

M
O
T
O
R

1
.
4
8
C
I
4
6

1
6
1
0
4
4
7
H
Y
D

F
I
L
T
E
R
,
I
N
L
I
N
E

1
/
4
F
N
P
T

9
0
M

1
2

1
6
1
8
5
9
6

1
5
/
8
M
O
R
-
l

1
/
4
F
N
P
T

A
D
P
T
R
4
7

5
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O

1
3

4
6
1
0
5
2
8
P
R
E
S
S

C
O
M
P

F
I
X
E
D

F
L
O

R
E
G

I
I
G

*
4
8

1
6
0
1
2
8
9
H
O
S
E
,

1
1
/
4

X
1
4
4

2
B
R

R
E
D

1
4

4
6
1
8
2
4
8
1

1
/
1
6
M
J
I
C
-
9
0
-
1

1
/
1
6
M
O
R

L
B
O

4
9

1
2

6
1
8
5
3
57
/
8
M
J
I
C
-
9
0
-
1

1
/
1
6
M
O
R

L
B
O

1
5

1
5
0
6
2
0
0

C
L
O
S
E

N
I
P
P
L
E

1
1
/
4
N
P
T

5
0

1
6
1
5
4
7
3
0
6
C
1
T
-
0
6
F
J
X
-
0
8
F
J
X
-
1
8H
/
A

1
6

1
5
0
6
7
0
1
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

5
1

4
6
1
8
0
1
9
9
/
1
6
M
J
I
C

U
N
I
O
N

T
E
E

1
7

1
5
0
6
4
0
9
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
1
/
4
N
P
T

5
2

1
6
1
0
1
9
3
9
/
1
6
M
J
I
C

B
L
K
H
D

B
R
A
N
C
H

T
E
E

*
1
8

2
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
l

1
/
4
M
N
P
T 5
3

2
6
1
8
4
8
6
9
/
1
6
F
J
I
C

S
W

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

1
9

1
5
0
6
0
0
5
R
E
D

B
U
S
H

1
1
/
4

T
O

1
B
L
K

M
A
L

*
5
4

1
6
1
8
5
7
7
1

5
/
1
6
M
J
I
C

U
N
I
O
N

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

I
N
P
T*5
5

1
6
1
4
6
3
0
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

2
1

1
7
1
4
3
3
1
3
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
5
6

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

*
5
7

1
6
1
4
6
3
2
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

*
2
3

1
6
1
8
1
4
4
1

1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

5
8

8
6
1
6
0
2
7
0
4
C
I
A
-
0
6
F
J
X
-
0
6
F
J
X
-
3
9H
/
A

*
2
4

2
6
1
1
1
2
4
7
/
8
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

5
9

4
6
1
4
5
0
7
1
0
C
I
A
-
I
0
F
J
X
-
I
0
F
J
X
-
1
6
8

H
/
A

*
2
5

2
6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

6
0

2
6
1
4
1
0
1
0
4
C
I
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
3
3

H
/
A

*
2
6

1
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

6
1

2
6
1
1
2
4
6
0
4
C
I
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
7
4

H
/
A

J
*
2
7 1

5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

I
N
P
T6
2

2
6
1
1
2
6
2
0
4
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
1
8
2

H
/
A

*
2
8

3
6
1
8
3
2
2
1

5
/
1
6
M
J
I
C
-
I
M
N
P
T

A
D
P
T
R

6
3

4
6
1
4
6
4
0
1
0
C
I
T
-
I
0
F
J
X
-
I
0
F
J
X
-
2
3
0

H
/
A

2
9

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C
-
l

5
/
1
6
M
O
R

A
D
P
T
R 64

4
6
1
4
6
2
3
1
0
C
I
T
-
I
0
F
J
X
-
I
0
F
J
X
-
8
0H/
A

3
0

8
6
1
8
3
0
9
7
/
8
M
J
I
C
-
l

1
/
1
6
M
O
R

A
D
P
T
R

6
5

2
6
1
4
6
3
9
0
4
C
I
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
2
6

H
/
A

3
1

8
6
1
1
1
2
1
9
/
1
6
M
J
I
C
-
l
/
4
M
N
P
T

A
D
P
T
R

*
6
6

1
6
1
4
6
2
5
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
0H/
A

3
2

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

*
6
7

1
6
1
4
6
2
6
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8H
/
A

3
3

4
7
3
8
8
5
9
S
T
R
A
I
N
E
R

5
0

M
E
S
H

N
Y
L
O
N

*
6
8

1
6
1
4
6
2
7
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5H
/
A

3
4

1
5
0
0
0
0
0
1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
6
9

1
6
1
4
3
4
8
1
6
C
I
T
-
1
6
F
J
X
-
1
6
F
J
X
-
2
5H/
A

3
5

4
5
0
0
0
0
5
C
A
P

N
U
T

.
6
8
8
F
P
S

N
Y
L
O
N

7
0

4
6
1
8
5
7
8
1

1
/
1
6
F
J
I
C

S
W
I
V
-
l

1
/
1
6
M
O
R

-
7
1

-



72

<
..?

Z~WWI­U
J

:::E
o0::
L

a...

460::

~
N

O
T

E
:

**
R

E
LIE

F
P

R
E

S
S

U
R

E
S

H
O

U
LD

o
B

E
S

E
T

A
T

1800
P

S
I.

()..JaoI-



8
2
0
0

4
R

P
U
L
L
E
R

W
/
O

T
-
T
R
O
L

H
Y
D

S
C
H
E
M

8
6

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
2
3
0

\.......1

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

O
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
0
6
5
8
5
C
E
S
S
N
A

3
S
P
L

V
A
L
V
E

W
/
O

R
E
L
I
E
F

2
9

1
6
1
8
1
8
6

1
5
/
1
6
M
J
I
C
-
1

5
/
1
6
M
O
R

A
D
P
T
R

2
1

6
1
0
4
4
4
C
R
O
S
S

P
M
P

2
.
7
4
C
I

B
-
M
T

S
P
L
I
N
E
D

3
0

2
6
1
8
3
0
9
7
/
8
M
J
I
C
-
1

1
/
1
6
M
O
R

A
D
P
T
R

3
1

6
0
6
8
7
3
F
L
O

D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T

3
1

2
6
1
0
1
8
6
1

1
/
1
6
M
O
R

P
L
U
G

4
1

6
0
7
5
0
4
F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7
/
8

F
O
R

3
2

1
6
1
8
0
9
0
1

5
/
1
6
M
O
R
-
1
F
N
P
T

A
D
P
T
R

5
1

6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

3
3

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

3
4

2
5
0
0
0
0
0
1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
7

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

3
5

2
6
1
0
1
8
5
9
/
1
6
M
O
R

.
P
L
U
G

8
2

6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

3
6

1
5
0
5
2
1
3
R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L

9
2

6
1
8
4
2
5
9
/
1
6
M
J
I
C
-
4
5
-
9
/
1
6
M
O
R

L
B
O

3
7

1
6
1
8
5
7
9
1

1
/
1
6
F
J
I
C

S
W
I
V
-
3
/
4
M
N
P
T

1
0

2
6
2
0
9
0
0
C
Y
L

A
S
S
Y

C
C
2
0
1
6

0
0
0

S
R
G

1
8
0

3
8

2
6
1
8
1
2
6
9
/
1
6
M
J
I
C
-
9
/
1
6
M
O
R

A
D
P
T
R

1
1

4
6
0
4
0
0
5
O
R
B
I
T

M
O
T
O
R

A
5
E

3
9

1
6
1
8
2
7
9
1

1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

1
2

4
6
1
1
1
4
7
3
/
4
M
J
I
C
-
1
/
2
M
N
P
T

A
D
P
T
R

4
0

4
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

1
3

2
6
1
4
6
4
9
R
E
S
T
R
I
C
T
O
R

A
S
S
Y

I
-
W
A
Y

4
1

2
6
1
8
0
7
2
7
/
8
M
O
R
-
1
/
2
F
N
P
T

A
D
P
T
R

1
4

2
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O
*
4
2

1
6
1
8
5
7
7
1

5
/
1
6
M
J
I
C

U
N
I
O
N

1
5

1
6
1
8
5
3
2
3
/
4
F
J
I
C

C
A
P

N
U
T

4
3

2
6
1
8
1
1
9
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

L
B
O

1
6

1
5
0
5
0
9
8
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
N
P
T44

1
6
1
8
4
8
6
9
/
1
6
F
J
I
C

S
W

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

1
7

1
5
0
5
2
0
1
C
L
O
S
E

N
I
P
P
L
E

1
N
P
T

4
5

2
6
1
4
3
8
2
0
8
C
1
T
-
0
8
F
J
X
-
0
8
F
J
X
-
4
0H/
A

*
1
8

1
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
1

1
/
4
M
N
P
T 4
6

4
6
1
4
1
0
1
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
3
3

H
/
A

1
9

1
7
1
4
5
6
1
1

1
/
4

H
O
S
E

B
A
R
B
-
1
M
N
P
T

4
7

4
6
1
4
5
0
7
1
0
C
1
A
-
1
0
F
J
X
-
1
0
F
J
X
-
1
6
8

H
/
A

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
N
P
T*4
8

1
6
1
4
3
4
8
1
6
C
1
T
-
1
6
F
J
X
-
1
6
F
J
X
-
2
5H/
A

2
1

1
7
1
4
3
3
1
3
/
4

H
O
S
E

B
A
R
B
-
1
M
N
P
T

*
4
9

2
6
1
4
6
2
5
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
0H/
A

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

*
5
0

1
6
0
1
2
8
9
H
O
S
E
,

1
1
/
4

X
1
4
4

2
B
R

R
E
D

*
2
3

1
6
1
8
1
4
4
1

1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
5
1

1
6
1
4
6
2
6
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8H
/
A

2
4

4
6
1
1
1
2
4
7
/
8
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

*
5
2

1
6
1
4
6
2
7

0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5H/
A

*
2
5

2
6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

*
5
3

1
6
1
4
6
3
0
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

*
2
6

3
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

*
5
4

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

\..J
'
*
2
7

2
5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
N
P
T*5
5

1
6
1
4
6
3
2
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

*
2
8

3
6
1
8
3
2
2
1

5
/
1
6
M
J
I
C
-
1
M
N
P
T

A
D
P
T
R

I·
~

-
73

-



ot-

50

74
-

56:

N
O

T
E

:
••

R
E

U
E

F
P

R
E

S
S

U
R

E
S

H
O

U
LD

B
E

S
E

T
A

T
1800

P
S

I.



8
2
0
0

4
R

P
U
L
L
E
R

W
/
T
-
T
R
O
L

H
Y
D

S
C
H
E
M

8
9

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.
'
4
9
8
3
0
6

V
D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
I
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
1
0
5
3
2
E
L
E
C
T

H
Y
D

S
T
A
C
K

V
L
V

W
/
A
D
J

8
9

3
1

2
6
1
0
1
8
6
1

1
/
1
6
M
O
R

P
L
U
G

2

1
6
1
0
4
4
4
C
R
O
S
S

P
M
P

2
.
7
4
C
I

B
-
M
T

S
P
L
I
N
E
D

3
2

1
6
1
8
0
9
0
1

5
/
1
6
M
O
R
-
1
F
N
P
T

A
D
P
T
R

3

1
6
0
6
8
7
3
F
L
O

D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T

3
3

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

4

1
6
0
7
5
0
4
F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7
/
8

F
O
R

3
4

1
5
0
0
0
0
0
1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

5

1
6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

3
5

1
6
1
8
6
0
0
9
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

3
6

1
5
0
5
2
1
3
R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L

*
7

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

3
7

1
6
1
8
5
7
9
1

1
/
1
6
F
J
I
C

S
W
I
V
-
3
/
4
M
N
P
T

8

1
6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

3
8

2
6
1
8
1
1
9
9
/
1
6
M
J
I
C
~
9
0
-
9
/
1
6
M
O
R

L
B
O

9

2
7
3
7
8
1
0
N
O
Z
L

B
O
D
Y

.
2
5
N
P
T

N
Y
L
O
N

3
9

1
6
1
8
2
7
9
1

1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

1
0

2
6
2
0
9
0
0
C
Y
L

A
S
S
Y

C
C
2
0
1
6

0
0
0

S
R
G

1
8
0

4
0

2
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

1
1

4
6
0
4
0
0
5
O
R
B
I
T

M
O
T
O
I
?
A
5
E

4
1

1
6
1
8
0
7
2

7
/
8
M
O
R
-
l
/
2
F
N
P
T

A
D
P
T
R

1
2

4
6
1
1
1
4
7
3
/
4
M
J
I
C
-
l
/
2
M
N
P
T

A
D
P
T
R

*
4
2

1
6
1
8
5
7
7

1
5
/
1
6
M
J
I
C

U
N
I
O
N

1
3

1
6
1
8
3
1
0
9
/
1
6
M
J
I
C
-
7
/
8
M
O
R

A
D
P
T
R

4
3

1
6
1
8
1
7
0
3
/
4
M
O
R
-
9
/
1
6
F
O
R

A
D
P
T
R

1
4

3
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O

4
4

2
5
0
0
0
0
5
C
A
P

N
U
T

.
6
8
8
F
P
S

N
Y
L
O
N

1
5

1
6
1
0
4
4
7
H
Y
D

F
I
L
T
E
R
,
I
N
L
I
N
E

1
/
4
F
N
P
T

9
0
M

4
5

2
6
1
4
3
8
2
0
8
C
I
T
-
0
8
F
J
X
-
0
8
F
J
X
-
4
0H
/
A

1
6

1
5
0
5
0
9
8
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
N
P
T46

4
6
1
4
5
0
7
1
0
C
I
A
-
I
0
F
J
X
-
I
0
F
J
X
-
1
6
8

H
/
A

1
7

1
5
0
5
2
0
1
C
L
O
S
E

N
I
P
P
L
E

I
N
P
T

4
7

1
6
1
0
1
8
5
9
/
1
6
M
O
R

P
L
U
G

*
1
8

1
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
l

1
/
4
M
N
P
T *4
8

1
6
1
4
3
4
8
1
6
C
I
T
-
1
6
F
J
X
-
1
6
F
J
X
-
2
5H/
A

1
9

1
7
1
4
5
6
1
1

1
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
4
9

1
6
1
4
6
2
5
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
0H/
A

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

I
~
P
T*5
0

1
6
0
1
2
8
9
H
O
S
E
,

1
1
/
4

X
1
4
4

2
B
R

R
E
D

2
1

1
7
1
4
3
3
1
3
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
5
1

1
6
1
4
6
2
6
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8H/
A

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

*
5
2

1
6
1
4
6
2
7

0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5H/
A

*
2
3

1
6
1
8
1
4
4
1

1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
5
3

1
6
1
4
6
3
0
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

2
4

4
6
1
1
1
2
4
7
/
8
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

*
5
4

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

*
2
5

2
6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

*
5
5

1
6
1
4
6
3
2
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

*
2
6

3
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

5
6

2
6
1
4
1
0
1
0
4
C
I
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
3
3

H
/
A

V
*
2
72

5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

I
N
P
T5
7

2
7
3
8
8
5
9
S
T
R
A
I
N
E
R

5
0

M
E
S
H

N
Y
L
O
N

*
2
8

3
6
1
8
3
2
2
1

5
/
1
6
M
J
I
C
-
I
M
N
P
T
'

A
D
P
T
R

5
8

1
6
1
8
5
6
2
9
/
1
6
M
O
R
-
9
0
-
1
/
4
M
N
P
T

L
B
O

2
9

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C
-
l

5
/
1
6
M
O
R

A
D
P
T
R 59

1
6
1
8
5
3
2
3
/
4
F
J
I
C

C
A
P

N
U
T

3
0

2
6
1
8
3
0
9
7
/
8
M
J
I
C
-
l

1
/
1
6
M
O
R

A
D
P
T
R

-
75

-



n
~

z

~

a::

::.::

52

z

z

w

52

a

~
w

W

l-

I-
W

a

If)

I-

:<

-.J

If)

-.J

(5

~

:<

w

w
a

a

I

I-

a::

3:

lJ..

:<

a
::.::

a::

z

lJ..

~
-.J
(5:< a a:: lJ..

76

a::
w-.J

8
N

O
T

E
:

"'*
R

E
LIE

F
P

R
E

S
S

U
R

E
S

H
O

U
LD

u
B

E
S

E
T

A
T

1800
P

S
I.

-.J

(5aI-



8
2
0
0

6
R

P
U
L
L
E
R

W
/
O

T
-
T
R
O
L

H
Y
D

S
C
H
E
M

8
6

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
2
3
2

V
D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
0
6
5
8
5
C
E
S
S
N
A

3
S
P
L

V
A
L
V
E

W
/
O

R
E
L
I
E
F

3
0

3
6
1
8
3
0
9
7
/
8
M
J
I
C
-
l

1
/
1
6
M
O
R

A
D
P
T
R

2

1
6
1
0
4
4
4
C
R
O
S
S

P
M
P

2
.
7
4
C
I

B
-
M
T

S
P
L
I
N
E
D

3
1

1
6
1
0
1
8
6
1

1
/
1
6
M
O
R

P
L
U
G

3

1
6
0
6
8
7
3
F
L
O

D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T

3
2

1
6
1
8
0
9
0
1

5
/
1
6
M
O
R
-
I
F
N
P
T

A
D
P
T
R

4

1
6
0
7
5
0
4
F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7/8
F
O
R

3
3

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

5

1
6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

3
4

2
5
0
0
0
0
0
1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

3
5

1
6
1
8
4
4
0
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

E
X

L
G

L
B
O

*
7

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

3
6

1
5
0
5
2
1
3

R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L

8

2
6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

3
7

1
6
1
8
5
7
9
1

1
/
1
6
F
J
I
C
'
S
W
I
V
-
3
/
4
M
N
P
T

9

3
6
1
8
4
2
5
9
/
1
6
M
J
I
C
-
4
5
-
9
/
1
6
M
O
R

L
B
O

3
8

2
6
1
8
1
2
6
9
/
1
6
M
J
I
C
-
9
/
1
6
M
O
R

A
D
P
T
R

1
0

3
6
2
0
9
0
0
C
Y
L

A
S
S
Y

C
C
2
0
1
6

0
0
0

S
~
G
-
1
8
0

3
9

1
6
1
8
2
7
9
1

1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

1
1

6
6
0
4
0
0
5
O
R
B
I
T

M
O
T
O
R

A
5
E

4
0

4
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

1
2

6
6
1
1
1
4
7
3
/
4
M
J
I
C
-
1
/
2
M
N
P
T

A
D
P
T
R

4
1

2
6
1
8
0
7
2
7
/
8
M
O
R
-
1
/
2
F
N
P
T

A
D
P
T
R

1
3

3
6
1
4
6
4
9
R
E
S
T
R
I
C
T
O
R

A
S
S
Y

I
-
W
A
Y

*
4
2

1
6
1
8
5
7
7
1

5
/
1
6
M
J
I
C

U
N
I
O
N

1
4

3
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O

4
3

2
6
1
8
1
1
9
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

L
B
O

1
5

1
6
1
8
5
3
2
3
/
4
F
J
I
C

C
A
P

N
U
T

4
4

1
6
1
8
4
8
6
9
/
1
6
F
J
I
C

S
W

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

1
6

1
5
0
5
0
9
8
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
N
P
T
4
5

3
6
1
4
3
8
2
0
8
C
I
T
-
0
8
F
J
X
-
0
8
F
J
X
-
4
0H

I
A

1
7

1
5
0
5
2
0
1
C
L
O
S
E

N
I
P
P
L
E

I
N
P
T

4
6

2
6
1
4
5
0
1
1
0
C
I
T
-
I
0
F
J
X
-
I
0
F
J
X
-
1
3
9

H
I
A

*
1
8

1
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
l

1
/
4
M
N
P
T 4
7

4
6
1
4
6
2
4
1
0
C
1
T
-
1
0
F
J
X
-
1
0
F
J
X
-
1
9
2

H
I
A

1
9

1
7
1
4
5
6
1
1

1
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
4
8

1
6
1
4
3
4
8
1
6
C
1
T
-
1
6
F
J
X
-
1
6
F
J
X
-
2
5HI
A

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

I
N
P
T*4
9

2
6
1
4
6
2
5
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
0H

I
A

2
1

1
7
1
4
3
3
1
3
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
5
0

1
6
0
1
2
8
9

'
H
O
S
E
,

1
1
/
4

X
1
4
4

2
B
R

R
E
D

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

*
5
1

1
6
1
4
6
2
6
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8H

I
A

*
2
3

1
6
1
8
1
4
4
1

1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
5
2

1
6
1
4
6
2
7
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5H

I
A

*
2
4

7
6
1
1
1
2
4
7
/
8
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

*
5
3

1
6
1
4
6
3
0
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

*
2
5

2
6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

*
5
4

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

*
2
6

2
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

*
5
5

1
6
1
4
6
3
2
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

V
*
2
7

2
5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

I
N
P
T5
6

4
6
1
1
2
1
2
0
4
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
1
6
4

H
I
A

*
2
8

3
6
1
8
3
2
2
1

5
/
1
6
M
J
I
C
-
I
M
N
P
T

A
D
P
T
R

5
7

2
6
1
4
0
7
7
0
4
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
8
8HI
A

2
9

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C
-
l

5
/
1
6
M
O
R

A
D
P
T
R

-
7
7
-



...J
WwI=

:
::toa::
lL

..

...J

ooI-

:".::

Z~...J

o::toa::
lL

..

t:>Z0::
wwIiioI-

50

,.

78

::toa::
lL

..

a::
w...J

oo()...J

ooI-

N
O

T
E

:
"'*

R
E

LIE
F

P
R

E
S

S
U

R
E

S
H

O
U

LD
B

E
S

E
T

A
T

1
800

P
S

I.

/,



LI-

8
2
0
0

6
R

P
U
L
L
E
R

W
/
T
-
T
R
O
L

H
Y
D

S
C
H
E
M

8
9

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
3
0
7

V
D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
1
0
5
3
2
E
L
E
C
T

H
Y
D

S
T
A
C
K

V
L
V

W
/
A
D
J

8
9

3
1

1
6
1
0
1
8
6

1
1
/
1
6
M
O
R

P
L
U
G

2

1
6
1
0
4
4
4
C
R
O
S
S

P
M
P

2
.
7
4
C
I

B
-
M
T

S
P
L
I
N
E
D

3
2

1
6
1
8
0
9
0
1

5
/
1
6
M
O
R
-
1
F
N
P
T

A
D
P
T
R

3

1
6
0
6
8
7
3
F
L
O

D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T

3
3

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

4

1
6
0
7
5
0
4
F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7/8
F
O
R

3
4

1
5
0
0
0
0
0
1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

5

1
6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

3
5

1
6
1
8
6
0
0
9
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

3
6

1
5
0
5
2
1
3

R
E
D

B
U
S
H

1
T
O

3/4
B
L
K

M
A
L

*
7

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

3
7

1
6
1
8
5
7
9
1

1
/
1
6
F
J
I
C

S
W
I
V
-
3
/
4
M
N
P
T

8

1
6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

3
8

3
6
1
8
1
1
9
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

L
B
O

9

3
7
3
7
8
1
0
N
O
Z
L

B
O
D
Y

.
2
5
N
P
T

N
Y
L
O
N

3
9

1
6
1
8
2
7
9
1

1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

1
0

3
6
2
0
9
0
0
C
Y
L

A
S
S
Y

C
C
2
0
1
6

D
O
O

S
R
G

1
8
0

4
0

2
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

1
1

6
6
0
4
0
0
5
O
R
B
I
T

M
O
T
O
R

A
5
E

4
1

1
6
1
8
0
7
2
7
/
8
M
O
R
-
1
/
2
F
N
P
T

A
D
P
T
R

1
2

6
6
1
1
1
4
7
3
/
4
M
J
I
C
-
1
/
2
M
N
P
T

A
D
P
T
R

*
4
2

1
6
1
8
5
7
7
1

5
/
1
6
M
J
I
C

U
N
I
O
N

1
3

1
6
1
8
3
1
0
9
/
1
6
M
J
I
C
-
7
/
8
M
O
R

A
D
P
T
R

4
3

1
6
1
8
1
7
0
3
/
4
M
O
R
-
9
/
1
6
F
O
R

A
D
P
T
R

1
4

4
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O

4
4

3
5
0
0
0
0
5
C
A
P

N
U
T

.
6
8
8
F
P
S

N
Y
L
O
N

1
5

1
6
1
0
4
4
7
H
Y
D

F
I
L
T
E
R
,
I
N
L
I
N
E

1
/
4
F
N
P
T

9
0
M

4
5

3
6
1
4
3
8
2
0
8
C
I
T
-
0
8
F
J
X
-
0
8
F
J
X
-
4
0H

I
A

1
6

1
5
0
5
0
9
8
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
N
P
T
4
6

2
6
1
4
5
0
1
1
0
C
I
T
-
I
0
F
J
X
-
1
0
F
J
X
-
1
3
9

H
I
A

1
7

1
5
0
5
2
0
1
C
L
O
S
E

N
I
P
P
L
E

1
N
P
T

4
7

4
6
1
4
6
2
4
1
0
C
I
T
-
I
0
F
J
X
-
I
0
F
J
X
-
1
9
2

H
I
A

*
1
8

1
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
l

1
/
4
M
N
P
T *4
8

1
6
1
4
3
4
8
1
6
C
I
T
-
1
6
F
J
X
-
1
6
F
J
X
-
2
5HI
A

1
9

1
7
1
4
5
6
1
1

1
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
4
9

1
6
1
4
6
2
5
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
0H/
A

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

I
N
P
T*5
0

1
6
0
1
2
8
9
H
O
S
E
,

1
1
/
4

X
1
4
4

2
B
R

R
E
D

2
1

1
7
1
4
3
3
1
3
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
5
1

1
6
1
4
6
2
6
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8HI
A

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

*
5
2

1
6
1
4
6
2
7
-
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5H/
A

*
2
3

1
6
1
8
1
4
4
1

1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
5
3

1
6
1
4
6
3
0
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

*
2
4

7
6
1
1
1
2
4
7
/
8
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

*
5
4

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

*
2
5

2
6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

*
5
5

1
6
1
4
6
3
2
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

*
2
6

2
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

5
6

2
6
1
4
1
0
1
0
4
C
I
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
3
3

H
/
A

o
*
2
7

2
5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
N
P
T 5
7

1
6
1
4
0
7
7
0
4
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
8
8H
/
A

*
2
8

3
6
1
8
3
2
2
1

5
/
1
6
M
J
I
C
-
I
M
N
P
T

A
D
P
T
R

5
8

1
6
1
8
5
6
2
9
/
1
6
M
O
R
-
9
0
-
1
/
4
M
N
P
T

L
B
O

2
9

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C
-
l

5
/
1
6
M
O
R

A
D
P
T
R 59

1
6
1
8
5
3
2
3
/
4
F
J
I
C

C
A
P

N
U
T

3
0

3
6
1
8
3
0
9
7
/
8
M
J
I
C
-
l

1
/
1
6
M
O
R

A
D
P
T
R

6
0

3
7
3
8
8
5
9
S
T
R
A
I
N
E
R

5
0

M
E
S
H

N
Y
L
O
N

-
79

-



.....J

WW:x:
:i::Eaa::
LL na::

z
g

~
a

.
.
.
.
.
J

:E
_aaI-

<
.:>

z~wwtnaI-

8
0

<
.:>

z~wWI­If):Eaa::
LL

31

~z<
{

~
N

O
T

E
:

••
R

E
LIE

F
P

R
E

S
S

U
R

E
S

H
O

U
LD

6
B

E
S

IT
A

T
1B

O
O

P
S

I.
aI-



8
2
0
0

8
R

P
U
L
L
E
R

W
/
O

T
-
T
R
O
L

H
Y
D

S
C
H
E
M

8
9

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
2
9
6

\
\J

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
0
6
5
8
5
C
E
S
S
N
A

3
S
P
L

V
A
L
V
E

W
/
O

R
E
L
I
E
F

3
0

4
6
1
8
3
0
9
7
/
8
M
J
I
C
-
1

1
/
1
6
M
O
R

A
D
P
T
R

2
1

6
1
0
5
2
4
S
U
N
D

G
E
A
R

P
M
P

4
.
3
7

C
I

S
P
L
I
N
E
D

3
1

6
6
1
4
6
4
0
1
0
C
1
T
-
I
O
F
J
X
-
1
0
F
J
X
-
2
3
0

H
/
A

3
1

6
0
6
8
7
3
F
L
O

D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T

3
2

1
5
0
6
7
0
1
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

4
1

6
0
7
5
0
4
F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7
/
8

F
O
R
3
3

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

5
1

6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

3
4

2
5
0
0
0
0
0
1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

3
5

2
6
1
8
1
2
6
9
/
1
6
M
J
I
C
-
9
/
1
6
M
O
R

A
D
P
T
R

*
7

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

3
6

1
5
0
5
2
1
3
R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L

8
2

6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

3
7

1
6
1
8
5
7
9
1

1
/
1
6
F
J
I
C

S
W
I
V
-
3
/
4
M
N
P
T

9
3

6
1
4
6
4
9
R
E
S
T
R
I
C
T
O
R

A
S
S
Y

I
-
W
A
Y

3
8

2
6
1
8
1
1
9
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

L
B
O

1
0

3
6
2
0
9
0
0
C
Y
L

A
S
S
Y

C
C
2
0
1
6

0
0
0

S
R
G

1
8
0

3
9

1
6
1
8
2
7
9
1

1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

1
1

8
6
0
4
0
0
5
O
R
B
I
T

M
O
T
O
R

A
5
E

4
0

4
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

1
2

8
6
1
1
1
4
7
3
/
4
M
J
I
C
-
1
/
2
M
N
P
T

A
D
P
T
R

4
1

2
6
1
8
0
7
2
7
/
8
M
O
R
~
1
/
2
F
N
P
T

A
D
P
T
R

1
3

1
6
1
8
5
9
6
1

5
/
8
M
O
R
-
1

1
/
4
F
N
P
T

A
D
P
T
R *
4
2

1
6
1
8
5
7
7
1

5
/
1
6
M
J
I
C

U
N
I
O
N

"
1
4

3
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O

4
3

1
6
1
8
4
4
0
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

E
X

L
G

L
B
O

1
5

3
6
1
8
4
2
5
9
/
1
6
M
J
I
C
-
4
5
-
9
/
1
6
M
O
R

L
B
O

4
4

1
6
1
8
4
8
6
9
/
1
6
F
J
I
C

S
W

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

1
6

1
5
0
6
0
0
5
R
E
D

B
U
S
H

1
1
/
4

T
O

1
B
L
K

M
A
L

4
5

2
6
1
4
3
8
2
0
8
C
1
T
-
0
8
F
J
X
-
0
8
F
J
X
-
4
0H
/
A

1
7

1
5
0
6
2
0
0
C
L
O
S
E

N
I
P
P
L
E

1
1
/
4
N
P
T

4
6

2
6
1
4
5
0
1
1
0
C
1
T
-
1
0
F
J
X
-
1
0
F
J
X
-
1
3
9

H
/
A

*
1
8

2
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
1

1
/
4
M
N
P
T 4
7

2
6
1
4
3
8
4
0
8
C
1
T
-
0
8
F
J
X
-
0
8
F
J
X
-
2
3
7

H
/
A

1
9

1
5
0
6
4
0
9
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
1
/
4
N
P
T

*
4
8

1
6
1
4
3
4
8
1
6
C
1
T
-
1
6
F
J
X
-
1
6
F
J
X
-
2
5H/
A

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
N
P
T*4
9

2
6
1
4
6
2
5
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
0H
/
A

2
1

1
7
1
4
3
3
1
3
/
4

H
O
S
E

B
A
R
B
-
1
M
N
P
T

*
5
0

1
6
0
1
2
8
9
H
O
S
E
,

1
1
/
4

X
1
4
4

2
B
R

R
E
D

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

*
5
1

1
6
1
4
6
2
6
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8H
/
A

*
2
3

1
6
1
8
1
4
4
1

1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
5
2

1
6
1
4
6
2
7
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5H/
A

*
2
4

1
0

6
1
1
1
2
47
j
8
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

*
5
3

1
6
1
4
6
3
0
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

*
2
5

2
6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

*
5
4

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

*
2
6

1
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

*
5
5

1
6
1
4
6
3
2
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

\.J
*
2
7

1
5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
N
P
T5
6

4
6
1
1
2
4
6
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
7
4

H
/
A

*
2
8

3
6
1
8
3
2
2
1
5
/
1
6
M
J
I
C
-
I
M
N
P
T
"
A
D
P
T
R

5
7

2
6
1
4
0
7
7
0
4
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
8
8H/
A

2
9

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C
-
1

5
j
1
6
M
O
R

A
D
P
T
R 58

1
6
1
8
5
3
2
3
/
4
F
J
I
C

C
A
P

N
U
T

-
8
1

-



af-

so

8
2

:>
<

::

z«~
N

O
T

E
:

"''''R
E

LIE
F

P
R

E
S

S
U

R
E

S
H

O
U

LD
6

B
E

S
E

T
A

T
1800

P
S

I.
af-



,.••...

8
2
0
0

8
R

P
U
L
L
E
R

W
/
T
-
T
R
O
L

H
Y
D
'
S
C
H
E
M

8
9

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
2
9
3

V
D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
1
0
5
3
2
E
L
E
C
T

H
Y
D

S
T
A
C
K

V
L
V

W
/
A
D
J

8
9

3
2

1
5
0
6
7
0
1
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

2
1

6
1
0
5
2
4
S
U
N
D

G
E
A
R

P
M
P

4
.
3
7

C
I

S
P
L
I
N
E
D

3
3

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

3
1

6
0
6
8
7
3
F
L
O

D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T

3
4

1
5
0
0
0
0
0
1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

4
1

6
0
7
5
0
4

F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7
/
8

F
O
R

3
5

1
6
1
8
6
0
0
9
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

5
1

6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

3
6

1
5
0
5
2
1
3
R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

3
7

1
6
1
8
5
7
9
1

1
/
1
6
F
J
I
C

S
W
I
V
-
3
/
4
M
N
~
T

*
7

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

3
8

3
6
1
8
1
1
9
9
/
1
6
M
J
I
C
7
9
0
-
9
/
1
6
M
O
R

L
B
O

8
1

6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

3
9

1
6
1
8
2
7
9
1

1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

9
3

7
3
7
8
1
0
N
O
Z
L

B
O
D
Y

.
2
5
N
P
T

N
Y
L
O
N

4
0

2
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

1
0

3
6
2
0
9
0
0
C
Y
L

A
S
S
Y

C
C
2
0
1
6

0
0
0

S
R
G

1
8
0

4
1

1
6
1
8
0
7
2
7
/
8
M
O
R
-
1
/
2
F
N
P
T

A
D
P
T
R

1
1

8
6
0
4
0
0
5
O
R
B
I
T

M
O
T
O
R

A
5
E

*
4
2

1
6
1
8
5
7
7
1

5
/
1
6
M
J
I
C

U
N
I
O
N

1
2

8
6
1
1
1
4
7
3
/
4
M
J
I
C
-
1
/
2
M
N
P
T

A
D
P
T
R

4
3

1
6
1
8
1
7
0
3
/
4
M
O
R
-
9
/
1
6
F
O
R

A
D
P
T
R

1
3

1
6
1
8
3
1
0
9
/
1
6
M
J
I
C
-
7
/
8
M
O
R

A
D
P
T
R

4
4

3
5
0
0
0
0
5
C
A
P

N
U
T

.
6
8
8
F
P
S

N
Y
L
O
N

1
4

4
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O

4
5

2
6
1
4
3
8
2
0
8
C
1
T
-
0
8
F
J
X
-
0
8
F
J
X
-
4
0HI
A

1
5

1
6
1
0
4
4
7
H
Y
D

F
I
L
T
E
R
,
I
N
L
I
N
E

1
/
4
F
N
P
T

9
0
M

4
6

1
6
1
8
5
9
6
1

5
/
8
M
O
R
-
l

1
/
4
F
N
P
T

A
D
P
T
R

1
6

1
5
0
6
0
0
5
R
E
D

B
U
S
H

1
1
/
4

T
O

1
B
L
K

M
A
L

4
7

2
6
1
4
5
0
1
1
0
C
I
T
-
I
0
F
J
X
-
1
0
F
J
X
-
1
3
9

H
/
A

1
7

1
5
0
6
2
0
0
C
L
O
S
E

N
I
P
P
L
E

1
1
/
4
N
P
T

*
4
8

1
6
1
4
3
4
8
1
6
C
I
T
-
1
6
F
J
X
-
1
6
F
J
X
-
2
5HI
A

*
1
8

2
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
1

1
/
4
M
N
P
T *4
9

1
6
1
4
6
2
5
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
0H

I
A

1
9

1
5
0
6
4
0
9
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
1
/
4
N
P
T

*
5
0

1
6
0
1
2
8
9
H
O
S
E
,

1
1
/
4

X
1
4
4

2
B
R

R
E
D

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

I
N
P
T*5
1

1
6
1
4
6
2
6
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8H

I
A

2
1

1
7
1
4
3
3
1

3
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
5
2

1
6
1
4
6
2
7
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5H

I
A

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

*
5
3

1
6
1
4
6
3
0
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

*
2
3

1
6
1
8
1
4
4
1

1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
5
4

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

*
2
4

1
0

6
1
1
1
2
47
/
8
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

*
5
5

I
,

6
1
4
6
3
2

H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

*
2
5

2
6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

5
6

2
6
1
1
2
4
6
0
4
C
I
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
7
4

H
I
A

*
2
6

1
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

5
7

1
6
1
4
0
7
7
0
4
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
8
8HI
A

'-J
"lC

27
1

5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

I
N
P
T5
8

1
6
1
8
5
6
2
9
/
1
6
M
O
R
-
9
0
-
1
/
4
M
N
P
T

L
B
O

*
2
8

3
6
1
8
3
2
2
1

5
/
1
6
M
J
I
C
-
I
M
N
P
T

A
D
P
T
R

5
9

1
6
1
8
5
3
2
3
/
4
F
J
I
C

C
A
P

N
U
T

2
9

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C
-
l

5
/
1
6
M
O
R

A
D
P
T
R 60

3
7
3
8
8
5
9
S
T
R
A
I
N
E
R

5
0

M
E
S
H

N
Y
L
O
N

3
0

4
6
1
8
3
0
9
7
/
8
M
J
I
C
-
l

1
/
1
6
M
O
R

A
D
P
T
R

6
1

2
6
1
4
3
8
4
0
8
C
1
T
-
0
8
F
J
X
-
0
8
F
J
X
-
2
3
7

H
I
A

3
1

6
6
1
4
6
4
0
1
0
C
I
T
-
I
0
F
J
X
-
I
0
F
J
X
-
2
3
0

H
I
A

-
8
3

-



a::
~

<
.:)

0
z

z
b

~
a::

<
.:)

w
~

-I
W

Z

t-

a::

-I

e
en

w

w

w

w

0
0

tn

:r:

t-
t-

~

~

~

0

0

a::

a::

u..

u..

~
z~-I.
e~ 0 a:: lL.

84

47a::

~
N

O
T

E
:

••
R

E
LIE

F
P

R
E

S
S

U
R

E
S

H
O

U
LD

8
B

E
S

E
T

A
T

1800
P

S
I.

u-Ieot-

,.

I/.III



8
2
0
0

4
R

C
U
T
T
E
R

W
/
O

T
-
T
R
O
L

H
Y
D

S
C
H
E
M

8
6

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
2
3
5

V
D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
0
6
5
8
5
C
E
S
S
N
A

3
S
P
L

V
A
L
V
E

W
/
O

R
E
L
I
E
F

3
1

2
6
1
0
1
8
6
1

1
/
1
6
M
O
R

P
L
U
G

2

1
6
1
0
4
4
4
C
R
O
S
S

P
M
P

2
.
7
4
C
I

B
-
M
T

S
P
L
I
N
E
D

3
2

1
6
1
8
0
9
0
1

5
/
1
6
M
O
R
-
1
F
N
P
T

A
D
P
T
R

3

1
6
0
6
8
7
3
F
L
O

D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T

3
3

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

4

1
6
0
7
5
0
4
F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7
/
8

F
O
R

3
4

2
5
0
0
0
0
0
1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

5

1
6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

3
5

4
6
1
4
5
0
7
1
0
C
1
A
-
1
0
F
J
X
-
1
0
F
J
X
-
1
6
8

H
/
A

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

3
6

1
5
0
5
2
1
3
R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L

*
7

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

3
7

1
6
1
8
5
7
9
1

1
/
1
6
F
J
I
C
'

S
W
I
V
-
3
/
4
M
N
P
T

8

2
6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

3
8

2
6
1
8
1
2
6
9
/
1
6
M
J
I
C
-
9
/
1
6
M
O
R

A
D
P
T
R

9

2
6
1
8
4
2
5
9
/
1
6
M
J
I
C
-
4
5
-
9
/
1
6
M
O
R

L
B
O

3
9

1
6
1
8
2
7
9
1

1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

1
0

2
6
2
U
9
0
0
C
Y
L

A
S
S
Y

C
C
2
0
1
6

0
0
0

S
R
G

1
8
0

4
0

4
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

11
4

6
1
8
2
0
3
B
A
R
N
E
S

F
L
U
I
D

M
O
T
O
R

H
Y
D

C
U
T
T
E
R

4
1

2
6
1
8
0
7
2
7
/
8
M
O
R
-
1
/
2
F
N
P
T

A
D
P
T
R

1
2

4
6
1
8
5
7
4
7
/
8
M
J
I
C
-
3
/
4
M
O
R

A
D
P
T
R

*
4
2

1
6
1
8
5
7
7
1

5
/
1
6
M
J
I
C

U
N
I
O
N

1
3

2
6
1
4
6
4
9
R
E
S
T
R
I
C
T
O
R

A
S
S
Y

I
-
W
A
Y

4
3

2
6
1
8
1
1
9
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

L
B
O

1
4

2
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O

4
4

1
6
1
8
4
8
6
9
/
1
6
F
J
I
C

S
W

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

1
5

4
6
1
1
1
2
5
3
/
4
M
J
I
C
-
3
/
4
M
O
R

A
D
P
T
R

4
5

2
6
1
8
5
3
0
9
/
1
6
M
J
I
C
-
1
/
8
M
N
P
T

A
D
P
T
R

1
6

1
5
0
5
0
9
8
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
N
P
T
4
6

2
6
1
4
6
3
9
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
2
6

H
/
A

1
7

1
5
0
5
2
0
1
C
L
O
S
E

N
I
P
P
L
E

1
N
P
T

4
7

4
6
1
4
1
0
1
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
3
3

H
/
A

*
1
8

1
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
1

1
/
4
M
N
P
T *4
8

1
6
1
4
3
4
8
1
6
C
I
T
-
1
6
F
J
X
-
1
6
F
J
X
-
2
5H/
A

1
9

1
7
1
4
5
6
1
1

1
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
4
9

2
6
1
4
6
2
5
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
0H
/
A

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

I
N
P
T*5
0

1
6
0
1
2
8
9
H
O
S
E
,

1
1
/
4

X
1
4
4

2
B
R

R
E
D

2
1

1
7
1
4
3
3
1
3
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
5
1

1
6
1
4
6
2
6
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8H
/
A

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

*
5
2

1
6
1
4
6
2
7
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5H
/
A

*
2
3

1
6
1
8
1
4
4
1

1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
5
3

1
6
1
4
6
3
0
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

2
4

2
6
1
0
1
8
5
9
/
1
6
M
O
R

P
L
U
G

*
5
4

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

*
2
5

2
6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

*
5
5

1
6
1
4
6
3
2
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

*
2
6

3
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

5
6

2
6
1
4
3
6
8
0
8
C
I
T
-
0
8
F
J
X
-
0
8
F
J
X
-
6
0H
/
A

~
*
2
7

2
5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

I
N
P
T 5
7

2
6
1
1
2
0
6
0
4
C
I
T
-
6
F
J
X
-
6
F
J
X
-
6
6
H
/
A

*
2
8

3
6
1
8
3
2
2
1

5
/
1
6
M
J
I
C
-
I
M
N
P
T

A
D
P
T
R

5
8

1
6
1
0
1
9
3
9
/
1
6
M
J
I
C

B
L
K
H
D

B
R
A
N
C
H

T
E
E

2
9

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C
-
l

5
/
1
6
M
O
R

A
D
P
T
R 59

1
6
1
5
4
7
3
0
6
C
I
T
-
0
6
F
J
X
-
0
8
F
J
X
-
1
8H
/
A

3
0

2
6
1
8
3
0
9
7
/
8
M
J
I
C
-
1

1
/
1
6
M
O
R

A
D
P
T
R

6
0

2
6
1
8
5
4
6
1
/
8
M
N
P
T

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

-
85

-



C
t::

::.:::

"
0

~
.~

z
0

ii:
;::!;

...J
W

W
...J

0
iii

w
w

0
I

~
0

~
I-;-

;::!;
0

;::!;

C
t::

~~\V

lL
..

::.:::
I

0
z

C
t::

~
••.•

28
lL

..
...J

0;::!;

0 C
t::

lL
..

1
so

86

[5
N

O
T

E
:

••
R

E
LIE

F
P

R
E

S
S

U
R

E
S

H
O

U
LD

6
B

E
S

E
T

A
T

1800
P

S
I.

ou...J

oo~



8
2
0
0

4
R

C
U
T
T
E
R

W
/
T
-
T
R
O
L

H
Y
D

S
C
H
E
M

8
9

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
3
0
8

'
-
'

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
1
0
5
3
2
E
L
E
C
T

H
Y
D

S
T
A
C
K

V
L
V

W
/
A
D
J

8
9

3
3

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

2

1
6
1
0
4
4
4
C
R
O
S
S

P
M
P

2
.
7
4
C
I

B
-
M
T

S
P
L
I
N
E
D

3
4

1
5
0
0
0
0
0
1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

3

1
6
0
6
8
7
3

F
L
O

D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T

3
5

4
6
1
8
5
7
4
7
/
8
M
J
I
C
-
3
/
4
M
O
R

A
D
P
T
R

4

1
6
0
7
5
0
4

F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7
/
8

F
O
R

3
6

1
5
0
5
2
1
3
R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L

5

1
6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

3
7

1
6
1
8
5
7
9

1
1
(
1
6
F
J
I
C

S
W
I
V
-
3
/
4
M
N
P
T

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

3
8

2
6
1
8
1
1
9
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

L
B
O

*
7

1
,

6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

3
9

1
6
1
8
2
7
9
1

1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

8

1
6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

4
0

2
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

9

2
7
3
7
8
1
0
N
O
Z
L

B
O
D
Y

.
2
5
N
P
T

N
Y
L
O
N

4
1

1
6
1
8
0
7
2
7
/
8
M
O
R
-
l
/
2
F
N
P
T

A
D
P
T
R

1
0

2
6
2
0
9
0
0
C
Y
L

A
S
S
Y

C
C
2
0
1
6

0
0
0

S
R
G

1
8
0

*
4
2

1
6
1
8
5
7
7
1

5
/
1
6
M
J
I
C

U
N
I
O
N

1
1

4
6
1
1
1
2
5
3
/
4
M
J
I
C
-
3
/
4
M
O
R

A
D
P
T
R

4
3

1
6
1
8
1
7
0
3
/
4
M
O
R
-
9
/
1
6
F
O
R

A
D
P
T
R

1
2

4
6
1
8
2
0
3
B
A
R
N
E
S

F
L
U
I
D

M
O
T
O
R

H
Y
D

C
U
T
T
E
R

4
4

2
5
0
0
0
0
5
C
A
P

N
U
T

.
6
8
8
F
P
S

N
Y
L
O
N

1
3

1
6
1
8
3
1
0
9
/
1
6
M
J
I
C
-
7
/
8
M
O
R

A
D
P
T
R

4
5

2
6
1
1
2
0
6
0
4
C
I
T
-
6
F
J
X
-
6
F
J
X
-
6
6
H
/
A

1
4

3
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O

4
6

4
6
1
4
5
0
7
1
0
C
I
A
-
I
0
F
J
X
-
I
0
F
J
X
-
1
6
8

H
/
A

1
5

1
6
1
0
4
4
7
H
Y
D

F
I
L
T
E
R
,
I
N
L
I
N
E

1
/
4
F
N
P
T

9
0
M

4
7

2
6
1
4
6
3
9
0
4
C
I
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
2
6

H
/
A

1
6

1
5
0
5
0
9
8
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
N
P
T

*
4
8

1
6
1
4
3
4
8
1
6
C
I
T
-
1
6
F
J
X
-
1
6
F
J
X
-
2
5H/
A

1
7

1
5
0
5
2
0
1
C
L
O
S
E

N
I
P
P
L
E

I
N
P
T

*
4
9

1
6
1
4
6
2
5
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
0H
/
A

*
1
8

1
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
l

1
/
4
M
N
P
T *5
0

1
6
0
1
2
8
9
H
O
S
E
,

1
1
/
4

X
1
4
4

2
B
R

R
E
D

1
9

1
7
1
4
5
6
1
1

1
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
5
1

1
6
1
4
6
2
6
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8H
/
A

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

I
N
P
T*5
2

1
6
1
4
6
2
7
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5H
/
A

2
1

1
7
1
4
3
3
1
3
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
5
3

1
6
1
4
6
3
0
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

*
5
4

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

*
2
3

1
6
1
8
1
4
4

1
1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
5
5

1
6
1
4
6
3
2
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

2
4

1
6
1
8
6
0
0
9
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

5
6

2
6
1
4
1
0
1
0
4
C
I
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
3
3

H
/
A

*
2
5

2
6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

5
7

2
6
1
8
5
4
6
1
/
8
M
N
P
T

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

,
/
>
-

*
2
6

3
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

5
8

1
6
1
8
5
6
2
9
/
1
6
M
O
R
-
9
0
-
1
/
4
M
N
P
T

L
B
O

'
-
.
}

*
2
7

2
5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

I
N
P
T 5
9

2
6
1
4
3
6
8
0
8
C
I
T
-
0
8
F
J
X
-
0
8
F
J
X
-
6
0H/
A

*
2
8

3
6
1
8
3
2
2
1

5
/
1
6
M
J
I
C
-
I
M
N
P
r
>
A
D
P
T
R

6
0

2
7
3
8
8
5
9
S
T
R
A
I
N
E
R

5
0

M
E
S
H

N
Y
L
O
N

2
9

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C
-
l

5
/
1
6
M
O
R

A
D
P
T
R 61

1
6
1
5
4
7
3
0
6
C
I
T
-
0
6
F
J
X
-
0
8
F
J
X
-
1
8H/
A

3
0

2
6
1
8
3
0
9
7
/
8
M
J
I
C
-
l

1
/
1
6
M
O
R

A
D
P
T
R

6
2

2
6
1
8
5
3
0
9
/
1
6
M
J
I
C
-
l
/
8
M
N
P
T

A
D
P
T
R

3
1

2
6
1
0
1
8
6
1

1
/
1
6
M
O
R

P
L
U
G

6
3

1
6
1
0
1
9
3
9
/
1
6
M
J
I
C

B
L
K
H
D

B
R
A
N
C
H
.
T
E
~

3
2

1
6
1
8
0
9
0
1

5
/
1
6
M
O
R
-
I
F
N
P
T

A
D
P
T
R

6
4

1
6
1
0
1
8
5
9
/
1
6
~
O
R

P
L
U
G

\.....t/

-
87

-



D
::

~
0

~
Z

Z
~

a::

0

0

W

~
--1

W

Z

I--

ffi

--1

(5
(/)

W

0
W

W

0

tn

r
I--

I--
:i:

:::!:

:::!:

0

0

D
::

D
::

I.J...

lL..

~
Z~--1
(5:::!:

0 D
::

lL..

8
8

D
::

W<
5

N
O

T
E

:
"'.

R
E

LIE
F

P
R

E
S

S
U

R
E

S
H

O
U

LD
o

B
E

S
E

T
A

T
1800

P
S

I.
()--1

(5



8
2
0
0

6
R

C
U
T
T
E
R

H
/
O

T
-
T
R
O
L

H
Y
D

S
C
H
E
r
,
18
6

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
2
3
7

~
D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
0
6
5
8
5
C
E
S
S
N
A

3
S
P
L

V
A
L
V
E

W
/
O

R
E
L
I
E
F

3
3

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

2
1

6
1
0
4
4
4
C
R
O
S
S

P
M
P

2
.
7
4
C
I

B
-
M
T

S
P
L
I
N
E
D

3
4

2
5
0
0
0
0
0
1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

3
1

6
0
6
8
7
3
F
L
O

D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T

3
5

1
6
1
8
4
4
0
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

E
X

L
G

L
B
O

4
1

6
0
7
5
0
4

F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7
/
8

F
O
R

3
6

1
5
0
5
2
1
3
R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L

5
1

6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

3
7

1
6
1
8
5
7
9
1

1
/
1
6
F
J
I
C

S
W
I
V
-
3
/
4
M
N
P
T

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

3
8

2
6
1
8
1
2
6
9
/
1
6
M
J
I
C
-
~
/
1
6
M
O
R

A
D
P
T
R

*
7

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

3
9

1
6
1
8
2
7
9

1
1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

8
2

6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

4
0

4
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

9
3

6
1
8
4
2
5
9
/
1
6
M
J
I
C
-
4
5
-
9
/
1
6
M
O
R

L
B
O

4
1

2
6
1
8
0
7
2
7
/
8
M
O
R
-
1
/
2
F
N
P
T

A
D
P
T
R

1
0

3
6
2
0
9
0
0
C
Y
L

A
S
S
Y

C
C
2
0
1
6

0
0
0

S
R
G

1
8
0

*
4
2

1
6
1
8
5
7
7
1

5
/
1
6
M
J
I
C

U
N
I
O
N

1
1

6
6
1
8
2
0
3
B
A
R
N
E
S

F
L
U
I
D

M
O
T
O
R

H
Y
D

C
U
T
T
E
R

4
3

2
6
1
8
1
1
9
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

L
B
O
"

1
2

6
6
1
8
5
7
4
7
/
8
M
J
I
C
-
3
/
4
M
O
R

A
D
P
T
R

4
4

2
6
1
8
4
8
6
9
/
1
6
F
J
I
C

S
W

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

1
3

3
6
1
4
6
4
9
R
E
S
T
R
I
C
T
O
R

A
S
S
Y

I
-
W
A
Y

4
5

3
6
1
8
5
3
0
9
/
1
6
M
J
I
C
-
1
/
8
M
N
P
T

A
D
P
T
R

1
4

3
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O

4
6

2
6
1
4
5
0
1
1
0
C
1
T
-
1
0
F
J
X
-
1
0
F
J
X
-
1
3
9

H
/
A

1
5

6
6
1
1
1
2
5
3
/
4
M
J
I
C
-
3
/
4
M
O
R

A
D
P
T
R

4
7
-

4
6
1
4
6
2
4
1
0
C
1
T
-
1
0
F
J
X
-
1
0
F
J
X
-
1
9
2

H
/
A

1
6

1
5
0
5
0
9
8
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
N
P
T

*
4
8

1
6
1
4
3
4
8
1
6
C
1
T
-
1
6
F
J
X
-
1
6
F
J
X
-
2
5

'
-
H
/A

1
7

1
5
0
5
2
0
1
C
L
O
S
E

N
I
P
P
L
E

1
N
P
T

*
4
9

2
6
1
4
6
2
5
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
0H/
A

*
1
8

1
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
1

1
/
4
M
N
P
T *5
0

1
6
0
1
2
8
9

H
O
S
E
,

1
1
/
4

X
1
4
4

2
B
R

R
E
D

1
9

1
7
1
4
5
6
1
1

1
/
4

H
O
S
E

B
A
R
B
-
1
M
N
P
T

*
5
1

1
6
1
4
6
2
6
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8H/
A

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
N
P
T *5
2

1
6
1
4
6
2
7
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5H/
A

2
1

1
7
1
4
3
3
1
3
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
5
3

1
6
1
4
6
3
0

H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

*
5
4

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

*
2
3

1
6
1
8
1
4
4
1

1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

*
5
5

1
6
1
4
6
3
2
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

*
2
4

1
6
1
1
1
2
4
7
/
8
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

5
6

4
6
1
1
2
1
2
0
4
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
1
6
4

H
/
A

--
•..-."....,.

*
2
52

6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

5
7

2
6
1
4
0
7
7
0
4
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
8
8

.
'
*
2
6

2
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

5
8

1
6
1
0
1
9
3
9
/
1
6
M
J
I
C

B
L
K
H
D

B
R
A
N
C
H

T
E
E

~
*
2
7

2
5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

I
N
P
T 5
9

1
6
1
5
4
7
3
0
6
C
I
T
-
0
6
F
J
X
-
0
8
F
J
X
-
1
8H
/
A

*
2
8

3
6
1
8
3
2
2
1
5
/
1
6
M
J
I
C
-
I
M
N
P
T
"
A
D
P
T
R

6
0

3
6
1
8
5
4
6
1
/
8
M
N
P
T

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

2
9

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C
-
l

5
/
1
6
M
O
R

A
D
P
T
R61

3
6
1
1
2
0
6
0
4
C
I
T
-
6
F
J
X
-
6
F
J
X
-
6
6
H
/
A

3
0

3
6
1
8
3
0
9
7
/
8
M
J
I
C
-
l

1
/
1
6
M
O
R

A
D
P
T
R

6
2

3
6
1
4
3
6
8
0
8
C
I
T
-
0
8
F
J
X
-
0
8
F
J
X
-
6
0H/
A

3
1

1
6
1
0
1
8
6
1

1
/
1
6
M
O
R

P
L
U
G

6
3

2
6
1
1
2
1
0
0
4
C
I
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
5
6
'

H
/
A

3
2

1
6
1
8
0
9
0
1

5
/
1
6
M
O
R
-
I
F
N
P
T

A
D
P
T
R

6
4

1
6
1
4
1
5
2
0
4
C
I
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
1
4

-
89

-



0:::
:I.::

(.?
a

z
z

b
~

~
::E

--.J

W

W
--.J

6
t-

W
en

w
a

a
J:

t-
;:

t-
::E

a 0:::
I

I

~
~

~

::E
u..

:I.::
a

z
0:::

~
u..

--.J
6::E a0::: u..1

50

90

§
N

O
T

E
:

••
R

E
LIE

F
P

R
E

S
S

U
R

E
S

H
O

U
LD

a
B

E
S

E
T

A
T

1800
P

S
I.

a()--.J

6at-

-
.r



8
2
0
0

6
R

C
U
T
T
E
R

W
/
T
-
T
R
O
L

H
Y
D

S
C
H
E
M

8
9

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
3
0
9

V
D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
1
0
5
3
2
E
L
E
C
T

H
Y
D

S
T
A
C
K

V
L
V

W
/
A
D
J

8
9

3
5

6
6
1
8
5
7
4
7
/
8
M
J
I
C
-
3
/
4
M
O
R

A
D
P
T
R

2

1
6
1
0
4
4
4
C
R
O
S
S

P
M
P

2
.
7
4
C
I

B
-
M
T

S
P
L
I
N
E
D

3
6

1
5
0
5
2
1
3

R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L

3

1
6
0
6
8
7
3
F
L
O

D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T

3
7

1
6
1
8
5
7
9
1

1
/
1
6
F
J
I
C

S
W
I
V
-
3
/
4
M
N
P
T

4

1
6
0
7
5
0
4
F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7/8
F
O
R

3
8

3
6
1
8
1
1
9
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

L
B
O

5

1
6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

3
9

1
6
1
8
2
7
9
1

1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

4
0

2
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

*
7

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

4
1

1
6
1
8
0
7
2
7
/
8
M
O
R
-
1
/
2
F
N
P
T

A
D
P
T
R

8

1
6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

*
4
2

1
6
1
8
5
7
7
1

5
/
1
6
M
J
I
C

U
N
I
O
N

9

3
7
3
7
8
1
0
N
O
Z
L

B
O
D
Y

.
2
5
N
P
T

N
Y
L
O
N

4
3

1
6
1
8
1
7
0
3
/
4
M
O
R
-
9
/
1
6
F
O
R

A
D
P
T
R

1
0

3
6
2
0
9
0
0
C
Y
L

A
S
S
Y

C
C
2
0
1
6

0
0
0

S
R
G

1
8
0

4
4

3
5
0
0
0
0
5
C
A
P

N
U
T

.
6
8
8
F
P
S

N
Y
L
O
N

1
1

6
6
1
1
1
2
5
3
/
4
M
J
I
C
-
3
/
4
M
O
R

A
D
P
T
R

4
5

3
6
1
1
2
0
6
0
4
C
1
T
-
6
F
J
X
-
6
F
J
X
-
6
6
H
/
A

1
2

6
6
1
8
2
0
3
B
A
R
N
E
S

F
L
U
I
D

M
O
T
O
R

H
Y
D

C
U
T
T
E
R

4
6

2
6
1
4
5
0
1
1
0
C
I
T
~
1
0
F
J
X
-
I
0
F
J
X
-
1
3
9

H
I
A

1
3

1
6
1
8
3
1
0

9
/
1
6
M
J
I
C
~
7
/
8
M
O
R

A
D
P
T
R

4
7

4
6
1
4
6
2
4
1
0
C
I
T
-
I
0
F
J
X
-
1
0
F
J
X
-
1
9
2

H
/
A

1
4

4
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O
*
4
8

1
6
1
4
3
4
8

1
6
C
I
T
-
1
6
F
J
X
-
1
6
F
J
X
-
2
5HI
A

1
5

1
6
1
0
4
4
7
H
Y
D

F
I
L
T
E
R
,
I
N
L
I
N
E

1
/
4
F
N
P
T

9
0
M

*
4
9

1
6
1
4
6
2
5
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
0H

I
A

1
6

1
5
0
5
0
9
8
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
N
P
T

*
5
0

1
6
0
1
2
8
9
H
O
S
E
,

1
1
/
4

X
1
4
4

2
B
R

R
E
D

1
7

1
5
0
5
2
0
1
C
L
O
S
E

N
I
P
P
L
E

1
N
P
T

*
5
1

1
6
1
4
6
2
6
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8H

I
A

*
1
8

1
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
1

1
/
4
M
N
P
T *5
2

1
6
1
4
6
2
7
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5H
/
A

1
9

1
7
1
4
5
6
1
1

1
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
5
3

1
6
1
4
6
3
0
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

I
N
P
T*5
4

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

2
1

1
7
1
4
3
3
1
3
/
4

H
O
S
E

B
A
R
B
-
I
M
N
P
T

*
5
5

1
6
1
4
6
3
2
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

5
6

2
6
1
4
1
0
1
0
4
C
I
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
3
3

H
/
A

*
2
3

1
6
1
8
1
4
4
1

1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

5
7

1
6
1
4
0
7
7
0
4
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
8
8

*
2
4

1
6
1
1
1
2
4
7
/
8
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

5
8

1
6
1
8
5
6
2
9
/
1
6
M
O
R
-
9
0
-
1
/
4
M
N
P
T

L
B
O

,--'"
*
2
52

6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

5
9

3
6
1
4
3
6
8
0
8
C
1
T
-
0
8
F
J
X
-
0
8
F
J
X
-
6
0HI
A

*
2
6

2
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

6
0

3
7
3
8
8
5
9
S
T
R
A
I
N
E
R

5
0

M
E
S
H

N
Y
L
O
N

\.J
*
2
7

2
5
0
5
1
1
0'
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

I
N
P
T
6
1

1
6
1
5
4
7
3
0
6
C
1
T
-
0
6
F
J
X
-
0
8
F
J
X
-
1
8HI
A

*
2
8

3
6
1
8
3
2
2
1

5
/
1
6
M
J
I
C
-
1
M
N
P
T

A
D
P
T
R

6
2

1
6
1
8
4
8
6

9
/
1
6
F
J
I
C

S
W

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

2
9

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C
-
1

5
/
1
6
M
O
R

A
D
P
T
R 63

1
6
1
0
1
9
3
9
/
1
6
M
J
I
C

B
L
K
H
D

B
R
A
N
C
H

T
E
E

3
0

3
6
1
8
3
0
9
7
/
8
M
J
I
C
-
1

1
/
1
6
M
O
R

A
D
P
T
R

6
4

2
6
1
1
2
1
0
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
5
6

H
I
A

3
1

1
6
1
0
1
8
6
1

1
/
1
6
M
O
R

P
L
U
G

6
5

3
6
1
8
5
3
0
9
/
1
6
M
J
I
C
-
1
/
8
M
N
P
T

A
D
P
T
R

3
2

1
6
1
8
0
9
0
1

5
/
1
6
M
O
R
-
1
F
N
P
T

A
D
P
T
R

6
6

3
6
1
8
5
4
6
1
/
8
M
N
P
T

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

3
3

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

6
7

1
6
1
8
6
0
0

9
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

3
4

1
5
0
0
0
0
0
1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

6
8

1
6
1
4
1
5
2
0
4
C
I
A
~
0
6
F
J
X
-
0
6
F
J
X
-
1
1
4

-
9
1

-



Q
::

~
<

-'
~

z
z

~
a::

0
w

::<
-.J

w
<

-'

I-

Z

-.J

0
V

1

a::

w

~
w

w

0
w

:r:

l-

I-

=
=

V
1

::<

::<

0

0

e:

Q
::

~
Z.~

-.J
0::< 0 Q

::
u..

92

Q
::

W-.J

8
N

O
T

E
:·.

R
E

LIE
F

P
R

E
S

S
U

R
E

S
H

O
U

LD
()

B
E

S
E

T
A

T
1

B
O

O
P

S
I.

-.J

ooI-



8
2
0
0

8
R

C
U
T
T
E
R

W
/
O

T
-
T
R
O
L

H
Y
D

S
C
H
E
M

8
9

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
2
9
4

V
D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
0
6
5
8
5
C
E
S
S
N
A

3
S
P
L

V
A
L
V
E

W
/
O

R
E
L
I
E
F

3
5

1
6
1
8
4
4
0

9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

E
X

L
G

L
B
O

2
1

6
'
1
0
5
2
4S
U
N
D

G
E
A
R

P
M
P

4
.
3
7

C
I

S
P
L
I
N
E
D

3
6

1
5
0
5
2
1
3
R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L

3
1

6
0
6
8
7
3
F
L
O
D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T

3
7

1
6
1
8
5
7
9
1

1
/
1
6
F
J
I
C

S
W
I
V
-
3
/
4
M
N
P
T

4
1

6
0
7
5
0
4
F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7
/
8

F
O
R

3
8

2
6
1
8
1
2
6
9
/
1
6
M
J
I
C
-
9
/
1
6
M
O
R

A
D
P
T
R

5
1

6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

3
9

1
6
1
8
2
7
9
1

1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

4
0

4
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

*
7

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

4
1

2
6
1
8
0
7
2
7
/
8
M
O
R
-
1
/
2
F
N
P
T

A
D
P
T
R

8
2

6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

*
4
2

1
6
1
8
5
7
7
1

5
/
1
6
M
J
I
C

U
N
I
O
N

9
3

6
1
8
4
2
5
9
/
1
6
M
J
I
C
-
4
5
-
9
/
1
6
M
O
R

L
B
O

4
3

2
6
1
8
1
1
9
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

L
B
O

1
0

3
6
2
0
9
0
0
C
Y
L

A
S
S
Y

C
C
2
0
1
6

0
0
0

S
R
G

1
8
0

4
4

3
6
1
8
4
8
6
9
/
1
6
F
J
I
C

S
W

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

1
1

8
6
1
8
2
0
3
B
A
R
N
E
S

F
L
U
I
D

M
O
T
O
R

H
Y
D

C
U
T
T
E
R

4
5

4
6
1
8
5
3
0
9
/
1
6
M
J
I
C
-
l
/
8
M
N
P
T

A
D
P
T
R

1
2

8
6
1
8
5
7
4
7
/
8
M
J
I
C
-
3
/
4
M
O
R

A
D
P
T
R

4
6

6
6
1
4
6
4
1
1
0
C
I
T
-
I
0
F
J
X
-
I
0
F
J
X
-
2
7
6

.
H
/
A

1
3

3
6
1
4
6
4
9
R
E
S
T
R
I
C
T
O
R

A
S
S
Y

I
-
W
A
Y

4
7

1
6
1
4
1
5
2
0
4
C
I
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
1
4

H
/
A

1
4

3
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O
*
4
8

1
6
1
4
3
4
8
1
6
C
I
T
-
1
6
F
J
X
-
1
6
F
J
X
-
2
5H/
A

1
5

8
6
1
1
1
2
5
3
/
4
M
J
I
C
-
3
/
4
M
O
R

A
D
P
T
R

*
4
9

2
6
1
4
6
2
5
0
6
C
I
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
0H/
A

1
6

1
6
1
8
5
9
6
1

5
/
8
M
O
R
-
l

1
/
4
F
N
P
T

A
D
P
T
R *
5
0

1
6
0
1
2
8
9
H
O
S
E
,

1
1
/
4

X
1
4
4
·
2
B
R

R
E
D

1
7

1
5
0
6
7
0
1
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

*
5
1

1
6
1
4
6
2
6
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8H
/
A

*
1
8

2
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
l

1
/
4
M
N
P
T *5
2

1
6
1
4
6
2
7
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5H
/
A

1
9

1
5
0
6
4
0
9
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
1
/
4
N
P
T

*
5
3

1
6
1
4
6
3
0
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
N
P
T*5
4

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

2
1

1
7
1
4
3
3
1
3
/
4

H
O
S
E

B
A
R
B
-
1
M
N
P
T

*
5
5

1
6
1
4
6
3
2
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

5
6

4
6
1
1
2
4
6
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
7
4

H
/
A

*t3
1

6
1
8
1
4
4
1

1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

5
7

2
6
1
4
0
7
7
0
4
C
1
T
-
0
6
F
J
X
~
0
6
F
J
X
-
8
8

*
2
4

2
6
1
1
1
2
4
7
/
8
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

5
8

1
6
1
0
1
9
3
9
/
1
6
M
J
I
C

B
L
K
H
D

B
R
A
N
C
H

T
E
E

*
2
5

2
6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

5
9

1
6
1
5
4
7
3
0
6
C
1
T
-
0
6
F
J
X
-
0
8
F
J
X
-
1
8H
/
A

-
-

*
2
6

1
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

6
0

4
6
1
8
5
4
6
1
/
8
M
N
P
T

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

'J
*
2
7
"

1
5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
N
P
T6
1

2
6
1
1
2
0
6
0
4
C
1
T
-
6
F
J
X
-
6
F
J
X
-
6
6
H
/
A

*
2
8

3
6
1
8
3
2
2
1

5
/
1
6
M
J
I
C
-
1
M
N
P
T
.
A
D
P
T
R

6
2

2
6
1
4
3
6
8
0
8
C
1
T
-
0
8
F
J
X
-
0
8
F
J
X
-
6
0H
/
A

2
9

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C
-
1

5
/
1
6
M
O
R

A
D
P
T
R 63

2
6
1
4
5
0
1
1
0
C
1
T
-
1
0
F
J
X
-
I
0
F
J
X
-
1
3
9

H
/
A

3
0

4
6
1
8
3
0
9
7
/
8
M
J
I
C
-
1

1
/
1
6
M
O
R

A
D
P
T
R

6
4

4
6
1
4
1
0
1
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
3
3

H
/
A

3
1

1
5
0
6
0
0
5
R
E
D

B
W
S
H

1
1
/
4

T
O

1
B
L
K

M
A
L

6
5

4
6
1
4
4
2
5
0
8
C
1
T
-
0
8
F
J
X
-
0
8
F
J
X
-
1
3
2

H
/
A

3
2

1
5
0
6
2
0
0
C
L
O
S
E

N
I
P
P
L
E

1
1
/
4
N
P
T

6
6

3
6
1
4
1
5
4
0
4
C
1
T
-
0
6
F
J
X
~
0
6
F
J
X
-
2
2
1

H
/
A

3
3

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

6
7

2
6
1
8
3
1
4
3
/
4
M
J
I
C

U
N
I
O
N
·

3
4

2
5
0
0
0
0
0
1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

6
8

2
6
1
9
0
1
0
9
/
1
6
M
J
I
C

U
N
I
O
N

-
9
3

-



a:::
::.::

<
.:>

0
z

I-
~

Z
0

a:
:::!:

.-J
W

.-J

a
w

I-
w

en

w
0

I
I-

0
;:

I-

:::!:

0 a::: L
a..

::.::
z~.-J
a:::!:

0 a::: L
a..

94

a:::
w6

N
O

T
E

:
••••••R

E
LIE

F
P

R
E

S
S

U
R

E
S

H
O

U
LD

8
B

E
S

E
T

A
T

1800
P

S
I.

...J
a~



8
2
0
0

8
R

C
U
T
T
E
R

W
/
T
-
T
R
O
L

H
Y
D

S
C
H
E
M

8
9

R
E
F
E
R
E
N
C
E

D
R
A
W
I
N
G

N
O
.

4
9
8
2
9
5

o
D
E
T
•

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

D
E
T
.

Q
T
Y

P
A
R
T

N
O
.

D
E
S
C
R
I
P
T
I
O
N

1

1
6
1
0
5
3
2
E
L
E
C
T

H
Y
D

S
T
A
C
K

V
L
V

W
/
A
D
J

8
9

3
7
1

6
1
8
5
7
9
1

1
/
1
6
F
J
I
C

S
W
I
V
-
3
/
4
M
N
P
T

2

1
6
1
0
5
2
4
S
U
N
D

G
E
A
R

P
M
P

4
.
3
7

C
I

S
P
L
I
N
E
D

3
8

3
6
1
8
1
1
9
9
/
1
6
M
J
I
C
-
9
0
-
9
/
1
6
M
O
R

L
B
O

3

1
6
0
6
8
7
3
F
L
O

D
I
V

B
G
4
6

6
G
P
M

P
R
I

1
N
P
T
·

3
9

1
6
1
8
2
7
9
1

1
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

4

1
6
0
7
5
0
4
F
L
O

D
I
V

B
5
0

2
-
8
G
P
M

7
/
8

F
O
R

4
0

2
6
1
8
1
0
7
9
/
1
6
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

5

1
6
1
0
4
6
7
M
O
D
U
L
A
R

M
T
R

C
O
N
T
R
O
L

E
L
E
C
T

V
L
V

4
1

1
6
1
8
0
7
2
7
/
8
M
O
R
-
1
/
2
F
N
P
T

A
D
P
T
R

*
6

1
6
1
4
6
3
3
H
Y
D

M
A
N
I
F

8
2
0
0

8
6

*
4
2

1
6
1
8
5
7
7
1

5
/
1
6
M
J
I
C

U
N
I
O
N

*
7

1
6
0
5
6
0
1
G
R
E
S
E
N

F
I
L
T
E
R

1
0

M
I
C
R
O
N

4
0
G
P
M

4
3

1
6
1
8
1
7
0
3
/
4
M
Q
R
-
9
/
1
6
F
O
R

A
D
P
T
R

8

1
6
0
7
5
1
2
R
E
L
I
E
F

V
A
L
V
E
,

R
L
5
0

1
8
0
0

P
S
I

4
4

3
5
0
0
0
0
5
C
A
P

N
U
T

.
6
8
8
F
P
S

N
Y
L
O
N

9

3
7
3
7
8
1
0
N
O
Z
L

B
O
D
Y

.
2
5
N
P
T

N
Y
L
O
N

4
5

2
6
1
4
5
0
1
1
0
C
1
T
-
1
0
F
J
X
-
1
0
F
J
X
-
1
3
9

H
/
A

1
0

3
6
2
0
9
0
0
C
Y
L

A
S
S
Y

C
C
2
0
1
6

0
0
0

S
R
G

1
8
0

4
6

6
6
1
4
6
4
1
1
0
C
1
T
-
1
0
F
J
X
-
1
0
F
J
X
-
2
7
6

H
/
A

1
1

8
6
1
1
1
2
5
3
/
4
M
J
I
C
-
3
/
4
M
O
R

A
D
P
T
R

4
7

1
6
1
4
1
5
2
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
1
4

H
/
A

1
2

8
6
1
8
2
0
3
B
A
R
N
E
S

F
L
U
I
D

M
O
T
O
R

H
Y
D

C
U
T
T
E
R

*
4
8

1
6
1
4
3
4
8
1
6
C
1
T
-
1
6
F
J
X
-
1
6
F
J
X
-
2
5

1
3

1
6
1
8
3
1
0
9
/
1
6
M
J
I
C
-
7
/
8
M
O
R

A
D
P
T
R

*
4
9

1
6
1
4
6
2
5
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
0H
/
A

1
4

4
6
1
1
1
2
2
9
/
1
6
M
J
I
C
-
9
0
-
1
/
4
M
N
P
T

L
B
O
*
5
0

1
6
0
1
2
8
9
H
O
S
E
,

1
1
/
4

X
1
4
4

2
B
R

R
E
D

1
5

1
6
1
0
4
4
7
H
Y
D

F
I
L
T
E
R
,
I
N
L
I
N
E

1
/
4
F
N
P
T

9
0
M

*
5
1

1
6
1
4
6
2
6
0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
3
8H
/
A

1
6

1
5
0
6
0
0
5
R
E
D

B
U
S
H

1
1
/
4

T
O

1
B
L
K

M
A
L

*
5
2

1
6
1
4
6
2
7

0
6
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
4
5H/
A

1
7

1
5
0
6
2
0
0
C
L
O
S
E

N
I
P
P
L
E

1
1
/
4
N
P
T

*
5
3

1
6
1
4
6
3
0
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

A
U
X

D
R
I
V
E

*
1
8

2
7
1
5
6
6
0
1

1
/
4

H
O
S
E

B
A
R
B
-
1

1
/
4
M
N
P
T *5
4

1
6
1
4
6
3
1
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

C
T
R
L

V
L
V

1
9

1
5
0
6
4
0
9
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
1
/
4
N
P
T

*
5
5

1
6
1
4
6
3
2
H
Y
D

T
U
B
E

A
S
S
Y

8
2
0
0

R
E
T

M
A
N
I
F

2
0

1
5
0
5
2
0
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
N
P
T5
6

2
6
1
1
2
4
6
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
7
4

H
/
A

2
1

1
7
1
4
3
3
1
3
/
4

H
O
S
E

B
A
R
B
-
1
M
N
P
T

5
7

1
6
1
4
0
7
7
0
4
C
1
T
-
0
6
F
J
X
-
0
6
F
J
X
-
8
8

*
2
2

1
5
0
6
4
1
0
B
L
K

P
I
P
E

S
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

5
8

1
6
1
8
5
6
2
9
/
1
6
M
O
R
-
9
0
-
1
/
4
M
N
P
T

L
B
O

*
2
3

1
6
1
8
1
4
4
1

1
/
4
-
1
M
P

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

5
9

4
6
1
4
1
0
1
0
4
C
1
A
-
0
6
F
J
X
-
0
6
F
J
X
-
1
3
3

H
/
A

*
2
4

2
6
1
1
1
2
4
7
/
8
M
J
I
C
-
9
0
-
1
/
2
M
N
P
T

L
B
O

6
0

3
7
3
8
8
5
9
S
T
R
A
I
N
E
R

5
0

M
E
S
H

N
Y
L
O
N

*
2
5

2
6
1
8
3
2
3
7
/
8
M
J
I
C
-
4
5
-
1
/
2
M
N
P
T

L
B
O

6
1

1
6
1
5
4
7
3
0
6
C
1
T
-
0
6
F
J
X
-
0
8
F
J
X
-
1
8H
/
A

~
-
~
*
2
6

1
5
0
3
7
0
0
P
I
P
E

P
L
U
G

1
/
2
N
P
T

S
Q

H
D

6
2

2
6
1
8
4
8
6
9
/
1
6
F
J
I
C

S
W

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

\...,g
*
2
7

1
5
0
5
1
1
0
B
L
K

P
I
P
E

S
T

E
L

4
5
D
E
G

1
N
P
T6
3

1
6
1
0
1
9
3
9
/
1
6
M
J
I
C

B
L
K
H
D

B
R
A
N
C
H

T
E
E

*
2
8

3
6
1
8
3
2
2
1

5
/
1
6
M
J
I
C
-
1
M
N
P
T

A
D
P
T
R

6
4

2
6
1
4
3
6
8
0
8
C
1
T
-
0
8
F
J
X
-
0
8
F
J
X
-
6
0H/
A

2
9

1
6
1
8
1
8
6
1

5
/
1
6
M
J
I
C
-
1

5
/
1
6
M
O
R

A
D
P
T
R 65

4
6
1
8
5
3
0
9
/
1
6
M
J
I
C
-
1
/
8
M
N
P
T

A
D
P
T
R

3
0

4
6
1
8
3
0
9
7
/
8
M
J
I
C
-
1

1
/
1
6
M
O
R

A
D
P
T
R

6
6

4
6
1
8
5
4
6
1
/
8
M
N
P
T

R
U
N

T
E
E
-
9
/
1
6
M
J
I
C

3
1

1
5
0
6
7
0
1
S
I
D
E

O
U
T
L
E
T

E
L

9
0
D
E
G

1
1
/
4
N
P
T

6
7

1
6
1
8
6
0
0
9
/
1
6
M
J
I
C
-
9
0
-
7
/
8
M
O
R

L
B
O

3
2

1
6
1
8
5
9
6
1

5
/
8
M
O
R
-
1

1
/
4
F
N
P
T

A
D
P
T
R
6
8

2
6
1
1
2
0
6
0
4
C
1
T
-
6
F
J
X
-
6
F
J
X
-
6
6
H
/
A

3
3

2
6
1
8
1
7
8
1

5
/
1
6
M
J
I
C
-
9
0
-
1

5
/
1
6
M
O
R

L
B
O

6
9

4
6
1
4
4
2
5
0
8
C
1
T
-
0
8
F
J
X
-
0
8
F
J
X
-
1
3
2

H
/
A

3
4

1
5
0
0
0
0
0
1
/
2
M
N
P
T

H
E
X

P
I
P
E

N
I
P
P
L
E

S
T
L

7
0

3
6
1
4
1
5
4
0
4
C
1
T
-
0
6
F
J
X
-
p
6
F
J
X
-
2
2
1

H
/
A

3
5

8
6
1
8
5
7
4
7
/
8
M
J
I
C
-
3
/
4
M
O
R

A
D
P
T
R

7
1

2
6
1
9
0
1
0
9
/
1
6
M
J
I
C

U
N
I
O
N

3
6

1
5
0
5
2
1
3
R
E
D

B
U
S
H

1
T
O

3
/
4

B
L
K

M
A
L 7
2

2
6
1
8
3
1
4
3
/
4
M
J
I
C

U
N
I
O
N

-
95

-



A
B
B
R
E
V
I
A
T
I
O
N
S

,.-...
0

A
D
P
T
R

-
A
d
a
p
t
e
r

D
E
T

-
D
e
t
a
i
l

F
N
P
T

-
F
e
m
a
l
e

N
a
t
i
o
n
a
l

P
i
p
e

T
h
r
e
a
d

F
O
R

-
F
e
m
a
l
e

O
-
R
i
n
g

M
J
I
C

-
M
a
l
e

J
.
I
.
C
.

M
O
R

-
M
a
l
e

O
-
R
i
n
g

P
I
N

-
P
a
r
t

N
u
m
b
e
r

Q
T
Y

-
Q
u
a
n
t
i
t
y

R
E
F

-
R
e
f
e
r
e
n
c
e

R
E
Q

-
R
e
q
u
i
r
e
d

S
T

-
S
t
r
e
e
t

S
W
I
V

-
S
w
i
v
e
l

-

,.

U
N
C

-
U
n
i
f
i
e
d

N
a
t
i
o
n
a
l

C
o
u
r
s
e

(
T
h
r
e
a
d
)

\.:.J

U
N
F

-
U
n
i
f
i
e
d

N
a
t
i
o
n
a
l

F
i
n
e

(
T
h
r
e
a
d
)

W
I

-
W
i
t
h

W
L
D

-
W
e
l
d
m
e
n
t

-
9
6
-



v

I
N
D
E
X

-
A
-

A
D
A
P
T
O
R
,

F
A
N
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4

A
I
R

C
L
E
A
N
E
R
~
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

~
•
•
•
•
3
0

B
A

N
D

••••••••••••••••••••
~

~
••

30

F
IL

T
E

R
••••••••••••••••••••••

30
H
O
S
E

•
•
•
•
•
•
•
•
•
•
•

·•
•
•
•
•
•
•
•
•
•
•
•
•

3
0

A
I

R
I

N
T

A
K

E

C
L
A
M
P
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

~
.
5

T
U

B
E

•••••••••••••••••••••••••
5

A
I
R

P
O
T
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
8

B
R
A
C
K
E
T
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
8

A
I
R

S
T
A
C
K

C
A
P
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
0

A
L
T
E
R
N
A
T
O
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4

A
D
J
U
S
T
M
E
N
T

A
R
M
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
S

P
A

C
E

R
•••••••••••••••••••••••

4

A
R
M
,

S
T
E
E
R
I
N
G

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

A
U
X
I
L
I
A
R
Y

P
U
M
P
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
2

-
B
-

B
A
N
D
,
A
I
R

C
L
E
A
N
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
0

F
U
E
L

T
A
N
K
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
8

B
A
T
T
E
R
Y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
7

B
O
X
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
7

B
O
X

S
U
P
P
O
R
T
~

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
7

C
A
B
L
E

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
7

B
A
T
T
E
R
Y

H
O
L
D

D
O
W
N
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
7

B
E
A
R
I
N
G

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
3

L
I
N
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

B
E

L
T

••••••••••••••••••••••••••••••
4

B
R
A
C
K
E
T
,

M
A
L
E

C
O
R
N

C
U
T
T
E
R
•
•
•
•
•
•
•
•
•
•
•
•

4
5

M
O
T
O
R

C
O
N
T
R
O
L

V
A
L
V
E
•
•
•
•
•
•
•
•
•
3
3

P
I
V
O
T
•
•
•
•
•
•
•
•
•
•
•
•
•
•

~
•
•
•
•
•
•
•
•
4
9

T
H
R
O
T
T
L
E

C
A
B
L
E
•
•
•
•
~
•
•
•
•
•
•
•
5
,
2
4

B
R
A
K
E
,C
A
B
L
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4
,
2
2

C
L
I
P

R
E
T
A
I
N
E
R

•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

D
I
S
C
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

H
U
B
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

L
E

V
E

R
•••••••••••••••••••••••

22

P
A
D
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

-
C
-

C
A
B
L
E
,B
A
T
T
E
R
Y
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
7

B
R
A
K
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

H
Y
D
R
O
S
T
A
T
I
C

•
•
;
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
4

T
H
R
O
T
T
L
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
5

C
A
M
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
8

C
A
N
O
P
Y

D
E
F
L
E
C
T
O
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
2

97

C
A
P
,

A
I
R

S
T
A
C
K
•
•
•
•
•
•
•
•
•
~
•
•
•
•
•
•
•
•
•
•

3
0

D
I
S
T
R
I
B
U
T
O
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

5

G
A
S
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
8

P
L
U
G
•
•
•
•
•
•
~
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
3

R
A
D
I
A
T
O
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

8

S
T
E
E
R
I
N
G

W
H
E
E
L
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
6

C
A
R
B
U
R
A
T
O
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4

C
A
R
R
I
A
G
E

P
I
N
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

~
•
•
•
•
2
8

C
H
A
R
G
E

P
U
M
P
•
•
•
•
•
•
•
•
•
•
•
•
•

'•
•
•
•
•
•
•
•
•
•
•

7

C
H
O
K
E
C
O
N
T
R
O
L

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
3

C
I
R
C
U
I
T

B
O
A
R
D
.
~
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
5

M
O

U
N

T
••••••••••••••••••••••••

35

C
L
A
M
P
,

S
E
N
S
O
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
9

C
O
L
U
M
N
,

S
T
E
E
R
I
N
G

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
6

C
O
N
S
O
L
E

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
3

C
O
N
T
R
O
L

L
E
V
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
4

E
X
T
E
N
S
I
O
N

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

7

M
O

U
N

T
•••••••••

~
••••••••••••••

24

C
R
A
D
L
E
,

F
U
E
L

T
A
N
K
•
•
•
•
•
•
•
•
•
•
•
•

'•
•
•
•
•
1
8

C
U
T
T
E
RB
L
A
D
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
4
,
4
5

H
E

A
D

•••••••••••••••••••••••••
44

T
O

P
•••••••••••••••••••••••

44,45
C
Y
L
I
N
D
E
R

L
I
F
T
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
0
,
4
1

S
T
E
E
R
I
N
G

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
0

-
D
-

D
E
C
A
L
S

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

5
4
,
5
5

D
E
F
L
E
C
T
O
R
,

C
A
N
O
P
V

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
2

C
E

N
T

E
R

•••••••••••••••••••••••
39

T
A

S
S

E
L

•••••••••••••••••••••••
42

D
I
F
F
U
S
E
R
,

L
I
N
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
9

D
I
P
S
T
I
C
K

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
9

D
I
S
C
,

B
R
A
K
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

F
R
I
C
T
I
O
N
•
•
•
•
•
•
~
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
5

S
E
N
S
O
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

D
I
S
T
R
I
B
U
A
T
O
R

C
A
P
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

5
D
U
S
T

C
A
P
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
3

-
E
-

E
L
E
C
T
R
I
C

S
T
A
C
K

V
A
L
V
E
•
•
•
•
•
•
•
•
•
•
•

3
6
,
3
7

t
N
G
I
N
E
,C
H
R
Y
S
L
E
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
,
5

E
X
H
A
U
S
T

P
I
P
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

9

M
O
U
N
T
I
N
G

B
R
A
C
K
E
T
•
•
•
•
•
•
•
•
•
•
•
•
•
•

9



-F
-

F
A

N
•••••••••••••••••••••••••••••••

4

A
D

A
P

T
E

R
••••••••••••••••••••••

4

F
I
L
T
E
R
,A
I
R

C
L
E
A
N
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
0

I
N
L
I
N
E

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
6

O
I
L
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
,
1
9

F
I
L
L
E
R

R
I
N
G
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

5

F
L
A
G

S
E
N
S
O
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
9

F
L
A
S
H
E
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
3

L
I
G
H
T
•
•
•
•
•
•
•
•
•
•

~
•
•
•
•
•
•
•
•
•
•
•
•

2
9

F
L
O
W

D
I
V
I
D
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

I
0

M
O
U
N
T
I
N
G

B
R
A
C
K
E
T
•
•
•
•
•
•
•
,•
•
•
•
•
1
0

F
O
L
D

C
Y
L
I
N
D
E
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
7

F
R
I
C
T
I
O
N

D
I
S
C
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
5

F
U
E
L

F
I
L
T
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

~
•
•
4
,
1
8

G
A
U
G
E

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
.
•
•
•
•
•
•

2
3

S
E
L
E
C
T
O
R

V
A
L
V
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
8

S
E
N
D
~
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
8

F
U
E
L

T
A
N
K
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
8

B
A
N
D

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
8

C
R
A
D
L
E

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
8

F
U

S
E

•••••••••••••••••••••••••••••
23

-
G
-

G
A
S

C
A
P
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
8

G
A

S
K

E
T

••••••••••••••••••••••••••••
5

A
U
X

P
U
M
P
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

7

C
H
A
R
G
E

P
U
M
P
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

7

O
I
L

T
A
N
K
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
9

G
A
U
G
E
,F

U
E

L
••••••••••••••••••••••••

23

T
E
M
P
E
R
T
U
R
E

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
3

G
O
V
E
~
N
O
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
.
•
•
•
•
•
•
•
•
•
•
•
•

5
C
O
N
T
R
O
L

R
O
D
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

~
•
•
5

M
O

U
N

T
S

•••••••••••••••••••••••
5

S
P

A
C

E
R

•••••••••••••••••••••••
5

G
R
O
U
N
D

S
T
R
A
P
•
•
•
•
~
•
•
•
•
•
•
•
•
•
•
•
•
•
•

5
,
2
7

-
H
-

H
A
N
D
L
E

V
A
L
V
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
4

H
A
N
G
E
R

B
E
A
R
I
N
G
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
9

H
E
A
T

S
H
I
E
L
D
•
•
•
•
•
•
•
•
•
•
•
•
•
•

·•
•
•
•
•
•
•
•
•
9

E
X
H
A
U
S
T

S
H
I
E
L
D
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4

H
I
N
G
E

G
U
A
R
D

P
L
A
T
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
6

H
O
I
S
T

C
O
L
U
M
N
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
9

H
O
O
D

P
R
O
P
•
•
•
•
.
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
9

H
O
S
E
,
K
E
E
P
E
R

R
I
N
G
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
9

R
A
D
I
A
T
O
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4

9
8

H
O
U
R

M
E
T
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
3

H
Y
D
R
A
U
L
I
C
,

M
A
N
I
F
O
L
D

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
1

M
O
T
O
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
2
,
4
3
,
4
4
,
4
5

T
U
B
E

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

H
Y
D
R
O
S
T
A
T
I
C

C
A
B
L
E
•
•
•
•
•
•
•
~
•
•
•
•
•
•
•
•
•
•

2
4

-1-

I
G
N
I
T
I
O
NM
O
D
U
L
A
T
O
R

•
•
•
•
•
•
•
•
•
•
~
•
•
•
•
•
•
•
•
•
•
5

S
W
I
T
C
H
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

~
•
•
•
2
3

I
N
D
I
C
A
T
O
R

L
I
G
H
T
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
3
,
3
5

S
U
N

S
H
I
E
L
D
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
3

I
N
L
I
N
E

F
I
L
T
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
6

-
L
-

L
A
D
D
E
'
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
8

L
A
R
G
E

M
A
N
I
F
O
L
D

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

6

L
E
G
,

F
R
O
N
T
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

K
E
E
P
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
3
,
1
4
,
1
5

R
E
A
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
3
,
1
5

L
E
V
E
R
,

T
H
R
O
T
T
L
E

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
5

L
I
F
T
A
R
M

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
9

L
I
F
T

C
Y
L
I
N
D
E
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
0
,
4
1

L
I
G
H
T

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
2

S
W
I
T
C
H

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
3

L
I
N
E

D
I
F
F
U
S
E
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
9

-
M
-

M
A
L
E

C
O
R
N

C
U
T
T
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
5

M
A
N
I
F
O
L
D
,

H
Y
D
R
A
U
L
I
C

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
1

M
O

U
N

T
•••••••••••••••••••••••••

6

M
E
T
E
R
,

H
O
U
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
3

M
I
C
R
O

S
W
I
T
C
H
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
4
,
4
8

M
O
T
O
R
,
C
O
N
T
R
O
L

V
A
L
V
E
~
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
3

H
Y
D
R
A
U
L
I
C

•
•
•
•
•
•
•
•
•
•
•

4
2
,
4
3
,
4
4
,
4
5

M
O

U
N

T
•••••••••••••••••••••••••

4

S
T
E
E
R
I
N
G

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
6

M
O
U
N
T
,
A
L
T
E
R
N
A
T
O
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4

B
R
A
K
E

H
U
B
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

C
I
R
C
U
I
T

B
O
A
R
D
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
5

C
O
N
T
R
O
L

C
A
B
L
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•

~
•
•
5

C
O
N
T
R
O
L

L
E
V
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
4

G
O
V
E
R
N
O
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

5

P
O
S
I
T
R
A
C
T
I
O
N

V
A
L
V
E
•
•
•
•
•
•
~
•
•
•
•
1
1

R
A
D
I
A
T
O
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

8



"'\'"

r
-.•.

II,-

S
E
A
T

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
2

S
E
N
S
O
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

S
T
A
R
T
E
R

S
O
L
E
N
O
I
D

•
•
•
•
•
•
•
•
•
•
•
•
•

5

T
A
C
~

S
E
N
S
O
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

5

T
H
R
O
T
T
L
E

C
A
B
L
E
•
•
•
•
~
•
•
•
•
•
•
•
•
•

2
5

T
O
O
L

B
A
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
9

M
O
U
N
T
I
N
G

B
R
A
C
K
E
T
,

F
L
O
W

D
I
V
I
D
E
R
•
•
•
•
•
•
•
I
0

S
O
C
K
E
T

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
9

M
U
F
F
L
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

9

-0-

O
I
L

C
O
O
·
L
E
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

8

S
E

N
D

E
R

•••••••••••••••••••••••
5

O
I
L

T
A
N
K
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
9

S
P
A
C
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
9

S
T
R
A
P

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
9

O
P
E
R
A
T
O
R

S
T
A
T
I
O
N

S
T
E
P
•
•
•
•
•
•
•
•
•
•
•
•

2
2

O
U
T
P
U
T

S
H
A
F
T
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

5

O
U
T
R
I
G
G
E
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
8
,
4
6

-P-

P
I
N

C
A
R
R
I
A
G
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
8

P
R
E
S
S
U
R
E

C
A
P
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
9

P
U
M
P
,
A
U
X
I
L
I
A
R
Y

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
2

S
U
N
D
S
T
R
A
N
D

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

7

-
R
-

R
A
D
I
A
T
O
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

8

C
A
P
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

8

D
R
A
I
N

C
O
C
K
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

8

H
O

S
E

•••••••••••••••••••••••••
4

M
O

U
N

T
••••••••••••••••••••••••

8

R
E
C
O
V
E
R
Y

T
A
N
K
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

8

S
H

R
O

U
D

•••••••••••••••••••••••
8

R
A
I
N

C
A

P
••••••

~
•••••••••••••••••••

9

R
E
L
I
E
F

V
A
L
V
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

6
,
1
0

R
I
M

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
6

R
O
L
L
E
R

H
E
A
D
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
2

R
U
B
B
E
R

H
O
O
K
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
9

-
S
-

S
E

A
T

•••••••••••••••••••••••••••••
22

M
O

U
N

T
•••••••••••••••••••••••

22

99

S
E
N
D
E
R
,
F
U
E
L

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
8

01
L

.
~.•~

•••••••••••••••••••••••
5

T
E
M
P
E
R
T
U
R
E

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4

S
E
N
S
O
R
,A
R
M
,

T
-
T
R
O
L
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
9

C
L

A
M

P
••••••••••••••••••••••••

49

0
1
5
C
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

F
L

A
G

•••••••••••••••••••••••••
49

M
O
U
N
T
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

~
•
•
•
1
2
,
1
4

S
P
E
E
D
O
M
E
T
E
R

T
A
C
H
•
•
•
•
~
•
•
•
•
•
1
2
,
1
4

S
H
E
A
V
E

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
,
5

S
H
E
E
T

M
E
T
A
L
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
9

S
H
I
E
L
D
"H

E
A

T
••••••••••••••••••••••••••

9
I
N
D
I
C
A
T
O
R

L
I
G
H
T

S
U
N
•
•
•
•
•
•
•
•
•
•

2
3

W
O
R
K

S
T
A
T
I
O
N
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
6

S
H
R
O
U
D
,

R
A
D
I
A
T
O
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

8
S
I
D
E
R
A
I
L

•
•
•
•
•
•
~
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
8

S
I
D
E

S
C
R
E
E
N
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

8

S
L
O
W

M
O
V
I
N
G

V
E
H
I
C
L
E

S
I
G
N
•
•
•
•
•
•
•
•
•
•
•

2
9

S
O
C
K
E
T
,

M
O
U
N
T
I
N
G

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

~
2
9

S
O
L
E
N
O
I
DC
O
I
L

•
•
•
•
•
•
•
•

·•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
3

V
A
L
V
E

•
•
·•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
3

S
P
A
C
E
R
,A
L
T
E
R
N
A
T
O
R

•
•
•
•
•
•
•
•
~
•
•
•
•
•
•
•
•
•
•
•

4
F

A
N

•••••••••••••••••••••••••••
4

O
I
L

T
A
N
K
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
9

S
P
E
E
D
O
M
E
T
E
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

'•
•
•
•
•
•
2
3

S
T
A
L
K

G
U
I
D
E
•
•
•
•
•
•
•
•
•
•

~
•
•
•
•
1
7
,
4
2
,
4
3
,
4
4

S
T
A
R
T
E
R

S
O
L
E
N
O
I
D

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

~
S
T
A
T
I
O
N

P
A
N
E
L
•
•
•
•
•
•
•
•
•
•
•
•
•

~
•
•
•
•
•
•
•
•
2
2

S
T
E
E
R
I
N
G
,

A
R

M
•••••••••••••••

,••••
~

•••
12,14

C
O
L
U
M
N
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
6

C
O
L
U
M
N

C
O
V
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
6

C
Y
L
I
N
D
E
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
0

M
O
T
O
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
6

W
H

E
E

L
••••••••••••••••••••

'••••
26

W
H
E
E
L

C
A
P
~
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
6

S
T
R
A
P
,
G
R
O
U
N
D
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

5
,
2
7

O
I
L

T
A
N
K
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
9

S
U
P
P
O
R
T
,

B
A
T
T
E
R
Y

B
O
X
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
7

S
W
I
T
C
H
,
I
G
N
I
T
I
O
N
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
3

L
I
G
H
T

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
3

M
I
C
R
O

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
4

P
L
A
T
E

C
O
V
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

·
.
3
4

T
O
G
G
L
E

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
3

T
R
A
C
T
I
O
N

V
A
L
V
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
2



-
T
-

T
A
C
H

S
E
N
S
O
R

M
O
U
N
T
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

5

T
A
I
L
L
I
G
H
T

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
9

,
\

T
A
N
K
,

F
U
E
L

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

I
B

O
IL

••••••••••••••
'•••••••••••

19
T
A
S
S
E
L

D
E
F
L
E
C
T
O
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

5
0

T
A
S
S
E
L
T
R
O
L

B
O
X
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
8

T
E
M
P
E
R
T
U
R
E

G
A
U
G
E

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
3

S
E

N
D

E
R

•••••••••••••••••••••••
4

T
H
R
O
T
T
L
E

C
A
B
L
E
•
•
•
•
•
•
•
•
•
•
'•
•
•
•
•
•
•
•
•
2
5

B
R
A
C
K
E
T
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

5

T
H
R
O
T
T
L
E

L
E
V
E
R
•
•
•
•
•
•
•
•
•
•
•
•

~
•
•
~
•
•
•
2
5

T
I
E

A
N
G
L
E
•
•
•
•
•
•
•
•
•
•

~
•
•
•
.
•
•
•
•
•
•
•
•
•
•
•
9

T
IE

P
L

A
T

E
•••••••••••••••••••••••••

Q
­

r
l
E

R
O
D

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
1

T
I
R
E

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
6
,
2
1

T
I
R
E

P
U
L
L
E
R
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
3

T
O
G
G
L
E

S
W
I
T
C
H
•
•
•
•
•
•
•
•
•
·•
•
•
•
•
•
•
•
•
•

~
2
3

T
O
O
L

B
A
R
•
•
~
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
8
,
3
9

M
O

U
N

T
•••••••••••••••••••.•••

~
39

T
O
R
Q
U
E

H
U
B
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

T
R
A
C
T
I
O
N

V
A
L
V
E
•
•
•
•
•
•
•
•
•
•
•
•
•
•
.
•
•
•
•
•

l
l

-
V
-

V
A
L
V
E
,C
E
S
S
N
A

3
-
S
P
O
O
L
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
4

E
L
E
C
T
R
I
C

S
T
A
L
K
•
•
•
•
•
•
•
•
•
•
•

3
6
,
3
7

F
U
E
L

S
E
L
E
C
T
O
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
8

H
A
N
D
L
E
•
•
•
•
•
•
•
•
•
•

~
•
•
•
•
•
•
•
•
•
•
•

3
4

H
A
N
D
L
E

L
I
N
K
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

3
3

M
O
T
O
R

C
O
N
T
R
O
L
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

l
l

P
O
S
I
T
R
A
C
T
I
O
N

•
•
•
•
•
•
•
•
•

~
•
•
•
•
•
•
1
0

R
E
L
I
E
F
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

I
0

T
R
A
C
T
I
O
N
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

l
l

T
R
A
C
T
I
O
N

S
W
I
T
C
H
•
•
•
•
•
•
•
•
•
•
•
•
•

2
2

V
O
L
T
A
G
E

R
E
G
U
L
A
T
O
R

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4

-
W
-

W
H
E
E
L

M
O
T
O
R
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
3
,
1
4
,
1
5

S
H
I
E
L
p
~
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

1
2
,
1
4

W
H
E
E
L
,

S
T
E
E
R
I
N
G

•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•
•

2
6

W
O
R
K

S
T
A
T
I
O
N

S
H
I
E
L
D
•
•
•
•
•
•
•
•
•
•
•
•
•
•

4
6-

1
0
0

-


	117001
	117002
	117003
	117004
	117005
	117006
	117007
	117008
	117009
	117010
	117011
	117012
	117013
	117014
	117015
	117016
	117017
	117018
	117019
	117020
	117021
	117022
	117023
	117024
	117025
	117026
	117027
	117028
	117029
	117030
	117031
	117032
	117033
	117034
	117035
	117036
	117037
	117038
	117039
	117040
	117041
	117042
	117043
	117044
	117045
	117046
	117047
	117048
	117049
	117050
	117051
	117052
	117053
	117054
	117055
	117056
	117057
	117058
	117059
	117060
	117061
	117062
	117063
	117064
	117065
	117066
	117067
	117068
	117069
	117070
	117071
	117072
	117073
	117074
	117075
	117076
	117077
	117078
	117079
	117080
	117081
	117082
	117083
	117084
	117085
	117086
	117087
	117088
	117089
	117090
	117091
	117092
	117093
	117094
	117095
	117096
	117097
	117098
	117099
	117100

